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33121180/506 wpyw Guziw swihdwl uwpp (nnundtunp) L huwin 4200 80 336.0
33141110/509 Yhpwluwugbp S< hwin 48.7 30000 1461.0
33141110/510 Yhpwlwwbp 4L hwtn 97 1000 97.0
33141111/501 Luwsnit uwbnwuhubp QL hwun 103 6000 618.0
33141115/501 pdolwlwl pudpuly q< hwn 172 5000 860.0
33141129/506 nhuwy ' < hwin 5.976 50000 298.8
33141129/507 nhuiuwy 9< huwin 85 1000 85.0
33141131/503 Upyntu Jbipgubine dwuwwiybl wdpwlubipny (dgnun) L hwn 270 100 27.0
33141136/523 Ywphnbpubp < hwin 39.2 1000 39.2
33141136/524 Yuwpbwnbputp 9L hwn 38.8 6000 232.8
33141136/525 Ywpbwntipubp < hwtn 37.8 15000 567.0
33141136/526 Yuwpbwnbiplbp 9 hwin 40.9 15000 613.5
33141136/530 Ywplbwnbpubp 9L hwwn 8000 70 560.0
33141138/501 Lty aL hwwn 105 1000 105.0
33141138/502 Luwitynyw S hwn 293 200 58.6
33141142/509 ubpwplhsubp Q& huwwn 125 30000 375.0
33141142/511 ubpwplyhsubp GL hwwn 8.75 20000 175.0
33141142/512 Ubpwiplyhstbp qc huwn 9.3 100000 930.0
33141142/513 ubipwplpsubp < huwtn 14 60000 840.0
33141142/514 ubpwplhsubp qc hwin 15.5 100000 1550.0
33141142/515 ubpwpyhsubp Q<L hwiwn 20.75 60000 1245.0
33141142/516 ubipwplyhsubp q< hwin 227 30000 681.0
33141142/517 ubipwplpsubip QL hwwn 58.9 30000 1767.0
33141142/518 Ubpwplipsubip 9l huwtn 68.9 500 345
33141144/510 pdolwlwl wubnutp ) QL huwn 13.85 30000 415.5
33141144/511 pdolwlwl wubnubp 9 hwin 20 300 6.0
33141144/512 pdolwlwl wubinubp Q< hwuwn 6.5 10000 65.0
33141144/513 pdoyulwl wubnubp QL hwwn 4.7 40000 188.0
33141156/502 pdsluiljwls dhintingutip G< hwwn 8.7498 400000 3499.9
33141158/502 Yppwpnidwlwl dhnungutip L qnuyg 75 20000 1500.0
33141160/502 ununghby 250,0 RS hwin 189.84 500 94.9
33141178/508 ntntph ubpwplydwl hwidwlwpgbp QL hwuwn 38.9 50000 1945.0
33141178/509 nbinbph Ubpwpldwy hwdwlwpgtn G< hwtn 130 40000 5200.0
33141211/687 pdaoljwljwts wy) gnpdhpubip — Wwpwqubp G< hwn 95 15000 1425.0
33141410/501 nwpw wiwihgh hwdwp unbiphy, 1004 QL hwn 39.984 500 20.0
33141410/502 wwpw wwihgh hwdwp unbphy, 1004 < hwwn 42 8000 336.0
33161220/504 Jujwinby huyunb < huwin 3.2 4000 12.8
33191260/501 wwl thnubpuipldwt pnwinpdubp 9 hwin 13900 30 417.0
33191310/527 thnpdwnpubp G hwin 16.8 120000 2016.0
33191310/528 thnpawlnputp q< hwn 16.8 50000 840.0
33191310/529 thnpawinplbp < huwun 25 10000 250.0
33191310/530 thnpawinpubp 9< huin 39 25000 975.0
33191310/531 thnpdwunpubp G< huin 38 2000 76.0
33191650/504 pdolulwl hwgnn L hwn 135 15000 2025.0
33191650/505 pdsljwlwl hwgnwwn QL hwn 6 7000 42.0
33691423/501 {wpnpwwnp wanwyniptn (nbwgblnutn) pugduyniuntibtin 9< (nulwgd 2600 100 260.0
38411200/509 obpuwswthtp q< hwtn 600 50 30.0
38431720/513 Lwpenghlubph duypwlwiubp L hwn 1,59 80000 127.2
38431720/514 Yupnghlubiph dwjnuwlu|ubp a< hwin 0.63 350000 2205
24311530/503 onwdtih whpopuhn Q< hwp 599 300 179.7
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31651200/506 EYS dwwwyb prine 9< hwwn 639 600 383.4
33141110/511 Uhpwlywwbp < hwin 850 3000 2550.0
33141111/502 Luysntl uwbmuishubip Q< hww 140 15000 2100.0
33141111/503 Lwgsnit uwybnwiuhubp gL hwwn 83 1000 83.0
33141118/506 wudbnngplubp < hwin 9.3 60000 558.0
33141118/507 wudbnnghlubp < huwin 4.1 70000 287.0
33141143/501 ulwph$hywinnp q< hwwn 3.33 30000 99.9
33141144/514 pdolwlwl wubinubip 9L hwwn 1130 1000 1130.0
33141144/515 pdsluluits wubnlbp q< hwwn 6800 300 2040.0
33141144/516 pdoywlwl wukinubp G< hwin 10000 200 2000.0
33141144/517 pdoyulwl wubinubp Q< hwin 7500 25 187.5
33141144/518 pdalpwljwt wubnubp 9L hwn 4750 800 3800.0
33141144/520 pdaljwlw wubmubp G hwn 1500 1000 1500.0
33141144/525 ndaolywljwl wubinubp G hwin 1500 300 450.0
33141144/526 pdoljwlw wubinubip 9L hwn 1500 300 450.0
33141144/527 pdolwlwl wubnubp G< hwwn 250 1000 250.0
33141144/528 pdoluiwt wubnubp Q< hwin 400 50 20.0
33141211/710 pdolpuluit wy) gnpdhpubn — Wwnwgqwbp q< huwtn 1960 15000 29400.0
33141211/711 pdolywljwit wy) gnpdhplbip — Wwpwqwlbp 9L hwn 1345 1000 1345.0
33141211712 pdoplwiljwi wy| gnpdhplbip — wwpwgwlbp 9L hwwn 6280 96 602.9
33141211/713 pbo bl wy gnpdhplbip — wwipwgwbip G huin 1680 200 336.0
33141211/714 pdoljuiljwils Wy gnpdhpubin — wwpwqutibp 9L huwwn 200000 72 14400.0
33141211/715 pdolwlwit wy gnpdhplbp — wwpwgquwlbp QL hwn 100000 300 30000.0
33141211/716 pdoluiljuwit wy| gnpdhpubp - wWwpwgwbn QL hwun 6800 500 3400.0
3347 pdolwlwl wj gnpdhpubp — wwpwguitbn QL hwn 8800 500 4400.0
33141211/719 pdolwlwl W) gnpdhpubip — wwpuwgubn < hwn 425 3000 1275.0
3314121171 pdolwluwit wy gnpdhpubp — wwpwgwbp Q< hwn 179.41 5000 897.1
33141211/722 pdolwljwt wy| gnpdhplbp — wwpwgubn 9L hwtn 67 15000 1005.0
33141211729 pdolwlwl wy gnpdhpubip — wWwpwgwlbp < hwwn 3300 100 330.0
33141211/730 pdolwljwt wy) gnpdhpubip — wwpwguubp L hwiwn 102000 1 102.0
33141211/731 pdolwlwiu wy gnpdhpubin — wwpwgubp Q< huwin 160000 3 480.0
33141211/732 pdolwluwil wy) gnpdhpubip — Wwpwquubp G huwwn 99.48 4000 397.9
33141211/733 pdolwljw wy| gnpdhpubin — wwpwgquiibn QL hwwn 696 100 69.6
33141211/734 pdolwlwl wy gnpdhpubp — wwpuwquitbp < hwwn 104 1000 104.0
33191310/532 thnpdwunpubp < hwin 1.5 40000 460.0
33191310/533 thnpéwlnpubip Q<L huwn 14 18000 252.0

Ubnhwuppht MediScreen 10/Ukigh dtig gyningh, wpjuwt,

uwhuwlnigh, pH, Yawnntubiph, whuwywpwp Yanh,
33211110/502 uhunhubnh, {64nghabnh, nianinehhgtiuh — phihaniehuh gL hwwn 2472 40 98.9

npnauwl phup unphwbitph hwdwpwsdn
33631241/504 pinphbipuhnhup nidnure G< (hup 1350 800 1080.0
33631241/505 pinphbipuhnpup (nédnyp < hwp 1150 400 460.0
33631250/504 kpwun| d08ax08, v03ab16, v03az0] < {hwp 1100 700 770.0
33631250/505 kawing d08ax08, v03abl6, v03az0l Q<L |htnp 970 1000 970.0
33691167/501 wpnpwinnp odwlnwl — ghunwlwt bniebp L hwn 15000 120 1800.0
33691167/502 jwpnpinnn odwlinwl — ghunwlwl Wnuyabip <L hwwn 12000 180 2160.0
33791300/522 |wpnpWIN NP Wuwljw wpnwnpulp 9L hwn 14200 500 7100.0
38431491/501 wwwlb whwnphh pwu 9L hwwn 33.7 10000 337.0
39821100/501 Uwppnn Wniebp wdnupwyh hhdph Ypw Qg huwin 100 30 3.0
44423600/503 Luysnit dwuyuybuubp < hwin 3.28 20000 65.6
18311190/503 fuuijwp QL hwin 447 100 44.7
33141114/501 pdolwilul pwughd (Jwpyuw) jwjunyajniun’ 90ud q< ubinp 68 2000 136.0
33141121/503 Uhpwpnidwlwl phjbp <L hwwn 315 30 9.5
33141121/504 Uhpwpnidwlwl phybp 9L huwtn 315 30 9.5
33141121/505 Unhpwpnidwlwl phjbp < hwwn 315 100 315
33141121/506 Yppwpnidwlywl phybp Q<L hwn 315 100 31.5
33141121/507 Uppwpnidwlut phjp qc huitn 140 30 4.2
33141121/508 Uhpwpnidwlwt phjGp 9L hwin 140 30 4.2
33141121/509 Uhpwpnidwljwl phjbp 9L huitn 140 300 42.0
3314112i/510 Uppwpniduljwl phjbp 5 hwin 140 300 42.0
33141121/511 Uhpwpnidwlwl phibp q< hwn 140 50 7.0
33141121/512 Uhpwpnidwlwl phibp AL hwun 20 0.0
33141121/513 Uppwipnidwlwl phijbp L huwin 20 0.0
33141121/514 Uppwpnidwlywl phjbp SC hwn 30 0.0
33141136/534 Lwpbinbpubp QL huwn 50 0.0
33141157/502 Upinwiplibp — uwypbp QL hwwn 23 200 4.6
33141157/503 Ugtnwplitip — uwjpbp < hwin 23 200 4.6
33141173/501 dhigh wnwpwlubp 9 hwin 102 700 71.4
33141173/502 ubah wnwpwlubp qc hwn 32 500 16.0
33141182/503 Uppwithnntp (npbuwdutip) qc hwin 20 0.0
33141182/504 hnwithnnbip (npbuwdubn) qc hwwn 15 0.0
33141182/505 Uhpwithnnbp (npbuwdubp) Q< hwin 15 0.0
33141182/506 ppwihnnbp (npbuwdutin) < huwin 18000 20 360.0
33141184/501 Jhpwthnnbph (npbuwdlbiph) wwpwgwutip < huitn 4000 50 200.0
33141202/504 Rdolwlwl kjblunpnnutin G huwwn 2 0.0
33141211/735 pdolwlywl wy) gnpdhpubp — wwpwguitbp QL hwin 550 30 16.5
33141211/736 pdolwlwl wy) gnpdhpubip — wwipuiguitip < hwun 550 30 16.5
33141211/737 pdolwlwit wyj gnpdhpubp — wwpwgquitibp < hwtn 5000 10 50.0
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33141211/738 pdplwiljwt wy| gnpdhplbip — wwpwgwtibp QL hwwn 10500 5 52.5
33141211/739 pdaoljwljwt w)| gnpdhplbip — wwpwgwbp < hwn 11000 2 22.0
33141211/740 pdowljwt wj gnpdhpubip — wwpwqwlbp 9 hwn 45000 1 45.0
331412111741 pdolwljwl w)) gnpdhpubip — wwpwquubp 9L hwin 1790 20 35.8
33141211/742 pdolywlwl wy) gnpdhpubip — wwpwgwubp 9L hun 1795 30 53.9
33141211743 pdyluljwt wy gnpdhplbp — wwpwqwbp < huuun 5 0.0
33141211/744 pdplwljwi wy| gnpdhpubp — wwpwqwutbn 4L hwwn 1300 5 6.5
33141211/745 pdolywll wy gnpdhpubip — wwpwqwubip 9L hwn 800 150 120.0
33141211/746 pdolywlw wy gnpdhpubp — wwpwgquiibp QL hwwn 64920 24 1558.1
3314121747 pdolwlwl wy gnpdhpubip — wwpwquilibp QL hwwn 54960 24 1319.0
33141211/785 pdolwlwl wy| gnpdhplbp — wwpwgubp < huwin 49920 24 1198.1
33141211/786 pdolwlwit wy gnpdhplbip — wwpwgwubp QL hwin 45000 24 1080.0
33141211/787 pdzlwljwt wy gnpdhpbip — Wwpwgqubp < huwwn 3 0.0
33141211/788 pdalywlwt wy gnpdhplbip — wwpwaguiubp G< hwin 200 0.0
33141211/789 pdolwljwl w) gnpdhplbip — wwpwgwbp G< hwin 100 0.0
33141211/790 pdolwljwit wy| gnpdhpubip — wwpwgwlbp 9L hwwn 6960 100 696.0
33141212/512 pdolwlwt wy) uniplp G< hwwn 30 0.0
33141221/501 Yhpwihnnbip (npbuwdlbnh) puquiwlndynubun wwpwguibp q< (uwluiqu 1992.43 40 79.7
33141223/545 pdolywluls wy gnpdhpubn — wWwpwqwubn puquwyndynubn G (nwlywgqd 3500 100 350.0
33171400/521 Jbpwlbtnwinugdwl nhdwl < hwin 1 0.0
33171400/522 Ybpwlbunwbwgdwl nhdwy a< huwin 1 0.0
33171400/523 UbpulFunwtiugiul nhuwl < hwn 1 0.0
33171500/503 bwhnnipu wiggquijwgtiwl hwjwpwdniubp buwd thupbplbin QL hwin 2706 10 271
33791300/523 |wpnpwwnnp wigwlju wpnwnpuip 9L hutn 6 15000 90.0
33791300/524 (wpnpwwnp wiywlju wpnwnpulp < hun 1.26 100000 126.0
39299110/501 wwjwll upduwltibp < hun 142 5000 710.0
33141136/536 Yupbnbpltp q< hwiwn 167 20 33
33141136/537 Lwpbnbpubp a< huwiun 167 20 3.3
33141136/538 Lwptnbpubp 9< huwtn 167 20 3.3
33141136/539 Yuwphwnbipubp G< huwin 167 150 25.1
33141136/540 Luptnbpubp q< hwin 167 200 33.4
33141136/541 Ywpbwnbpubp < huwin 167 180 30.1
33141136/542 Ywpbwbpubp < hwin 167 20 3.34
33141136/561 Yupbnbpltp g huwtn 202 20 4.0
33141183/518 - gnlnbip QL hwin 65 20 1.3
33141183/519 qnunbp YL hwtn 65 30 1.95
33141183/520 qnuntip 9L huin 65 30 1.95
33141183/522 gnunbip QL huwwn 65 30 1.95
33141183/524 gnuntip L hwin 65 30 1.95
33141183/525 qninhip q< hwin 65 40 2.6
33141183/526 gnunbip 9< hwin 65 5 0.3
33141202/505 Pdolwlwl baynpnnubp Q<L hww 29.5 6000 177.0
33141207/522 buwnnipwghwh wwpwgwubp 9< hwin 10 0.0
33141207/523 Puwnnipwghwh wwpwgwubp L hwn 10 0.0
33141207/524 huwnnipwghwih Wwpwawlbp < hwn 20 0.0
33141207/525 hunnipwghwh wwnpwgwubp < hwwn 1000 10 10.0
33141207/526 hunnipwghwih wwpwaquwubp L huwtn 1000 20 20.0
33141207/527 hunnipwghuh wwpwgwubp G hwn 1000 20 20.0
33141207/528 huwnnipwghw)h wwpwguubp 3L hwn 1000 20 20.0
33141207/529 huwnnipwghwih wwpwguwtp ac hwun 1000 20 20.0
33141207/530 huwnnipwghwih wwpwgwbp L hwwn 1000 50 50.0
33141207/531 huwnnipwghwih wwpwqubp L huuwn 1000 100 100.0
33141207/532 huwnnipwighuh wwpwgwbip QL hwn 1000 10 10.0
33141211/791 pdolywljuwil wy) gnpdhpubip — Wwpwqwubp QL hwn 15000 30 450.0
33141211/792 pdoywlwl wy) gnpdhpubip — Wwpwquitp 9L hwin 18000 50 900.0
33141211/793 pdolwljwt wy gnpdhplbip — wwnugqubip L huwn 549 500 274.5
33141211/794 pdolwlwil wy| gnpdhpubip — wwpwgquitibp < huwitn 549 1000 549.0
33141211/795 pdolwluits wy) gnpdhpubip — Wwpwqubp Q<L hwwn 549 500 274.5
33151220/501 pRYwduwhl nhiwy q< huutn 260 500 130.0
33151220/504 pRYwdUwhu nhiwy < hwn 350 100 35.0
33151220/505 pRYwdtwht nhdwly 9< hwn 480 100 48.0
33171400/527 Ybpwlbunwliugdul nhiwly aL huwiwn 7000 2 14.0
33171400/528 Ybpwlbunwlwgdwl nhdwy G< huwin 7000 2 14.0
33171400/529 bpwlbtnwbwgdwl nphuwl qc hun 7000 20 140.0
37411330/502 nhuwlubp, jwuwnbp Ywd suswnwlwb fungnywltip L hwwn 800 10 8.0
37411330/503 nhuwliutip, (wuwnbp Ywd suswnwlw funpnwljubip <L huwin 800 10 8.0
37411330/504 nhuwliubp, jwuwnbp Ywd suswnwluwb funqndulubip QL hwn 800 10 8.0
15991700/501 $bhpwnph pnine Q<L Uhingpwd 6000 2 12.0
24311530/504 opwduh whinopuhrn Q< |hup 600 10 6.0
24311570/502 Rpws onip < |hinp 799.9 500 400.0
31651200/502 EYS dwwwldbu pnu q< huwn 1490 15 22.4
33141136/501 Ywpkinbpubp < hwiwn 70 100 7.0
33141136/511 Ywpbiinbpubip L huwin 70 100 7.0
33141136/512 Yuwptnbpubp 9L hwwn 158 250 39.5

Crpanmua 3




33141136/514

. Yuwphinbipubp

33141136/515

33141144/501

wpbnbpub

pdoywlywl wubnubp

33141144/502

33141202/502

pdoywlwl wubinub

Pdolwlwt biblwnpnnubp

huwn 2000 66.0
33141211/502 pdolywliuit wy) gnpdhplbp — wwpwgubp L hwwn 540 400 216.0
33141211/503 pdolywluwit wy) gnpdhpbip — Wwpwqubp YL hwun 12000 10 120.0
33141211/504 pdolywlw wy gnpdhplbp — wwpwgulbp 9< hwn 390 500 195.0
33141211/505 pdolwlwt wy) gnpdhpubip — wwpwqwubip 9L hwin 127 5000 635.0
33141211/506 pdolywluits wi| gnpdhplibp — wwpwqwibp QL hwin 48 5000 240.0
33141211/507 pdobwlwl wy gnpdhpubip — wwpwgquilbip 9L hwn 45 1000 45.0
33141211/508 peoljuluit wy gnpdhplbn — wwnwawtibn 9< huwit 45 3000 135.0
33141211/509 pdolwlwts wy gnpdhplbip — wwpwguwbp 4L huun 858 200 171.6
33141211/510 pdolwlwt wy gnpdhplbn — Wwpwgubp L hwn 858 200 171.6
33141211511 pdolywljwt wy gnpdhplubip — wwpuguibp Gl hwn 858 200 171.6
33141211/512 pdplwlwt wy| gnpdhpubip — wwpugwibp G hwin 60000 2 120.0
33141211/515 pdolwlwit wy gnpdhpubp — wwpwgubp aC hwn 24.51428571 7000 171.6
33141211/516 pdolwljwt wy gnpdhplbip — wwpwgubp 9L hiwtn 12.98 7000 90.9
33141211/517 pdolwlwt wy gnpdhplbip = wwpwgubn < hwun 150 1000 150.0

4.6

33141211/518 idiiu.liw'u L i iniéﬁibhi = imiwiwuhi QL huwitn 2300 2

33141211/520 pdolwlwi wyy gnpéhpubip — wwpwqubp QL huwn 370 6000 2220.0
33141211/521 pdolwlw wy gnpdhplbp — wwpwgquwutp QL huin 124 15000 1860.0
33141211/522 pdoluiliwi wy| gnpdhpubip — Wwpwgwbn Q<L hwun 35000 30 1050.0
33141211/523 dolwljwl w)) gnpdhpubin — wwpwquub G hwiwn 1270 800 1016.0
33191310/504 thnpdwnpubp G< hwwn 350 6000 2100.0
33191310/505 (inpawtnpubp QL hwwn 32 7000 224.0
33191310/506 thnpéwunpubp L huwin 66 2100 138.6
33191310/507 npdwungpub; QL hwin 98 500 49.0
33691176/584 wyi nhinnpw L hwn 70 100 7.0

33791300/504 (wpnpwnnp wigwljw wpinwnpuup < hwun 98 16000 1568.0
33791300/505 (wpnpwunp wigwlju wpnwgputp AL huwin i 12000 48.0
33791300/512 wpnpwwnp wiywljw wpnwnputp SL hwin 1.8996 5000 9.498
35111320/501 dhgntyuiht — nunhninghulut wwaunywunyejul hwgniun QL hwn 177000 3 531.0
38431710/502 Ywpnghlubp q< hwtn 14 8000 112.0
38431710/503 wpnghyub 9L huwwn 16899 6 101.4
38431710/505 Ywpnghlubip QL hwn 16899 6 101.4
38431720/501 Yuipnghyubiph dwijpulwiubp 9L hwwn 13,625 42240 575.5
38431720/502 wpnghlubiph dwpuluwiub; Q<L hwwn 12.375 42240 522.7
38431720/504 Lwpenghlubph dwjpwlwiutip 4< huwn 0.8 30000 24.0

38431720/507 Lwenghltibnh dwjnwlw utip QL hwin 0.45 25000 11.3

38431720/508 wnghlubph dwipwlwut QL hwin 84 19200 1612.8
33131220/501 winwiuwpnidwywu niuthut Q< hwin 1430 3 4.3

33141143/502 uljwph$hlwwnnp < huwtn 80 1000 80.0
33141157/504 Usunwpubp — uwpbip Q< hwwn 990 2 2.0

33141182/507 hpuithnnbp (npbuwdubin) q< huwin 8800 i5 132.0
33141182/508 wthnnb Llwdut Q< hwin 8800 15 132.0
33141202/506 Pdoluwlwu fynpnnul G hwin 5000 2 10.0
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[33141211/527

pdziiwuwtl wj| qnnéhptlhn wwanwbbn

33141211/528

ndzuwuwb wy| gnpéhplibin — wuwpwguubip

hwwn

2.3

33141211/530 468
33141211/531 pdolywljwt w)| gnpdhpubip — wwpwgwlibip G hwin 62 2000 124.0
33141211/532 doljuljwt w Shpubin — wwpwgwb QL hwin 12000 1. 12.0
33191310/509 thnpdwlinpubp 9L huwin 2.52 2500 6.3
33191310/510 thnp&wunpubp QL hwwn 27 600 16.2
33191310/511 thnpawunpubp q< hwin 23.84 100000 2384.0
33191312/501 wiwl Ynjpuw qc hwn 2500 3 7.5
33191312/502 wwwyb Ynpw L huin 3000 3 9.0
33191312/503 wywll Ynypu 4 hwtn 5000 3 15.0
33191316/501 wuywlt swihhs dbugnipw’' hnlyws dghyny 9L hwin 2256 4 9.0
33191318/501 wwjwlh swihhs pwdwly pwdubswihng 1004 Qg huin 500 2 1.0
33191318/502 wujwl swihhs pwdwl pwdubswihng 1004 QL hwn 648 2 1.3
33191318/503 wwywlh swihhs pwdwl pwdutiswihnyg 1004 < hwwn 900 2 1.8
33191318/504 wuyult swihps pwdwly pwdubswiding 1004 L hwwn 1400 2 2.8
33191318/505 wiuywlb swithps pwdwly pudubswihng 1004} Q< huwn 1600 2 3.2
33191318/506 wujwyh swithhs pwdwly pudubsuhing 1004 QL hwn 1800 2 3.6
33191318/507 wuywh swihhs pudwl pwdubiswihng 1004 < hwin 1500 2 3.0
33191560/501 sUswnniejwl gniguiuwnpbn (uswinnipjul Uwndwidp ac Fiih 2300 30 69.0
hulnnnieynit hpwlbwbwglbynt hwdwp)
33691160/691 phuhwljwl wqnwljniypp (nbwgbinubn) q< hwn 1399 20 28.0
33791300/513 |wpnpwwnnp wiywljw wpnwnpuitp L huwn 1200 2 2.4
33791300/514 jwpnpwinnp wwwlyw wpwnputip QL huwn 2000 2 4.0
33791300/515 (WpApWINND Wwljw wpnwnpulp QL hwiwn 1440 4 5.8
38311100/501 Elunpntiwght Yobinpubip — wwpwgwub 9L hwwn 29500 2 59.0
44163112/502 nphuwdwht hwdwlwpgbp QL hwin 33000 20 660.0
qc 0.0
quiquiht tyniptip
24111160/501 pdolwlwl htnniy wgnn <L fud 470000 9 4230000.0
33691141/502 pRYwshu v03an01 Q< huwin 2300 3000 6900000.0
nbnnpw)p
33611130/504 winpnihti a03ba0l, s0ifa0l G< huwn 69.9 1500 104.9
33611170/501 npninwdtphu a03ad02 QL hwin 37.5 1500 56.3
33611170/502 npnunwytpht a03ad02 qc huwitn 6 500 3.0
33611310/507 paunihte a< huwin 4999.8 10 50.0
33611320/501 Ubpwplydwt huunyht (ndynn) al0ab G huwin 5199 60 311.9
33611320/502 Ubpwpydwl hiunyh (nidynn) alOab Q< hwn 5499 30 165.0
33611472/504 Hhghipny, Undhlyubp Q< hwin 90 400 36.0
33611472/505 Shgbipny, dndhlubip L huwn 87 200 17.4
33621160/501 wihuwlywwpnuwpent b02aall 9L huin 800 200 160.0
33621360/506 gihgtiphy Bupwinpwin (uptnpnghgtipht) c01da02, c0S5ae01 L hwn 799.8 200 160.0
33621390/501 wihnnuwpnu c01bd01 L huwin 196 150 29.4
33621720/501 phunwpnin| ¢07ab07 L hwwn 9 400 3.6
33621740/501 wijnnhuht c08call QL huwitn 5.6 800 4.5
33621761/501 wgbnhuwihghjwpeny, twqtibghnuih hhnpopuhn BOTAC30 QL hwwn 10.5 10000 105.0
33631180/501 wpdwpph unypwnughtud06ball QL hwin 1080 20 21.6
33631370/501 winpwlniphnud phghjwn m03ac04 < huwin 270 150 40.5
33631410/501 wynuniphun] m04aa01 QL hwn 44 20000 880.0
33631430/505 ntipulinnupnbi (nEpulitinupnbtuh npnubitnwdng) MOTAET7 < huin 187 2400 448.8
33631430/506 nlpulnnypndbt (nhpulinnypnbuh tpndbunuwdng) MOTAET7 9 hwtn 129.9 300 39.0
33651111/501 wopuhghip j01ca04 G< huwin 168 500 84.0
33651112/503 wiiopuhgh(ht+ppuyni-jwweent j01cr02 < hwn 1480 5 7.4
33651125/501 wghepndhghl j01fal0, s01aa26 QL hwwn 258 500 129.0
33651163/502 wihlwght d06ax12, j01gh06, s01aa2l qc huwwn 1520 700 1064.0
33661115/503 nnuwhtwluht n01bb0T q< hwwn 229 70 16.0
33661142/501 wihwnppugnhihts n06aa09 9L hwin 9 300 2.7
33661151/501 wghlynpp d06bb03, j05ab01, s01 ad03 < huwiwn 14.6 40000 584.0

Crpanuua 5




33661151/502 wghlynypp d06bb03, j05ab01, s01ad03 RS hwin 2499 100 249.9
nbpuwdbipwanu alfac02, ¢05aa09, d07ab19, d07xb05, d10aa03,
s s thalbOd?t.I r01ad03b?018a01, 5.501 cb01, ngbaosa s(?)3ba01 o s il 23 S0on00 G0
ntpuwdbpwagnt a0lac02, c05aa09, d ab19, d07xb05, d10aa03,
s hgﬂabﬂl r01ad03, smgam'{)SBmema E(;Eba(}ﬁa Sg3ba01 — it hutn ol sa000 a0
nbpuwdtipwanu a0lac02, c05aa09, ab19, d07xb05, d10aal3,
SeEp1135/509 h02ab02, r01ad03, s01ba01, s01cb01, s02ba06, s03ball < TR w3 400 6%
33671114/501 wiihun$hiht r03da0s gL hwn 35.72 1500 53.6
33671125/502 wiippopuny (wdppopunih hhnpnpinphn) - ROSCBOE, RO5CB qc hwwn 15 300 4.5
33671130/501 nh$buhpnpwipt d04aa32, d04aa32 G hwn 21.9 20000 438.0
33691121/501 wipblinugnp02cal3 QL hwwn 171 30 5.1
33691136/504 uwwnphnwh pinppn al2ca0l, b05cb01, b05xa03 < hwwn 213.9 1000 213.9
33691136/505 Uwinphnudh pinphry al2ca01, b05cb01, b05xa03 < hwwn 220.9 4000 883.6
33691136/506 Wwinphnuwih pinppn al2ca0l, b05cb01, b05xa03 < huwwn 226.8 90000 20412.0
33691136/507 twinphnwih pynphr at2ca01, b0Scb01, b05xa03 QL hwun 1300 2000 2600.0
33691136/508 Uwinphnuwih pinphry al2ca01, b05cb01, b05xa03 9L hwiun 237.8 4000 951.2
33691136/509 uwwnphnwh pinphn al2ea0l, b05cb01, b05xa03 Q< hwin 1400 5000 7000.0
33691136/510 twwnphnuwih pinppr al2ca01, b05cb01, b05xa03 G< hwwn 530 200 106.0
33691138/504 qyniyng b05cx01, v04ca02, v06dc01 QL hwun 237.9 9000 2411
33691138/505 ning b0S5ex01, v04ca02, v06dc01 < hwtn 231.9 2000 463.8
33691176/569 wj| nEnnpuwp q< hwn 29980 150 4497.0
33691176/571 w) nhnnpwp A< hwin 4200 500 2100.0
33691176/572 Wy nEnnpw)p QL hwn 88.8 1000 88.8
33691176/573 wy| nbnnpwyp < hwin 2200 700 1540.0
33691176/574 wy| nEnnpwip QL huwn 516 2000 1032.0
33691176/575 wy| nbinnpuw)p L huwitn 227.8 1500 4.7
33691198/503 wntdbnhnupl - AI6GAAD2 L hwiwn 1899 5000 9495.0
33691727/501 nbpuwnpng (rapuwnpngh untinhhnpuin) VO6DCO1, BOSCXO1 QL huin 36.22 10000 362.2
33691731/501 nhnudbiynhin AD7BCOS G hwin 149 2100 312.9
33691811/501 phuwynnhy QL huwn 36 700 25.2
33141166/501 hbuwywpht aL huwn 974 1000 974.0
33611100/501 otbiwpwgny al2bc01 L hwn 9.2 70000 644.0
33611120/503 Swdninhnpu AD2BA03 a4< hwitn 368 3000 1104.0
33611140/503 ounwubnpnt a04aa01 < hwin 270 30000 8100.0
33611140/504 olnwliubiinpnl a04aa0l Q< hwn 649 2000 1298.0
33611160/501 dbwnnljnupuwidhn a03fa01 Q< hwun 40.98 1500 61.5
33611420/507 Yuighnuih gyniyntiwin al2aa03, di1ax03 Gl hwin 87 10000 870.0
33611420/508 uighnwih gnilinuwn al2aa03, dilax03 9< hwiwn 129 10000 1290.0
33611470/502 wwlinnwpwgng G< huwin 33.21 2000 66.4
33611470/503 wwlinnwpuign) L hwin 1290 800 1032.0
33621120/501 Fuopuwwwppt b01ab05 < hwin 1069 13000 13897.0
33621230/503 bnjwprnt b03bb01 G< huwn 5 1500 7.5
33621590/501 Snipnubidpn c03call 9L hwun 22.286 20000 445.7
33621610/504 dwbipinn| a06ad16, b05bc01, b05cx04, r05cbl6 < hww 512.7 1500 769.1
wnbnupgnint a07ea01, c05aa04, d07aa03, d07xa02, h02ab06,
——— r01ad02, s01ba04, s01cb02, s02ba03, s03ba02 i b i M i
33651118/501 gh$uphwpunt j01dd04 9< hwwn 103 8000 824.0
33651131/504 9{;‘]“?;“:"'”9”‘”“‘ + iphiaenuful j0Tee0T, J0Tec02, j07ee0S, 9< huitn 13.2 40000 528.0
e
33651131/507 mwdbpogqun[ T impputipnwnhd j0lee0l, j0lee02, j01ee05, ac hwn 567 50 28.4
j01ee07
33651134/502 ghwpndjopuwght j01ma02, s01ae03, s02aal5, s03aa07 QL hwn 27 10000 270.0
33651138/501 |=n$lopuwghl j01mal2, s01ae05 Q<L hwin 79.8 5000 399.0
33651140/502 qbPhuyhd j01de] qc hwtn 399.8 10000 3998.0
33651143/504 dbpnwlubd j01dh02 L huwin 2132 200 426.4
33651143/506 dbpnwbiubd j01dh02 < hwiwn 1970 1000 1970.0
33651150/503 Hynilntiugn| d0lacl5, j02ac01, j02ac0l Q< huitn 3390 500 1695.0
33651150/504 $yniynuwgn| d01act5, j02ac0l, j02acOl QL huwin 54 30000 1620.0
33651150/505 $yniynuwgny d01acl5, j02ac01, j02acOl q< hwiwn 99 8000 792.0
33651318/503 Lhutgnihn qL husn 4500 400 1800.0
33661112/501 wpnwnpn) n01ax10 L hwn 444.9 1500 667.4
33661114/502 $hunwhy n01ah01, n02ab03 <L hwwn 450 400 180.0
33661116/505 E:)r:nuggh:ocflbg?i. £05ad01, d04ab0T, n01bb02, r02ad02, ac -~ 720 200 144.0
33661116/506 \hnnlujht c01bb0T, c05ad01, d04ab01, n01bb02, r02ad02, ac hutn 9694.9 20 539
s01ha07, s02da01
33661116/507 g;muwjhi;l‘;?bg:]l, c05ad01, d04ab01, n01bb02, r02ad02, ac Fii 04.8 500 19.0
33661116/508 (hnnbuiht c01bb0T, c05ad01, d04ab01, n01bb02, r02ad02, ac et 378 3500 132.3
s01ha07, s02da0l
33661120/504 Unp$hu n02aall 9< hwin 450 400 180.0
33661120/505 Unp$ht n02aall qc huwtn 6000 150 900.0
33661122/506 wuwpwgbnwdng n02be0 qc hwin 2200 1000 2200.0
33661122/507 wupwgbinwdng n02be01 <L hwwn 6.78 2500 17.0
33661127/501 dbnwidhgny (Ubinwihanih bwnphnud) N02BBO02 < huwitn 34.7 10000 347.0
33661135/503 Uhnwgnjwd n05¢d08 L hwin 511 300 153.3
33661185/501 Ytnnnpnjul (Yannpnjwyh wnpndbinuidng QL hwn 89 1500 133.5
33691112/505 dknpnuhrwgny a0labl7, d06bx01, g01af01, j01xd01, pOlabOt gL huwin 212 2500 530.0
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33691112/506 dtmnpnupnwgni a0tabl7, d06bx01, g01af01, j01xd01, p0labO1 QL hwn 5.02 800 4.0
33691112/508 dhnpnupnwan) a0labl7, d06bx01, g01af01, jO1xd01, pOlabO1 Qg hwwn 1600 150 240.0
33691135/502 twwnphnuwih phwppnuwn b05xa02 Q< hwn 960 20000 19200.0
33691145/501 d;.}u‘iqmsc;hmdh unipuwin a06ad04, al2ce02, b05xalb, dilax05, bt 20.8 3000 59.4
v04cc
33691154/501 hnhtipun)v08ab02 9L hwn 8700 700 6090.0
33691176/576 wy phnnpuw)p QL hwwn 6888.8 400 2755.5
33691176/577 wy| nhinnpwjp G hun 333.8 5000 1669.0
33691176/578 wy nhnnpwip < hwin 77 1000 77.0
33691176/579 wy| hEnnpwijp L huwtn 147.85 2000 295.7
33691176/580 wy| nEnnpuwp G hwn 1388.8 1500 2083.2
33691176/581 wy| nbnnpw)p G hwn 1857 150 278.6
33691176/582 w| nEnnpw)p QL huiwn 89 2100 186.9
33691202/502 Eunwdghjwn - BO2BX01 9L hwin 154 15000 2310.0
33691202/503 binwidghjwin - BO2BXO1 Q< hwn 34.8 6000 208.8
33691226/507 inpwidwnn) (npwidwnnip hhnpnpinphn)-N02AX02 < hwwn 17 100 1.7
33691226/508 wpwdwinn| (npwdwnnih hhnpnpinphn)-NO2AX02 L hwin 56.7 200 1.3
33691226/509 wnpwiwnn) (npwdwnnip hhnpnpinphn)-NO2AX02 QL hwtn 154 1500 231.0
33621290/503 Ewhtbdpht (wnnbuwht) a01ad01, b02bc09, cOlca24, rOlaal4, ac fili o4 1000 94.0
r03aa01, s01eal!
33621330/502 Uhlbpwdhn,  RO7ABO2 qc hwn 152 50 7.6
33621360/502 ghgbiphy Brupwpuwin (uhwnpngjhgtiph) c01da02, c05ae01 9L huin 660 100 66.0
33621730/501 Jbpwwjwidhy c08dali QL hwn 88 50 4.4
33651124/501 ghbwnwghnhd j01dd02 9L hwin 2997 100 299.7
33651126/505 ghunwdhghti d06ax07, i01gb03, sO1aall, s02aal4, s03aa06 SL huitn 67 3000 201.0
33651137/501 dwulndhghl a07aa09, jo1xa01 G< hwwn 1420 800 1136.0
33651224/501 Ubeninpbipuwin 101ba01, 104ax03 9< huwiwn 90 100 9.0
33651224/502 Ubpninpbipuwn 101ba01, 104ax03 QL hwun 3990 100 399.0
33651224/503 dbpnunpbpuwin 101ball, 104ax03 L huitn 13999.8 600 8399.9
33651224/504 dhpninpbipuwwn 101ba01, 104ax03 9L hwwn 22500 100 2250.0
33651227/502 nwlwppwght 101ax04 Q< hwwn 2000 0.0
33651230/503 nopunnnighght 101db01 QL hwwn 13397 200 2679.4
33651230/504 nopunnniphgh 101db01 q< hwn 5724 500 2862.0
1800 0.0
33651231/501 Ewnnwnghn 101cb01 QL hwin 3750 200 530.0
33651232/501 Lwpphuywwhl 101xa02 a< hwin 800 0.0
33651238/502 ghlynbnubwidpn 1012201 9 hwin 1000 0.0
33651238/503 Yinbnubwdhny 1012a01 qc huwitn 2000 0.0
33651238/505 ghlynpnupwishn 101aa0l Q< hwwn 700 0.0
33651239/502 inwnpwpht 101be01 QL hwn 1999.8 300 599.9
33651239/503 ghunwpwpht 101bc01 9 hwin 4190 2000 8380.0
33651242/501 nngbitnwpub 101cd02 QL hwiwn 300 0.0
33651243/501 wwilyhuinwpubi 101ed01 < huwtn 14899.8 500 7449.9
33651245/502 qﬂgj]mu.lph'u 101bc05 QL hwiwn 6588.8 600 3953.3
33651248/503 opuwhuwinpl 101xa03 Q< hwtn 17499.9 800 13999.9
33651248/504 opuwihwjuwinhti 101xa03 G hwin 3160 100 316.0
33651251/501 Lwighnuh $n(htuwinl01cbOl qg huwin 1000 0.0
33651256/502 ghlynuwnpht 104ad01, s01xal8 G hwtn 60999.9 40 2440.0
33651312/502 Synuupwphu < hwin 28300 20 566.0
33661115/502 pnuwyhywlwiht n01bb01 9< huitn 319.8 70 224
33661115/504 puwhdwyuwjhu n01bbO1 9L hwin 1999.8 50 100.0
33661136/503 nhwgbiwwd n05ba0l q< hwin 101 200 20.2
nbipuwdbipwgnu a01ac02, c05aa09, d07ab19, d07xb05, d10aa03,
38661128/506 h02ab02, r01ad03, s01ba01, s01cbO1, s02ba06, s03ball e huan 2000 a8
33661159/501 PLUP PPy (PEuhE$phup hprpnpinphy) CO1CA0S qc hwwn 77 150 1.6
33691133/502 ubpwpldwl gnip v07ab L huwin 22.9 6000 137.4
33691176/505 wy| nhnnpw)p QL hwn 15297 100 1529.7
33691176/506 wj| bnnpwip qL hwtn 25900 90 2331.0
33691176/507 wy| nbnhpup Q<L hwn 262.5 800 210.0
33691176/508 wy| nhnnpw)p 9< huwin 200 0.0
33691176/509 wy| nbnnpwjp G hwwn 45000 350 15750.0
33691176/510 wy| nannpwp L huwwn 600 1000 600.0
33691176/514 wj| nbinnpw)p SL huwin 6840 500 3420.0
33691176/515 w) nhnnpwjp G< hwiwn 8460 600 5076.0
33691176/516 wy| nbnnpwjp QL huin 13299 800 10639.2
33691280/501 ghuuguin 1 dg/t] 50 U) qL hwin 6800 450 3060.0
33691500/504 wnpwibpuwdwpRnt QL hwn 375 1500 562.5
33691500/505 wnpwlibpuwdwppnt < hwin 1899 3000 5697.0
33611180/502 jwiljnnyng a06ad11 < hwn 1690 1500 2535.0
33611390/502 whphnopupl allha02 QL huwin 29.9 1000 29.9
33611474/502 Uhutrnpynu q<c hwin 28 1000 28.0
33611474/503 Uhunhyynt q< hwn 1370 150 205.5
33621100/502 hbwwpht Lwwnphnul b01ab01, c05ba03, s01xal4 qL huiwn 3395 30 101.9
33621510/501 Luwwnnuphy c09aall L hwwn 2.5 2000 5.0
33621620/502 uwhpnunwljnnt c03da0l QL huwiwn 47.94 1000 47.9
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FRnpntnninhanu 201ac03, a07ea02, c05aa01, d07aa02, d07xa01,

6 i
i h02ab09, s01ba02, s01ch03, s02ba01 s b 216 W A2
33621690/503 Lwputnhyng c07ag02 9L hwin 13.2 1170 15.4
33621760/503 Fuwjwwphi c09aa02 Q< huwin 4.4 100 0.4
33621777/502 Mhywpopuwpluli G< hwwn 157.1 252 39.6
33621783/501 unpunpblwhl twpupwn < hwiwn 1790 100 179.0
33631200/501 pinpuwudupyny, dhphinipwghy DO6BC q<L huwin 239.7 120 28.8
d
33631230/501 :g:;{r:];u jnn d0Bag02, d092a09, d11ac06, gOfaxl1, r02aal5, ac han 2900 70 203.0
33631290/501 hpnuypndhiu cOlebl6, g02ccOl, m01ae01, m02aal3 q< hwin 4.1 1000 4.1
33631290/502 hpnuypndbl cO1ebl6, g02cc01, mOlae0l, m02aal3 Q< hwwn 649 50 32.5
33631310/502 nhlyndtwy ditaxi8, m01ab05, m02aal5, s01bc03 G< hwin 14 150 17.1
33631310/503 nhiyndtiuwy dilaxi8, m01ab05, m02aals, s01bc03 < hwin 69 200 13.8
33631360/501 untpuwpnuhnu m03ab01l 9L hwun 189.9 200 38.0
33631460/301 Tapuwwpebung D03AX03,R01AX10 L hwn 3500 50 175.0
Phnwdbpwgnl (phnwdbpugnuh nhypnwhntwwn),
33631470/5 g< h 2 24.9
S Ynunhdwan;, gbtnwdhght (gunwihghth uny$uin) DO7CCOT s 490 L
33642220/505 dbphjuwptinuhgnint d07aa01, d10aa02, h02ab04 q< hwwn 7900 10 79.0
33642250/503 dntwnbiniywun < hwin 247.91 150 37.2
33651117/501 ghbhpupt j01dd08 GL hwin 333.9 1000 333.9
33651128/501 Upwnpndnypwliinnght j01xe01 QL hwwn 4 200 0.8
33651134/503 ghuypn$iopuwghti j01ma02, s01ae03, s02aald, s03aa07 <L hwiwn 374.9 300 12.5
33651134/504 ghupn$jopuwght j01ma02, s012e03, s02aal5, s03aa07 a< huwin 414.8 30 12.4
33651148/501 lyninphiiwgny a0lab18, d01acO1, g01af02 QL hwun 576 10 5.8
33651148/502 lyrunphuwgn| a0labl8, d01ac01, g01af02 GL hwiwn 192 10 1.9
33651195/501 dwpnnt unpuwy hdntunginpnypt: jo6ba Q<L hwun 48000 50 2400.0
33651280/503 uh$nipopuwghn AD7AX03 q< hwwn 89.5 1000 89.5
33651280/505 up$nipopuwighn AO7AX03 9L hwwn 1999 70 139.9
33661110/501 han$ynipwl n01ab06 < huwiwn 78000 10 780.0
33661122/501 wnwgbitnwidng n02be01 qL hwn 26.4 400 10.6
33661122/504 wwpwgbunwdng n02be0t Q<L hwn 360 50 18.0
33661128/501 uppwiwgbuyht n03af0] q< huwtn 20 1000 20.0
33661137/501 {npugbuywy n05ba06 q< hwin 14 100 1.4
33661147/502 ubinunpquhu n07aa01, s01eb06 q< hwwn 49.8 150 7.5
33661149/501 wghnwgnjudhnsOlecOl QL hun 76.2 300 22.9
33661170/502 Mpnlwjht (Wpnlwjhuh hhnpnpnphn) NO1BAO2 < hwin 550 100 55.0
33661181/502 Ulind|nipw q< huwin 48000 15 720.0
33661183/502 ghuwwnpwlniphn (ghuwwnpwyniphnud phighjwwn) L hwn 960 100 96.0
33671113/503 uwpnununing r03ac02 9L hwun 1190 15 17.9
33671116/505 puhinutitnwgnip r01aa07, r01ab06, s01ga03 < hwin 468 100 46.8
33671124/502 innppwiihght, npuuibpwgnt  S01CAOT QL hwn 1009 50 50.5
huynwinpnwhnish ppndhn. (wpwapnwhnuih ppadhnh

3671139/501 G 402 1 40.3
; 25 dntinhhrnwin), $lininbipng ($huninbpnip hhnpnppnidhn) < hann B g
33691112/507 Stnpnthnuan| a01ab17, dOBbxO1, g01afOt, j01xd01, p01abOl q< huwin 480 20 9.6
33691176/517 w)| nhnnpw)p QL hwin 1537 40 61.5
33691176/559 wj| nbnnpuwp 9< hwn 864 20 17.3
33691176/583 w| nbinhpw)p 9L hwn 7050 560 3948.0
33691191/503 pnupnhuhnubp (bubtghw)-ESL AO5C qc hwwn 590 280 165.2
33691198/504 wnbdbwhnupl - Al B6AAD2 qL hwin 462 1500 693.0
33691199/501 uhhdwpht - AO5SBAO3 QL hitn 20.63 5000 103.2
33691201/501 Yuindwuninh ngbipnipy - NOSCMO9 prtuwljwl Swqdwl nbin L hwwn 125 100 2.5
33691212/502 nhnudp, hubppnu-CO5CAS3 q< hwin 74.5 120 8.9
33691223/501 twnpnuwphtp Ywighnuiwlwy wr- BO1 ABO6 < hwn 874.9 100 875
33691223/502 uwnpnuwphtp Yuighnuwlwl wn- BO1ABO6 a< hwn 1254.9 100 125.5
33691231/503 Lwighnwh Yuppnuuwun, funjauighbtipng A12AX QL hwn 45.05 2000 90.1
33691236/502 E‘;z::*gg‘“dh“ Tennnuhpuidruh Rhnpnginnfry ROGACO3, ac hun 107 500 53.5
33691600/501 |=bwnhpwgbnwd L hwwn 109 1000 109.0
33691730/503 bpluweh hhnpopuhnh nhputpuitiwght hwdwihp BO3AC QL hwwn 668 200 133.6

GL huwin 0.0
jwpnpwnnp b phuhwlwl wqnuyntpbp (nEwghitnubn)

33141211/689 pdoyulywls wy gnpdhpubin — wwpwgwubp QL hwun 84000 4 336.0
33141223/529 pdplwljw w)| gnpdhputip — wwpwgwibp pugqiuynduntbtn L [nwywqy 40000 60 2400.0
33141223/530 pdoluluwl wy| gnpdhpubin — wwpwawubn puqiwynduntibtn Qg [nwlwgy 39999 2 80.0
33141223/531 pdalyuwlywts wy| gnpdhplbin — wwnwguwbn pwgdwyndynubtn Q< [Nl 39999 2 80.0
33141223/532 pdalywljwls wy| gnpshputin — wwnwgwbp pugqdulindunubln 9L Inuwiljugd 849999 2 1700.0
33141223/533 pdolwlywt wyp gnpdhpubin — wwpwguubp pugiuwyndunubtn Q<L Inwlwqy 240000 2 480.0
33691162/1136 [wpnpuwtinp wanwtynipbp (nbwghbunutin) Q<L hwn 72999 2 146.0
3369116211137 jwpnpwinip wgnuwlynistin (nbwgbintbp) < hwtin 51999 2 104.0
33691162/1138 (wpnpwnnp wgnuwiniphp (nbwgbuwnubp) G< hwwn 63999 4 256.0
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33691162/1139 jwpnpuwinnp wqrwlynptp (nbugbtunttin) 9L hwwn 89000 80 7120.0
33691162/1140 jwpnpwwnnp wanwtynyabip (nEwgblinbibn) q< hwwn 130000 80 10400.0
_3359“62{1141 jwpnpwnp wanwniptp (niwgblwnbbn L huwtn 50000 80 4000.0
33691162/1142 jwpnpwinnp wanuwlynipbp (nbwgbntitin) < huwwn 59000 80 4720.0
33691162/1143 jwpnpuwwnnp waruwyniptn (nbwgblnutp) q< hwin 138999 2 278.0
33691162/1144 jwpnpwwnnp wnwinptp (nbwgblntibn) QL hwwn 91999 4 368.0
33691162/1145 (wpnpwnnp wqnuinyatip (nbwgbtintitn) < huwwn 67998 2 136.0
33691162/1146 jwpnpuinnp wgnwnyetip (nbwgbunbin) G< hwn 104000 3 312.0
33691162/1147 jwpnpwunnp wanwbnysbip (nbwgblnutin 9L hwwn 64999 3 325.0
33691162/1148 jwpnpwnnn wgnuljniptp (nbiwgtlntbn) QL huwn 61999 4 248.0
33691162/1149 (wpnpwinnp wgnwlynibp (nbiwgbtunubp) Q< hwn 798000 4 3192.0
33691162/1150 jwpnpuwwnnp wanwniptnp (nhwgbtnubn) < hwwn 60000 3 180.0
33691162/1151 jwpnpwinnp wqnuiyniptp (ntugbunttp) QL huwn 84999 2 170.0
33691162/1152 [wpnpwinnp wgnwlynyetp (nbwgblnubp) QL hwwn 84999 2 170.0
33691162/1153 (wpnpwinnp wgnwnyetp (nbwgblwnutip) QL hwwn 84999 2 170.0
33691162/1154 |wpnpuwinnp wanuynyabip (nbwgbtnubip) QL hwn 33075 2 66.2
33691162/1155 (wpnpwwnnp wanuwiynyetbp {nbwgblnubp) L hwwn 84000 2 168.0
33691420/639 (pnpwnnp wanutynyatp (nbwgblnttin) puqiwyndynubiun QL [nwlwgu 69000 1 69.0
33691420/640 (wpnpwnnn wgnuniptp (nbwgblntbn) puiquwlyndynubun qg (nwiljugd 42000 3 126.0
33691420/641 (Wpnpwitnnp wanwnielp (nbwgbntbn) pugdwindwntbin q< [nwlwqy 69000 3 207.0
33691420/642 |wpnpWND wanwynuatp (ntwgbuintibn) pugquwyndynubun qL Inwlwgd 69000 3 207.0
33691420/643 (wphpwinnp wgnwlniebn (nbwgblnbibin) puguwlniynubn 9L [(nwlwgqd 40000 3 120.0
33691420/644 [wpnpwwnnp wanutnipbip (nbwghblnttin) pwqiwyndwnttiin < Inwluqy 108000 2 216.0
33691420/645 (Wpnpwinnp wanwynietp (nbwgbuwnubn) pwqdwynduntbun Q< [nwlwuqy 214998 2 430.0
33691420/646 (wpRpwnnp wanwynieln (ntwgbunbin) puquwyndynubn Q< (nwlwgd 36999 2 74.0
33691420/647 (wpnpuwitnnp wanwuynuystip (nbwgbntibin) puguwyndynubtn Q< [Ny 33000 2 66.0
33691420/648 (wpnpwinnp wgnwnetn (ntwghtinttn) puquwlndyntbun qc (nwlwaqd 69000 5 345.0
33691420/649 {wpnpwitnnp wgnwnietip (nbwgbnubn) pwgdwlndwntbun < Ipwluqu 32499 5 162.5
33691420/650 {wpnpwwnnp wqnwbnyebip (nbwgblnbibn puquwyndynubun 9L (nwljuqu 32499 5 162.5
33691420/651 (wpnpuwinnp wanwynptip (nwgblnubip) pwqiwyndunutun QL [nwiljugd 42000 2 84.0
33691420/652 {wpnpwnnp wanunipbp (nbwgtnttn) puguwlndynubiun GL (nwiljugd 42000 2 84.0
33691420/653 (wpnpwnnp wanwniphp {nbiwgblwnutn) pwqdwlnduntbun < Inwlwuqu 55998 2 112.0
33691420/654 |wpnpwinnn wqnwlynyatip (ntwgbunlbn) pruguwndynubln Q< gl 76998 2 154.0
33691420/655 (wpnpwinnp wqrulniebin (nbugklunttin) puiquwlndynubun 9c (nulpugy 42000 5 210.0
33691420/656 jwpnpwwnnp wanulnypbin (nbwghinttin) puqUuyndunubtin q< nwljugu 47000 3 141.0
33691420/657 {wpnpwwnnn wanwbnyabin (nEwgbtnbibn) puwqiwlniynubtn qL - Inwlwqyd 42000 2 84.0
33691420/658 wpnpuinnp warulynyetn (niugbunttin) puguiwlndynubiin G< [muwluqd 104000 3 312.0
33691420/659 (wpnpwnnp wgnwniehp (nbwgbuwnutin) puquuynuunubtin qL (nwiljwqd 202000 3 606.0
33691420/660 {wpRpWnD wgnwynietn (ntwgbuwnubn) puguwlnuyntibun QL [nwlwqy 202000 3 606.0
33691420/661 [wpnpWLnnp wanuiniptin (ntiwqblntibin) puwgdwlnduntbn QL [nwyugy 35499 2 71.0
33691420/662 [wpnpunnn wonwbynipbp (nbwgklntbn) pwadwyndyntbun q< |nwlig 103998 2 208.0
33691420/663 (wpnpwinnp wanuwgnypbp (ntwglbintbin) pugqiwyndwnlibiuin Q< [nwlwagd 58998 2 118.0
33691420/664 (wpnpwinnp wgnuitnipbn (nbwgbuinubin) puguwlnuyntibtin Q< (nwywqy 354999 4 1420.0
33691420/665 (wpnpwnnp wanujnpan (nbwgblintbn) pugquwndynubun Q< [nwlwgy 99999 2 200.0
33691420/666 (wpnpwnnn wgnwiynypkn (nbwqtlnbibin) puquiwynudynubun QL (Nl 63000 2 126.0
33691420/667 {wpnpwinnp wanubnipbip (nbwgblinttin) puqiuyndunubtin 9< Inwlwigu 32000 60 1920.0
33691420/668 (wpnpwinnp wgnuitniphn (nbiwgbuinubin) pugiwniynubtitn 9 Inwljwgd 32499 10 325.0
33691162/1156 (wpnpuwinng wanwynyplp (ntwgblnttn) G huwtn 470 200 94.0
33691162/1157 [wpnpwnnp wanwityniatp (nbwgbnutp) L hwn 470 200 94.0
33691162/1158 jwpnpwinnp wignwgnyebip (nbwgbuwnubip) L hwtn 700 200 140.0
33691162/1159 (wpnpuwinnp wanuwbjnipbp (nwgbuwntibip) QL huwtn 1980 10 217.8
33691162/1160 jwpnpuinn wqnuiynyatp (nbwgtunttin) G hwiwn 1650 100 165.0
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33691162/1161 jwpnpuunnp wgnwbnyebip (nbwgblnltip) gL huwwn 900 230 207.0
33691162/1162 |wpnpwnnp wgnwuynyetin {nbwgblntbin) Q<L hwun 5280 20 105.6
33691162/1163 [wpnpwwnnp wgrwtyniptp {nbwgblnubp) QL hwwn 2040 20 40.8
33691162/1164 wpnpwinnp wanwlniebp (nbwgtlunubin) 9L huin 4600 20 92.0
33691162/1165 (Wpnpwnnp wgnuinipbp (ntiwgbuwntbp) QL hwwn 1150 100 115.0
33691162/1166 jwpnpwunp wanwbnyatip (nbwglnttin) G< hwiwn 2800 35 98.0
33691162/1167 [wpnpwinnp wqnutjnyabip (nbughlunutn) &< hwtn 12000 30 360.0
33691162/1168 (wpnpuinnp wqnuynpbip (nbwgblinbbp) GL hwwn 67000 10 670.0
33691162/1169 (wpnpwinnp wignuwynyetp (nbwqbbm'ubn} < hwun 6600 2 13.2
33691162/1170 qwpnpwinnp wqrulynetp (nbwgttintbip) A< hwwn 21000 2 42.0
33691162/1171 [wpnpwwnnp wanwiynyatip (nbwgblnubip) QL hwn 30000 2 60.0
33691162/1172 jwpnpuwiinnp wgnuwynyep {nbwghuunubp) L hwwn 15600 2 31.2
33691162/1173 jwpnpuwinnn wanuynptip (nbwgtntibp) qL hwwn 35000 2 70.0
33691162/1174 {wpnpwnp wgnwiynipbp (nbwgblnubp) QL hwn 22800 2 45.6
33691162/1175 jwpnpwnnp wgnubnipbp (nbwgblinttin) Q< hww 57000 2 114.0
33691162/1176 jwpnpwnnp wanuityniptbin (nbwgbtnbibn) G huuwn 47000 2 94.0
33691162/1177 jwpnpwwnnp wanwbnystip (nbwgblnbibn 9L hwwn 18000 2 36.0
33691162/1178 jpnpuwinnp wqnwlyniplpn (nbwghblnlbp) 9L hwwn 48000 2 96.0
33691162/1179 jwpnpwnnp wqnwlnyabip (nwgbnlbn) GL hwwn 34800 2 69.6
33691162/1180 [wpnpwwnnp wanwbnyatip (nbwgbntbp) QL hwwn 33000 2 66.0
33691162/1181 jwpnpuwinnn wgnuwynysbin (ntwgbtiinubin) L huwn 97000 2 194.0
33691162/1182 {wpnpwwnnp wqnbnyestip (nbwgbtnbibn) Q< hwn 2 0.0
33691162/1183 jwipnpwinnp wgnwjnptp (niwgblunutn) 9L huin 20000 2 40.0
33691162/1184 {wpnpliwnp wanwjnyplin (ntiwgbitunubip) G< hwn 21600 2 43.2
33691162/1185 jwpnpwnnp wgruwniptp {nbwghnutn < huwn 24000 2 48.0
33691420/669 (wpnpwnnp wanwunyetin (nbwgbnubn) pwqdwyndwnubiun q< Inwlwgy S2p000 jg = ?}43'0
1210000 20 24200.0
33691420/670 {wpnpwnp wgnwlnptn (nbwgblnubp) pwqdwyndynttun 214 [nwywgy 20 0.0
33691420/671 (upnpwnnn wanwtgngetp (nbwqblntibin puquiwlndwnubuin QL [nwlugd 215000 8 1720.0
33691420/672 wpnpwwnnp wonwlgniptn (nbwqbluibn) pwquwyniwnttiin q<c [uwluqa 151200 4 604.8
33691420/673 jwpnpwunnp wanubnyztip (nbwgblnlbn) puiquwyndwnutiin Q< nwljwqu 363000 1 363.0
33691420/674 {wpnpwitnnp wgnwiynietn (nbwgbtintibn) puquwlndynubiin Q< Inwywgy 175998 1 176.0
33691420/675 jpnpwinnp wanwlniptn (nbwgktunttin) pwqiwlndyntbin q< (g 157998 1 158.0
33691420/676 jipnpwnp wanulniptn (nbiwgblntbn) pwquwynduntbtin q< (Pwljuqu 85999 4 344.0
33691421/522 [wpnpwnnn wanwynyatp (nbwgblwnutip) htnnty < (hunp 0.5 0.0
33691422/568 (wpnpwnnn wanuniptn (nbwgblntbn thnoh Ywd gnpwniyubn q< Uhngpwd 0.5 0.0
33691422/569 \wpnpwwnnp wanwynyebin (nwgblinltip) tingh Lwd gpuwiinyutip Qg Yhingnuwd 1200000 0.1 120.0
33691422/570 (wpnpwnnp wanwunetip (ntwgbtintbip) thngh Yud gpwunyltip QL Yhingpuwd 1140000 0.1 114.0
33141211/690 pdolwlywits w)) gnpdhplbip — wwpwgwbp QL hwn 246000 8 1968.0
33141211/691 pdoyulywl wy gnpdhpubin - wwpwguwubip L hwtn 110300 4 4412
33141211/692 pdolwlwl wy gnpéhpltip — wwpuiguatibin L hwwn 6100 60 366.0
33141211/693 pdolyuwlwl wy) gnpdpplbp - wwpwawubp Q< hwitn 57100 2 114.2
33141211/694 pdplwiljw wy)) gnpdhplbip — wwpwguwubn QL hwin 2500 4 10.0
33141211/695 pdolwljwt wy gnpdhputip — wwpwagwbp L hwn 1000000 1 1000.0
33141211/697 pdoluljwl wy gnpdhpubin — wwpwgqwubp QL hwn 960000 2 1920.0
33141211/698 ndslwluits wy qnpdhplbip — wwpuwigubp 9L hwwn 246000 6 1476.0
33141211/699 pdolywlywil wy gnpdpplbip - wwpwgquubp QL hwn 1195000 2 2390.0
33141223/534 pdplwljw wy| gnpdhputip — wuwnwaguwbn puqdwndunubun Qg gy 44600 6 267.6
33141223/535 pdalwlwts wy| gnpdhpuln - wwpwgwubn puwquiwlndynubun QL (nwlwqd 33300 12 399.6
33141223/536 pdzywlywil wy| gnpdhplbip — wwpwgwbp pwgdwyndynubn Q< (pwluwaqd 648300 4 2593.2
33691162/1186 (wpnpwwnnp wgnuiynietip (nbiwgbuwnubp) qL hwin 19875 28 556.5
33691162/1187 (wpnpwninp wgnwuynipbp (nbwgbuwnutin) < huin 7540 75 565.5
33691162/1188 jwpnpwwnnp wgnwinyatin (nbwgbtuwnubp) q< hwun 13846 65 900.0
33691162/1189 (wpnpwinnp wignuwitynietp (nbwgbunubn) < hwwn 17143 70 1200.0
33691162/1190 (wpnpuwnnp wgnwinuyetip (nbwgblnbip) SL hwin 14200 60 852.0
336911621191 jwpnpwnnp wgrunuatin (nbwgblnubn) < hwwn 16800 50 840.0
33691162/1192 (wpnpwunnp wgnwynyebip (nbwgbuwnubp) QL huin 13875 40 555.0
33691162/1193 (wpnpwnnp wanwljnystip (nbwgbuwnubp) <L hwn 18750 12 225.0
33691162/1194 {wpnpuiwnnp wanwbnyetip (nEwgbtinttin a< hwwn 15800 60 948.0
33691162/1195 jwpnpwnnp wanwlyniplp (nbwgtlunbin) < hiwn 15800 60 948.0
33691162/1196 (wpnpwwnnp wgnwbynyatip (nbwgkuwubp) < hwun 20182 55 1110.0
33691162/1197 jwpnpwuninp wanwyniptp (nbwgbuwtin Q< huwn 32000 3 96.0
33691162/1198 jwpnpwwnnp wgnwbyniphp (nbwabuwntlip) < hun 14357 7 100.5
33691162/1199 (wpnpwnnp wgnuitnuyatip (nbuwgblnbip) G hwn 31417 18 565.5
33691162/1200 (wpnpwinnp wanwtnipbp (nbwgbuwnubip) Q< hwin 139113 75 10433.5
33691162/1201 wpnpwinnp wgnwuynuyatip (ntwgbntbp) QL huwtn 11645 55 640.5
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33691162/1202 (wpnpwinnp wignwiyniyetp {nbwgbuwnubp) Q< hwn 46900 55 2579.5
33691162/1203 |wpnpwwnnp wanuwiyniphbp (nbwgbunttn) L hwitn 15000 10 150.0
33691162/1204 (wpnpwnnp wgrwynuebip {nbwgblnutip) 9L hwwn 93900 6 563.4
33691162/1205 jwpnpwinnp wgnwtnysbp (nbwgbunltin) 9L hwwn 14675 60 880.5
33691162/1206 jwpnpwwnnp wgnwlnyetn (nbwgblinubip) Q< hwn 5308 65 345.0
33691162/1207 (wpnpwitnnp wgnwniptp (nbwgbtnubp) QL hwwn 13333 45 600.0
33691162/1208 {wpnpuwnnp wgnwinuztn (nbwgbuwnubip) 9L huin 27300 70 1911.0
33691162/1209 [wpnpnnp wgnuibjnyatip {nbwghtintibp) QL hwn 8375 12 100.5
33691162/1210 jwpnpwwnnp wanwbnyabip (nbwgblnbibn) < hwwn 40000 5 200.0
33691162/1211 (wpnpuwwnnp wgnuwujnyabip (ntwgbnubin) S hwn 27500 8 220.0
33691162/1212 (wpnpwinnp wgnuityniyatp {nbwgbuwnlbp) Q<L hwwn 26700 15 400.5
33691162/1213 jwpnpwwnnp wqnuniptn (nbwgblnubn QL hwn 15750 2 31.5
33691162/1214 pupnpuwinnp wanuwtynatp (niwgbuntin) GL hwin 25875 2 51.8
33691162/1215 jwpnpwunp wanwbnystip (nbwgblinutin) G< hwwn 20500 7 143.5
33691162/1216 wpnpuinnp wgnuwujnyebn (nbwgtlutibin) QL hwwn 18370 15 275.6
336911621217 (Wpnpwinnp wgnuijniatp (nbwgbtnubip) QL hwun 10125 4 40.5
33691162/1218 (wpnpuwwnnp wgnuynyetp (nbwgblnubn) < hwun 43600 3 130.8
33691162/1219 upnpuwinnp waruwlynietp (nbwgttuntbin) L hwin 77400 1 77.4
33691162/1220 jwpnpwwnnp wgnuyniatbin {nbwgbtinubn) G hwwn 50500 4 202.0
33691162/1221 (wpnpwwnnp wonwbnptin (nbwgbuwnubip) Qg hin 40100 6 240.6
33691162/1222 {wpnpwitnnp wgnuiynietip (nbwgblnubp) Q< hwwn 133100 6 798.6
33691162/1223 qipnpuininp wqruignipbip (nbwgttntbip) QL hwun 263400 6 1580.4
33691162/1224 |wpnpwwnnp wanwujnyetip {nbwgblntibp) Q<L huitn 329400 6 1976.4
33691162/1225 wpnpwwnnp wgrwbjnipbp {nbwgblwnubip) 9L hwin 159900 16 2558.4
33691162/1226 ppnpwinnp waruwlyniphp (nbwgbuntbn) QL hwn 138600 8 1108.8
33691162/1227 (wpnpwwnp wgrwtyniptip (nbwglwnubp) QL hwwn 120800 8 966.4
33691162/1228 (wpnpwwnnp wgnwinitip (nbwgbuwnubn) < hwwn 124400 8 995.2
33691162/1229 |wpnpwwnnp wgnuijnyetn (nbwgbuwnbp) QL hwun 172400 72 12412.8
33691162/1230 {wpnpwinnp wignuiynietip (nbwgbunubp) L hwun 15100 6 90.6
33691162/1231 jupnpuwinnp wanuilyniptn (nbwgblnbibn) QL hwn 24720 2 49.4
33691162/1232 [wpnpwwnnp wanwtyniplp {nbwgblnubp) < hwwn 22500 2 45.0
33691162/1233 {wpnpwithnp wgnuniplp (ntiwgbnubin) 9L hwn 41550 10 415.5
33691162/1234 (wphpwinnp wgnuiyniyetp (nbwghkuwnubip) L hwuwn 66000 5 330.0
33691162/1235 jupnpuwnp wanwjniptp (nbwqbluibn) qL hwn 38000 15 570.0
33691162/1236 (wphpwinnp wgnwibynialp (ntiwgbuwnubp) <L hwun 67000 1 67.0
33691162/1237 jwpnpwunnp wanubnysbip (nbugblnltn) QL huwin 115000 4 460.0
33691162/1238 jwpnpinnp wgnunyatip (nbwgbluwnubp) Q< hwn 73000 8 584.0
33691162/1239 jwpnpwnnp wgrwniptp (nhwglntin QL hwn 250000 50 12500.0
33691162/1240 (wpnpuwinnp wgnwunpbp (ntiwqbunubin) QL hwtn 100000 1 100.0
33691162/1241 [wpnpwnp wgnuitijniptp (nbwgbuwnutp) < hwwn 58000 3 174.0
33691162/1242 jwpnpwwnnp wanuyniptp (nbiwgbuwnubip) ac huin 58000 10 580.0
33691162/1244 (wpnpwwnnp wanwlnyatip (ntiwgbuwbp) Q< hwn 27000 8 216.0
33691162/1245 (wpnpwinnp wignwiniphp {nbwgbuwnubip) QL hwn 40000 5 200.0
33691162/1246 juipnpwinnp wanulynplin (nbwqgblinubn) SL huwn 103000 2 206.0
33691162/1247 {wpnpwwnnp wanwtnysbip (nbwgbtintbn) QL hwn 29000 12 348.0
33691162/1248 (wpnpuwnnp wgnwnyetip (nbwgbuwnubip) 9L huwin 18000 40 720.0
33691162/1249 jwpnpwnnp wanwynptp (nbwgbtuntitin) Q<L hwwn 18000 40 720.0
33691162/1250 (upnpwuinp wgnwiynyebp (nbwgblnubn) < hwn 86000 4 344.0
33691162/1251 pupnpuwinnp wqrulynipbp (nbwgtktnttin) < huwn 53000 7 371.0
33691162/1252 |wpnpwnnp wgnwlynuyatip (nbiwgbuintbp) < hwtn 77000 9 693.0
33691162/1253 jwpnpwwnnp wqnulyniphp (nbwghtinltin) QL hwwn 40000 9 360.0
33691162/1254 (upnpwinnp wgnulyniplin (nbwqblnbp) Q<L hwun 20000 15 300.0
33691162/1255 jwpnpwnnp wgnuwipniep (nbwgbuwnutip) 9L huin 21000 6 126.0
33691162/1256 wpnpwinnp wgnwugnyetip (ntwqgbnubin) QL hwtn 165000 3 495.0
33691162/1257 |wpnpuwnnp wgnwlnyetin {ntiwgbuwnubip) QL hwin 89000 3 267.0
33691162/1258 jwpnpuwnnp wanwlyniebp (nhwgblnubnp) L huiwn 21000 4 84.0
33691162/1259 {wpnpwnnp wanuwniplin (nbwqgbunubn) QL hwn 36000 1 36.0
33691162/1260 (wpnpuitnnp wgnwiyniphp (nbwgblnubn) L huwwn 67000 1 67.0
33691162/1261 wpnpuwinnp wgnwunyebp (ntiwgbinubip) q< hwwn 157000 2 314.0
33691162/1262 |wpnpwnnp wgnuwtyniptin (nbwgbuntbp) QL hwn 170000 1 170.0
33691162/1263 (wpnpuwnnp wgnwnyetip (nbwgbunubin) QL huwin 22500 1 22.5
33691162/1264 (wpnpwnnp wgnutnyplip (nbwqgblnubpn) QL hwn 40000 1 40.0
33691162/1265 (Wpnpwitnnp wanwyniplp {nbwgbuwnubip) L hwn 131000 1 131.0
33691162/1266 (wpnpwnnp wgnwunyabip {nbwgbtnbin) G< hwwn 11000 15 165.0
33691162/1267 {wpnpwitnnp wignuiyniebp {nbwgbuwnubp) QL hwwn 43000 2 86.0
33691162/1268 (wpnpwwnnp wgnwnyetip (nbwghbuwnubip) 9< huwin 20000 60 1200.0
33691162/1269 jwpnpwinnp wgrutniatin {nbwgbuwnubp) QL hwn 4000 60 240.0
33691162/1270 (wpnpwinnp wgnwynyetip {nbwgbuwnubp) < hwwn 6000 5 30.0
33691162/1271 upnpuwinnp wanulynptp (nbwgklnttn) < hwin 8000 2 16.0
33691162/1272 (wpnpwnnp wgnuiyniptp (nbwgbuwnlbp) q< hwwn 17000 35 595.0
33691162/1273 (wpnpwwnnp wgnwynyebp ({nbwgbuwnubip) 9L hwwn 277000 1 277.0
33691420/677 {wpnpwnnp wanujnptin (ntwgtlntbn) pugqiwynduynubun Q< (nwilyugd 44100 1 44.1
33691420/678 (wpnpwitnnp wanwunyeptp (nbwgtlntbn) puquwyndwntitiin QL [nwiljugd 21400 4 856
33691420/679 (wpnpwnnp wanwniptp (nbiwgbtnubn pugiwynuwnutiun < [nwljwqd 47800 6 286.8
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33691420/680 (wpnpwwnp warwbynietn (nbwgtuwnubn) pwquuyndynlibtin ac (nwljugd 42500 12 510.0
33691420/681 (WpRpWWnp warpatyniptn (Rtwgbuwnutin) puguulnuynubun qL (nwlwad 21700 6 130.2
33691420/682 [pnpwwnn wanwunietn (nbwqgbtunubp) pwqdwyndynubtn G nwljwad 114900 8 919.2
33691420/683 [Wwpnpwwnp warwlnuatp (ntiwghunutin) puqdwyndunbn q< (nwljwaqd 46875 4 187.5
33691420/684 (pnpuwnnn wanwyniptn (nbwgblnubp) puqiwyndynubun 9 (pwljwad 185200 8 1481.6
33691420/685 [wpnpwwnnp wanwbynyabip (nbwgbunubin) pwqiwlndynubiin q< (nwljuau 185200 8 1481.6
33691420/686 [WpnpWWnp wanwiynyetn (ntwgblnutin) puguwlnuynubun R1s (nwlwad 37500 8 300.0
33691420/687 (wpnpwwnnp wgnwjnipln (nbwgkunltn) puguwynuiyntbln 9L nwluqd 19568 22 430.5
33691420/688 |wpnpwnnp wanwlyniptin (ntwgkuntitin) puguwnuyntbun QL Inwluiqil 35250 2 705
33691420/689 [wpRpWA wWulnen (nbiwgtlntbn) puquwynuynubun < (nwiljugqd 270000 5 1350.0
33691420/690 {wpnpuwnp wanwunyetin (nbiwgttnutin) puquwynuynubun Qg (nwiyugd 22500 5 12,5
33691420/691 (wpnpuithnp wgnwujniplp (nbwgtkuwntbp) puquwlndynubun qc [nwlugd 57300 3 171.9
33691420/692 (wpnpwhnp wgrutgniphn (nbwghklinutn) puquwyndyntiiun < [nwlwad 50600 3 151.8
33691420/693 (wpnpuwinnp wanwyniphn {nbwgbuwnutbip) puqiuynduntblin G< nwiljugu 50600 3 151.8
33691420/694 [wpnpuwitnnp wgnwnipbp (nbwgbuwnubin) puguwlnuiyntibun q< Nl 65600 40 2624.0
33691420/695 jwpRpWwnn wonwyntptn (nbwgbtnubp) pwqiwyndunubin 9 nwiljugu 72500 3 217.5
33691420/696 [wpnpwwnp wanwyniptn (nbwgbunubn) puqiwyndyntbtin 9 (nwiljugd 72500 3 27.5
33691420/697 [wpnpwinnp wanwniehn (nbwgbuwnttin) puguwlniynubun QL Inwlugy 72500 3 217.5
33691420/698 (wpnpwwnnp warwtynuetn (ntiwgblntbn) puquwynuyntbln QL [nwlwgd 52100 4 208.4
33691420/699 |wpRpWLnnp wanwjntn (nbwgtitnttin) pwquiwlniiynutin Q<L gy 67500 2 135.0
33141211/700 pdolpwlwl wy gnpdhplbp — wjwpwguwubp a<L hiutn 44000 1 44.0
33141211701 pdolwljwi wy gnpdhplbin — wwpwguubn 9L huwin 261 1000 261.0
33141211/702 ndolywlwt wy) gnpshpllbip - wwpguiubn < huiwn 21000 20 420.0
33141223/537 pdplywljwit w)| gnpdhputip — wwpwquibn pugiuynduntibun Q<L [nwlugy 45600 40 1824.0
33141223/538 pdlwljwl wy gnpdhputip - wwpugquittin puquwlndwnlitiin q< (g 46300 20 926.0
33141223/539 pdplwiljwu w)| gnpdhputin — wwpwautibn puqdwyndyntbtn q< nwljugu 24400 2 48.8
33691160/559 phuihwlwl wgrutnpbp (nbiwgbwnubp) QL hwn 111600 40 4464.0
33691160/560 phupwlw worwlnieptip (ntwgblnubing Q< huwin 79200 40 3168.0
33691160/561 phihwlwl wgnwnpbn (nbiwgliunubp) aL huwin 252000 40 10080.0
@911603’562 phuhwlwl wanwinuyebp (nbwgblntin) QL hwn 131400 40 5256.0
33691160/563 phuhwljwl wanwnuplp (nbwgbuwnubp) 4L hwwn 67500 2 135.0
33691160/564 phupwiwl wgnwbinipbp {nbwgbuwnubp) 9 huwin 67500 2 135.0
33691160/565 phupwlwl wanwunphp (nbwgbuntitp) L hwin 283500 25 7087.5
33691160/566 phuhwlwl wanwiynyebip {nbwgblwnubip) SL huwiwn 96300 2 192.6
33691160/567 phuhwlwl wanwlinyetip (nbwgbinubin) 9L huwin 96300 2 192.6
33691160/568 phihwwt wgnwiynistp (nbwgbuwnubn) aL huwitn 239400 2 478.8
33691160/569 phuhwlwl wgnwnetip (nbwgbntibin QL hwwn 490000 10 4900.0
33691160/570 phihwlwl wgnwljnipbn (nGwgbiunlbin) GL hwwn 75000 2 150.0
33691160/571 phupwlwl wanwlyniptp (nbwgblnubin) gL hwin 75000 2 150.0
33691162/1274 jwpnpwwnnp wanwbinipbp {nbwgbuwnubp) L hwwn 64320 60 3859.2
336911621275 {wpnpuwitnnp wgnwujnyatip {(nbiwghbuwnutin) < huwin 46000 2 92.0
33691162/1276 jwpnpwinnp wgnutnuyatin (nbwgblnlbn) L hwwn 55200 60 3312.0
33691162/1277 jupnpuwinnp wgnunietp (nbwgblnutin) a< huwn 43600 2 87.2
33691162/1278 jwpnpwnnp wgnutnuatin (nbwgblnlbn) < hwiun 118800 60 7128.0
33691162/1279 wpnpwwnnp wanwbjnipbip (nbwgbunutn) L huin 121280 2 242.6
33691162/1280 jwpnpwnnp wgnwljnuplin (nbiwgbuwnubip) QL huin 92950 60 5577.0
33691162/1281 jupnpuwinnp wgnwinyetp (nbwghbtnutin aL huwin 58240 2 116.5
33691162/1282 jwpnpwwnnp wanuljnyetip (nbwagbnubn) QL hwn 69800 12 837.6
33691162/1283 (wpnpwinnp wanuwiniebp (nbwgblnttin) QL huwwn 24000 3 72.0
33691162/1284 wphpwinnp wgnwljnphn (nbwgbUwntibin) 9L huwin 98500 8 788.0
33691162/1285 jwpnpwwnnp wanwbjnipbp {nbwgbtinubp) L hwwn 25600 2 51.2
33691162/1286 |wpnpuwinnp wgnuwujniypbn (nbwgbnubin) L huwitn 84000 3 252.0
33691162/1287 jwpnpwinnp wgnuibynyetp (nbwgbuwntbp) L hwn 56560 2 13.1
33691162/1288 jwpnpuitninp wgnuwiinyebip (nbwgbuwnubin 9L huwiwn 84000 3 252.0
33691162/1309 (wpnpwwnnp wgnwynyptip (nbwghblnlbn) L huwin 53040 2 106.1
33691162/1310 jwpnpwwnnp wanwljmptp {nhwgbuwnubp) g huwitn 71680 40 2867.2
33691162/1311 jwpnpwnnp wgnuwniplin (nbwgbnubp) QL huwiwn 24850 3 74.6
33691162/1312 jwpnpwwnnp wanwbiniptp (nbwgbuwnlbp) Q<L hwtn 49840 2 99.7
33691162/1313 jwpnpuitinp wgnwjnyetip (nbwgbwntitin) 9L huiwn 24300 2 48.6
33691162/1314 jwpnpunnp wanwlyniptp (nbwgbtnubn) QL hwin 70800 2 141.6
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33691162/1315 jwpnpwwnnp wanwbyniptp {(nbwgbuwnubp) g hwiwn 24300 2 48.6
336911621316 jwpnpuwinnp wgnubinyebp (nbiwgbunutip) QL hwin 66880 3 200.6
33691162/1317 jwpnpiutnnp wgnwbjniyptip (nbwgbitunutin) 9L hun 23680 2 47.4
33691162/1318 {wpnpwinnp wgnwbynyetip (nbwgbuwnubp) QL hww 46800 8 374.4
33691162/1319 jwpnpwinnp wgiwbjnphp (nbwgblwntbp) gL hun 24600 2 49.2
33691162/1320 |wpnpwnnp wgnwiynyabp (nbiwgblwnutp) q< hwwn 54240 2 108.5
33691162/1321 jwpnpwwnnp wgnuiniptip (nbwgbunubn) qL huwwn 24600 2 49.2
33691162/1322 jwphpwinnp wanwlyniplin (nbiwgblntbip) GL hwn 14240 2 28.5
33691162/1323 jwpnpwnnp wgnuwibynyetip {nbwgblnubp) 9L hwun 5400 15 81.0
33691162/1324 jwpnpwwninp wgnwbjniphp (nhwgblnubip) 9L hwn 225000 8 1800.0
33691162/1325 (wpApWLND wonwilnipbp (nbwgblwtbn) SGL hwn 26500 2 53.0
33691162/1326 wpnpwwnp wanwbynpbp {nbwgblnubp) 9L hwwn 59760 2 119.5
33691162/1327 jwpnpiunnp wgnuwbniplip (nbwgbunubn) L hwn 349200 5 1746.0
33691162/1328 (wpnpwinnp wgnwbynyabp (nbiwgblwnubp) 9L hwtn 36800 6 220.8
33691162/1329 jwpnpwnnp wgnwlinyebp {nhwgbuwnubin) QL hwn 81440 3 244.3
33691162/1330 jwpnpunnp wanwynyabip (nbwgktinubp) QL hwin 24800 2 49.6
33691162/1331 (wpnpuwnnp warpwbyniptp {nbwqbbmhbh) < hwin 25280 2 50.6
33691162/1332 jwpnpuwnnp wgrnunuetip (ntwgbunubin) qL huwin 216554 20 43311
33691162/1333 jwpnpwinnp wgrwtpnuetipn {nbwgblwnubp) QL hwn 264410 20 5288.2
33691162/1334 jwpnpwnnp wgnwiyniplp (nbwgttintbp) 9< hwwn 357000 20 7140.0
33691162/1335 |wpnpwwnnp wanuljnyetin (nbwgbtwnubp) QL huutn 239198 20 4784.0
33691400/563 phuhwljwl wanwiynuyatp (nhwgblnubn) pwquiwyndynubiun < Inwlwqy 96300 2 192.6
33691400/564 phuhwlwl wqnwnipbp (nbwgbntibin) puwquulndynubun 9< gy 96300 2 192.6
33691400/565 phuhwywl wqnwnipbp (ntwgbtntibin) pwquwynuiynubun Q< nwluugu 108000 2 216.0
33691400/566 phihuwljwl wanwlyniebin (nbugblinutin) puguiwyniynubun Q<L (nwlwuqd 96300 2 192.6
33691400/567 phihwljwt wanwyynipbp (nbwgblnubn) piquwyndynubiin Qg (nwlwqd 121500 2 243.0
33691400/568 phuhwljwl wanwlynipbip (nbwgbuunttn) puguiwlndynubiun 9L (nwluqu 121500 2 243.0
33691400/569 phuhwlwl wynwlniptp (nbwgblnutn) pugdwindunubn QL gy 106200 12 1274.4
33691400/570 phuhwlwl wanwljnietp (nbwgbtnutin) pugquiwlndynlbln Q< nwlwad 45630 12 547.6
33691400/571 phdhuwljwt wgnwbyniphp (nbwgbunutn) pwquwlndyntbun q< [nwlwqu 139500 25 3487.5
33691400/572 phuhwlwl wanwlniptbn (nbwgbuinubin) pugdwlnuyntbun QL (nwlwgd 50000 6 300.0
33691400/573 phdpwlw wrwbyniatin (nbwgbuwnutn) pwquwyndwnttiin q< [nwlugd 95400 25 2385.0
33691420/700 Jwipnpuinnp wanuiynipbin (nbugblnttn) puquwlyndynubun L [uwluqu 26800 40 1072.0
33691420/701 (wpRpwWn wanwunietn (nbwgbuwnubn) pugquuyndunubtin qL (Puiljuqd 26800 40 1072.0
33691420/702 (wpnpwnnp wanwyniphp (nbwgbnutp) pugdulnduntbun 9L (nwiywad 17120 1 17.1
33691420/703 {wpnpwnnp wanwpniRpbp {nbwgbuwnutn) pwquwlndunutun G< (g 59760 2 19.5
33691420/704 (wpnpwinp wanwiyniphp (nbwgbunutin) puguwlnuyntibun qg (nwlwaqy 174640 2 349.3
33691420/705 |WpRpWIN Waruniptn (nbwgbtnubin) pwquwynduntbtin G Inwlwqy 119520 2 239.0
33141211/703 npdolywlwls wy gnpshplbp ~ wwipwgwbin qGL hwiin 80000 1 80.0
33141211/704 pdolwlywt wy gnpdhpubip — wuwpwaquubp L hwn 1230000 1 1230.0
33141211/705 pdslwljuwite wy) gnpdhpllip — wwpuguilibp L huwiwn 215000 1 215.0
33141211/706 ndolwlwt wy gnpdhpltip — wwpwawubp q<L huwtn 215000 1 215.0
33141211/707 pdolwlwl wy) gnpdhpubin — wwpuwgutibp QL hwiun 90000 1 90.0
33141211/708 pdolywlwt wy gnpohplbip — wwpwgwubp Q< huin 69000 1 69.0
33141211/709 pdolwlu wij| gnpdhplbip — wWwpwqubp < hwwn 13000 1 13.0
33141223/540 pdsywlywts wy gnpdhplbn — wwpwgwubp puwquiwlyniynubun QL nwiljwgd 960000 18 17280.0
33141223541 pdaluwlyuwits wy| gnpdhptlbip - wwpwguubp puiquwlndynubun G (pwlwqd 103122 2 206.2
33141223/542 pdalwljw w)| gnpdhpubin — wwnwgwutin pugdwlnuunubitn Q< [nwiljugd 108528 2 171
33141223/544 pdayuluwl wy) gnpdhpllin — wwpwqwlbn pugiwyndyntbiun L Inwlwuqy 60000 2 120.0
33691162/1336 jwpnpuwwnnp wignwyniehip (ntwgbnubin) gL huwn 38000 3 114.0
33691162/1337 |jwpnpwinnp wgrutpnyatin (nbwagbnlbn) gL hwiwn 87700 1 87.7
33691162/1338 jwpnpwwnp wgnuwbjmphp (nbwgblinubip) G hwiwn 24000 1 24.0
33691400/574 phupwywt wanwbnipbp (nwgblnubn) puqiwyniynubun < (nwlwuqy 190000 3 570.0
33691400/575 phihwljwt warwtynipbn (nbwgblnutn) puiguwlniunubiin Qg (nwljugd 95000 3 285.0
0.0
33691400/576 phupwljwl wgnwyniptn (nbiwgbuwnltp) puiquwniynutiun QL [nwlwgd =0 ? 7.4
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33691400/577 phihwlwl wanutymptn (nbwagbtnubp) puqdwlnuunubiln 9L nwyuagd 00 ? :?02
33691400/578 phuhwlwl wanwynyetip (nbwgklnutbn) puiquiwlniynutiun q< (pwlwqd 8 0.0
33691400/579 phihwlwl wgnwnipbn (nbwgttntbin) puquwyndyntbln 9< (nwlwqd 115000 4 460.0
33691400/580 phuhwlwl wgnwlnietp (nbwgblnbbp) pwqiwyndynubtn L (pwbwad 1 0.0
33691400/581 phupwuwl wanwlynyetin (nbwgkunutin) puiquwlndyntitun qg (nulwqd 2 -
53000 1 53.0
33691400/582 phihwljw wgnwynytn (ntiwgbtintbip) puguwlndynubun QL [nwlwad 1 0.0
33691400/583 phuihwlwl wqnwlynipbip (nkwgblutbin) puguiwlniynubun Q< (nwljuqu 1 0.0
33691400/584 phupwyw wonwbjniptip (nbwgbnubin) puguwlyndynutun < (nwljugy 10 0.0
33691400/585 phupwlwy wanwlnyetin (nbwqblnlbn) puigdwyndynubun QL (nwlugd 446000 4 1784.0
33691400/586 phupwlwt wqnuwiyniptn (nbwgbunutin) puiquwnidwntitiin qg (g 189000 1 189.0
33691400/587 phuhwljwl wgnuiyniptp (ntwgblnubp) pwqdwlndunutun q< (nwiywgd 145000 1 145.0
33691400/588 phuhwlwt wanunyetn (nbwgbtntbn) puiquiwlndynubiin qc (nwluqu 145000 1 145.0
33691400/589 phuhwlwi wanwujniebp (nbwgbutnttin) pugdwlndyntibn QL (nwlwqd 1 0.0
33691400/590 phupwlwt wqnuwlnetn (nwgblnlbn) pwgqdwlndunubun QL [nwlygqd 141000 1 141.0
33691400/591 phuhwlwl wanwyniatp (nbwgbuwnttp) puiquwlndunttiin L [nwlugd 150000 1 150.0
33691400/592 phdhwuwh wqnwiynipbin (nbwgbunttn) pwquwndwnutiun q< [uwluqy 205000 1 205.0
33691400/593 phuhwlwl wgnwlnietin (ntwqblntbp) pwqiwyndynubun q< nwiljugd 180000 1 180.0
33691400/594 phupwlwt wqnuynipbip (ntwgbtuntibn) puquwyndynubin Q< Inwlwigu 341000 10 3410.0
33691400/595 phuhwywt wanwyniehp (nbwgblinutn) pugdwindunubun QL Inwlwqd 290000 2 580.0
33691400/596 phipwlwl wanutyniptn (nbwgbtnubn) pugduindunubln qC nwlugy 33800 50 1690.0
33691400/597 phihwlwu wanwynyetn (nwgblwnubn) puqdwlnuunubln QL nwlywgd 32500 2 65.0
33691400/598 phupwlwl wgnwiynpbn (ntiwgbtntbin) puguwyndyntbln qg (Pwluqd 88000 2 176.0
33691400/599 phihwlwl wanwljnyelin (nbwgbunbbn) pwqiwlyndyntbiin 3L (nwlwuqd 32500 2 65.0
33691423/502 (wipnpwwnnn wqnwnyetin (nbwgbtintibp) puquwlndyntbun < gl 36852 14 515.9
33691423/503 [wpRpwinnp wanwlnyptin (nbwgbtnttin) pugquwynuynubun G< [Puwlugd 40935 16 655.0
33691423/504 (wpnpuwwnnn wenwgnyehn (nbwgblnlibn) pwqiwyniynubin QL [nwilwgd 71400 20 1428.0
33691423/505 {wpnpwwnnp wqrwynetn (nbwgbuwnutin) pugquwlnuyntbn Q<L gy 91188 18 1641.4
33691423/506 (wpnpwnnp waruwynyatp (nkwgtlnutin) puiquwyndunutiin QL [Nl 76500 24 1836.0
33691423/507 (wpnpwwnnp wanwunyetin (nbwgbtinubp) pwqdwynduntun Qg [nwlwgd 121992 24 2927.8
33691423/508 (wpnpuwiinp wanwbgniphn (nbwgblnbin) puquwyndynubitn B8 (nwlgd 44000 2 88.0
33691423/509 {wpnpwwnnp wanwlgniplin (nbughkntbn) puguwynidynubn QL (g 30000 5 150.0
33691423/510 (wpnpwnnp wgnuwignipbn (nbwgbunutp) pugquuwlniyntbun q< [nwlywqu 255000 7 1785.0
33691423/51 (wpnpurnnp wanujntn (nbwgbuintibn) puquwndynuiun QL iy 140000 7 980.0
33691423/512 pwpnpuinn wqruiynyptp (nbwgbtintitin) puguiwlyndynubun Q< (nwlugd 140000 5 700.0
33691423/513 Jwpnpwnnp wanwlynielp (nbwghunttin) puquwlndyntbun a< [nwluqy 85000 3 255.0
33691423/514 upnpwinnp wanwignuyebn (nbwgbuwntbin) pugdwlnuyntbun Q< (nwlwuqy 265000 3 795.0
33691423/515 (wpnpwnnp wgnwiniptn (nbwgbtnubp) pwqdwlnduynubun q< [nwluqy 260000 16 4160.0
33691423/516 {wpnpwnnp wonwniptin (nbwqttntibin) puqiwynuynubun Qg (nwiljusqd 189000 24 4536.0
33691423/517 {wpnpwwnnp wanutynyzbin (nbwgblinttin) puquwyniwnttiun 9 [nwlwqu 345000 8 2760.0
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33691423/518 |wpnpuwnnn warulnuyatn (ntwgbuintbin) prguwlniynubun 9L (nwlugy 85000 3 255.0
33691423/519 {wpnpuithnp wgnuwntin (nbiwgktnbbin) pugquwlndynubun < (nwlyugqu 590000 5 2950.0
33691423/520 (wpnpwinnp wgrabjniztin (nbwgbunutin) pugquwlyndynlbln < (piulugy 93000 3 279.0
33691423/521 [wpnpwwnnp wanwlnybn (nhwgblnubn) puqiwyndynubun QL nwljwqd 150000 4 600.0
33691423/522 [wpnpwwnnp wanwnietn (ntwgbunubip) puguwyndyntbun Q<L (nwlwagd 627000 20 12540.0
33691423/523 (WpApWND WgnuijniRtn (ntwgbtntbn) puguwnuynubln QL [nwlywqd 300000 4 1200.0
33691423/524 [wpnpwnnp wqnwjnipn (ntwgblinutin) puquwynuynubiun 9L (ruluqd 258000 6 1548.0
33691423/525 {wpnpwinnp wgrwiynitn (nbwgbnutin) pwqdqudmnuhbm qg (nwlwgd 890000 4 3560.0
33691423/526 jwpnpwunp wanwbnyztin (nbwgblnutin) pwquwyndunubln 9L Inwlgu 445000 5 2225.0
33691423/527 {wpnpwwnp wgnwnyatin (nbwgqbtnubn) puqdwlniyntbtin G (nwljwqd 225000 1 225.0
33691423/528 {wpnpwinnp wanwyniptn (ntwgbtintbn) pugdwiniynubn QL (nwlwad 15000 3 645.0
33691423/529 (wpnpWAND wanwynuatp (ntwgbuntibp) pwgquwlndynubun QL (nwlugy 122298 1 122.3
33691423/530 {wpnpunnn wanwbnpbip (nbwgblntitn) puquiwynduynubun Q<L gl 108528 2 2171
33691423/531 [WpRpWAD wWanwnipln (ntiwqblntbin) puguwnuiynubun QL nwiljuqy 1800000 1 1800.0
24311129/501 quiiwqu whopquitiwluit phihwlwl uynipbin q< qpuwid 20 1000 20.0
24311129/502 quitiwquitl wopguitiwlwl phupulwt bynyebip Q<L qpuwid 90 160 14.4
24311129/503 quiiwquli wiopquitiwlul phuhwlwl Unyetip L gpwd 15000 20 300.0
33691160/573 phuhwlwi wgnulynipbp (nbwgbbnubpn) QL hwn 45900 80 3672.0
33691160/574 phuhwywl wgnuiynipen {nwgblnubip) L huiwn 151200 20 3024.0
33691160/575 uhwlwl wqnuwyniptp (nbwqbnlbn) Q< hwwn 30240 20 604.8
33691160/576 phihwljwl wgnuiynipln {nbwgbnubp) QL huin 129600 20 2592.0
33691160/577 dhwlwl wanulynipbp (nbwgbnltin) < hwwn 45900 140 6426.0
33691160/578 phthwlwl wgnuibyniatn (nbwgblinubn) a<L huwin 22100 100 2210.0
33691160/579 phupuljwl wanuwiyniphn (nbwgbnttin gL hwn 22000 10 220.0
33691160/580 phihwljwl wgnuiynyetp {ntiwgbuwnubn) aL hwin 21600 100 2160.0
33691160/583 phuhwlw wanwjniehp (nhwgbuwnubip) Q< hwwn 12996 15 194.9
33691160/584 phuhwlwl wanwlynipkp (nbwgbuntin) L hwitn 340 30 10.2
33691160/585 phupwlw wqnuiniptp (nbwgbunlbn) QL hwwn 44700 40 1788.0
33691160/586 phihwlwl wgnwynipbp {nbwgblnubp) qL hwwn 76400 40 3056.0
33691160/587 hupwlw wqnuwlnyetp (nbwgbiunlbn) G hwwn 44500 20 890.0
33691160/588 dhwljwl wgnwyjnptp (nbwgbuwnbn) < huin 39200 10 392.0
33691160/589 phihwlwl wgnwniphn {nbwgbuwnubn) QL hwn 42480 1 42.5
33691160/590 huhwlwl warwlyniptp (nbwgttntbn) QL huwwn 248400 2 496.8
33691160/591 phupwlwt wqnuwiynyetp (nbwgbunubin) q< hwwn 25920 30 777.6
33691160/592 phupwljwl wqnwjniplin (nbwgtunttp) 9L hwwn 51840 3 155.5
33691160/594 phipwywi wgnwtynielp (nbiwgbuwnulip) QL hwn 70000 2 140.0
33691160/595 phupwlwl wanwljnybp (nbwgbiunubip) < hwwn 762300 2 1524.6
33691160/596 phihwlwt wgnwlyniyatp (nbwgbuwnubip) G hiuwn 59200 1 59.2
33691160/598 phuhwluwl wgnuiyniphln (nbwgblntibin) L hwin 93000 45 4185.0
33691160/599 phupwlwt wqruiynyatip (nbwgtnubin) < huuwn 54000 8 432.0
33691160/600 phuhwlwl wgnuwiyniplin (nbwgblntibin) < hwin 27000 156 4212.0
33691160/601 phupwlwt wanuwiynyatp (ntwgblnubn) <L huwin 642000 2 1284.0
33691160/602 phuhuwljuu wgnuyyniptin (nbwgblntibn) L hwtn 184800 5 924.0
33691160/603 phihwljwl wgnwiyniptp (nbwgbwnubp) QL huin 184800 5 924.0
33691160/604 phuhwlwl wgnwiniepbp (ntwgblnttin) < hwn 47345 30 1420.4
33691160/605 dhwlwl wanwyniebp {nbwgblnubp) qc huwin 51561 25 1289.0
33691160/606 phuhwlwl wgnwljnyphbp (nbwghbunutip) L hwiwn 51561 10 515.6
33691160/607 dhwhwt wqnwiynipkp (nbwgbuntin) q< hwwn 212290 9 1910.6
33691160/608 phuhwlwy wanwlyniatip (nbwgbuwnubin) < hwwn 12155 2 24.3
33691160/609 phdhwljw wgnuibynyptp (nhwgblntibin) qL hutn 67150 2 134.3
33691400/600 phuhwlwt wanwjnebp (nbwgblntbin) pwquiwlnuynubiun QL (nwluqy 162000 15 2430.0
33691400/601 phuhwlwls wgnwyniptn (nbwgbtntibn) puqiwyniynubiun < |nwlugd 97200 15 1458.0
33691400/602 phihwlwl wanwyniehn (nbwgblintbn) puqwyndynubtn QL Inwilyugu 486000 15 7290.0
33691400/603 phuhwlwl wanwlynyetip (nbwgbunubn) puguwlnuiyntibun G< (nwlugd 270000 18 4860.0
33691400/604 phihwlwl wanuiyniptn {nbwgkuntbp) puquwnuyntibn GL (g 129600 12 1555.2
33691400/607 phihwlwl wanwtynipbp (nbwgblinubn) pwqdwindunubun < Inwljugd 25000 1 25.0
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33691400/608 phupwlwt wqnulynyetin (nbwgbnubin) pwquulyndunubtun QL [uluqy 53040 1 53.0
33691400/609 phuhwlywl wqnwynyatip (ntwgbuintbin) puquwlniyntbun qc [nwiljuugd 53040 1 53.0
33691400/610 phuhwlwt wanwiymptp (nbwqbtnbbin) puquiwlyndynubun 9 (nwljwad 53040 1 53.0
33691400/61 phuhwhuit wanwiynietn (nbwghntbin) puqiuynduntibtin Qg (nwlywad 50000 4 200.0
33691400/612 phuhwljw wanwlynyetn (nbwgbuntbin) puquwndynubun 9L nwiywagd 36000 4 144.0
33691400/613 phublwl wanwjniepln (nbwqbluntibin) puqiwynuiynubun 9 [nwiljugu 387000 2 774.0
33691400/614 phithuuljuts wanwlnupbp (nbwgblunubp) puquiwlndwntun QL (nwluqy 78000 4 312.0
33691400/615 phupwlut wanutynyetip (nbwgkunutbin) puguiwyndynubiin < (mwlwqd 78000 4 312.0
33691400/616 phihwlwl wqnutynyatin (nbwgbtinlbn) pwqiwynduynubn ag (ulyuiqy 114000 4 456.0
33691400/617 phihwlwl warwynyetip (nbiwghtintbp) puiquiwlnidynubun 9< (nwljwgd 114000 4 456.0
33691400/618 phuhwlwl wanuijnipbn (nbwgbinttn) pwaquwlndyntblun QL nwlwagd 240000 3 720.0
33691400/619 phdhwlwy wqnwljniptn (nbwgbtnutn) puwiquwlyniunutitin GL [nwywgd 600000 1 600.0
33691400/620 phihwlwl wanutyniptin (nbwgklnubn) puquwlniyntitun G [(nwywaqd 270000 3 810.0
33691400/621 phipwlwl wanunyptp (nbwgbktntbin puwquiuyndynubln QL nwljuqu 210000 1 210.0
33691400/622 phishuwljwlt wonwyniptip (nbwgbnubin) pgiwlndyntbiun < (nulwgy 16500 1 16.5
33691400/623 phuhwywi wanwnyebp (nbwqEuwnutn) pwgdwyndynlbiun 9L (nwluqu 51000 1 51.0
33691400/624 phuhwlwt wanwnyebp (nbwgbunutn) puqdwindunubtn q< Inwlwqy 73920 3 221.8
33691400/625 phihwljw warwlnipbp (nbwgbtnlibn) puquwlnduntibun QL |nwiljusqd 85000 1 85.0
33691410/503 phipwlwt wqnwlynipbip (nhwqbnbbn) htinny < {hinp 19900 7 139.3
33691410/504 phihwlwl wgnwtyniphp (nbiwgbunubn) hbinniy QL {hinp 1780 10 17.8
33691410/505 phuhwlwy wanwiniptin {nbwgbiunbip) hannily Q< \hwnp 2500 2 5.0
33691410/506 phupwlwt wanuwiyniptn (nbwgbtnlby) htinny < {hwnp 3500 1 3.5
33691410/508 phupwlwt wanwiyniptip (nBwqttintbin) hannuy GL hwp 1698 10 17.0
33691160/501 dhwlwt wqnwijniptp (nbwghtinttn) < hwun 170100 1 170.1
33691160/502 [Ehuhwuw'u wqnuwinyehip (nbwgbunubp) Q< hwwn 105900 7 741.3
33691160/503 huhwlwl warnwlynyetp (nbwgttnubn) 9L hwwn 708000 2 1416.0
33691160/504 phupwlwt wqnuwiynyztp (nbwgbunlbin) < huwin 147800 2 295.6
33691160/610 dhuwljwl wgnwlynyebip (nbwghinttn) QL hwwn 162000 5 810.0
33691160/611 huhwluwl wanuynyehp (nbwgbnubn) QL hwwn 205400 3 616.2
33691160/612 phupwluw wqnuwynietp (nbwgllnlibin) QL hwin 141000 3 423.0
33691160/613 dhwlwy wgnwlynipbp (nbwghtinltin) < hwn 18000 4 72.0
33691160/614 phuhwlwt warnwiynipkp (nbwgkunlbn) 9L huwiwn 220000 12 2640.0
33691160/615 phupwlwl wqnuynyebn (nbwqblnubin) GL hwwn 39000 40 1560.0
33691160/616 phupwljwl wanwlnpbn {nbwgbuwnubp) 9L hwin 225000 4 900.0
33691160/617 phuibuwljwl wonulynipbp (nbwgblnlibpn) QL hwwn 36000 20 720.0
33691160/618 phuhwlwl wqnubjnipln (nbwgbunubin) QL huwwn 137700 1 137.7
33691160/619 phihwlwl wanwynatip (nbwgbtnlbn G hun 60000 3 180.0
33691160/620 phihwlwl wqrwlyniptin (nbugbunttn) 9 hwitn 60000 3 180.0
33691160/621 phipwlwl wgnuynptp (niwgblnlbn) 9L huwin 495000 3 1485.0
33691160/622 pupwlwl wgnwnipbin (nbwgbuwnubip) L hwn 480000 2 960.0
33691160/623 dhwlwl wgnulynietp (niwghtunttin) q< hww 415000 2 830.0
33691160/624 phupwuwt wapuwiynyebp (nbwgbunubin) < hwn 414000 2 828.0
33691160/625 phuhwljwl wanwljnyplbp (nbwghlnbp} QL hwwn 414000 2 828.0
33691160/626 phuhwlwl wqnwynyaip (nbwgbinttp) < huwwn 415000 2 830.0
33691160/627 phuhwlwl wanwlynyebp {nbwgbuwnubip) < hwun 485000 2 970.0
33691160/628 phihwljwl wanuljnyebip (nbwgblinbn) 9L hwwn 415000 2 830.0
33691160/629 phupwwl wgnuityniptp {nbwgblnubn) qL huwn 415000 2 830.0
33691160/630 huhwlwt wqnuwlniphn (nbiwgbnubin) qL hwtn 415000 2 830.0
33691160/631 phuhwlwy wqnwiynipkp (nbwgbunutp) 9L hwwn 525000 2 1050.0
33691160/632 phupwlwl wgnwynipbp (nbwgblnubn) QL huwin 485000 2 970.0
33691160/633 hupwlwl wgnwlnipbp (nbwgbUnbn) L hwun 415000 2 830.0
33691160/634 dhwlwl wgnwinyatin {nbwgbtwnubp) 9< hwin 415000 2 830.0
33691160/635 phupwlwt wonwlynyetbp (nbwgbiuinlibn) Q<L hwin 445000 2 890.0
33691160/636 phupwywl wgnuwlniptip (nbwqbnubin) GL hww 415000 2 830.0
33691160/637 phuhwlwt wgnwtynipbp (nbwgbuwnutip) < huwin 54000 8 432.0
33691160/638 phuhwluwt wanwlyniebp (nbwgbunutn) L hwun 165600 2 331.2
33691160/639 Uhwlwy wanuynpbp (nbwgblntbn) aL huwin 13000 8 104.0
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33691160/640 phupwlwl wgnwljnyptp (nbwgblnttn) QL hwiwn 66000 2 132.0
33691160/641 phuhwljw wgnuinipbn {nbwqgblnbin) aL hwwn 22500 12 270.0
33691160/642 phipwlwl wgnwbynyatbp {nbwgbunubp) GL huwwn 55000 2 110.0
33691160/643 huhuwlwl wqrwynipbp (nbwgbuntbn) < hwwn 152200 7 1065.4
33691160/644 huhwlw wanwlynetp (nbwgblnutin) 9L huwwn 490000 1 490.0
33691160/645 phupuliut wqnulyniptp (nbwqbluinubp) G hwwn 410000 1 410.0
33691160/646 dhwlwl wanwlyniptin (ntugblntn) 9L hwiwn 410000 1 410.0
33691160/647 phupwlwt wonwlynyptp (nbwgbnltin) <L huwin 410000 1 410.0
33691160/648 phihwlywt warulnipbp (nbwgtlunttn) q< hwiwn 410000 | 410.0
33691160/649 phihwlwl wgnulyniyatip {nbwgbuwnlbn) 9L hwun 410000 1 410.0
33691160/650 hahwlul wonwlynietp (nbwgblinbtn) 4L hwun 15000 12 180.0
33691160/651 phipwlwl wgnuiynipbp (nbwgbnubip) < hwun 15000 12 180.0
33691160/652 Uhwlw wqnulynietp (nwqlunlbin QL huwwn 120000 3 360.0
33691160/654 huhwlwy wqrnwlyniptp (nbwgbtinutin) 9L hwwn 18400 6 110.4
33691160/655 phihwywu wgnwlynyetip (nbiwgbuwnubp) QL hwwn 30000 3 90.0
33691160/663 phuhwljwl wonwljnipp (ntwghbUwnubn) < hwn 360000 6 2160.0
33691160/664 phupuwiluy warwlynyebip (nbwgllntitip) 9L huin 86600 1 86.6
33691160/665 dhuwljwl wgnwijnipbp (nbwgbunutn) QL hwwn 90000 1 90.0
33691162/501 jwpnpwwnnp wgnulgnipbn (nhwgtlnttin) a< hwin 143100 3 429.3
33691162/502 {wpnpwwnnp wqnwnuatip (nbwgbuwnubp) QL hwwn 114000 3 342.0
33691162/503 Jwpnpwnnp wanwtnipbip (nbwgblnutip) QL hwwn 124200 3 372.6
33691162/504 {wpnpwnn wqnubnysbip (nbwgbinbibn < hwwn 435000 10 4350.0
33691162/505 jwpnpwwnnp wqnubnipbip (nbwgblnltn) 9< hwin 183600 10 1836.0
33691162/506 {wpnpuwnnp wqnuwnipbp (nfwgbnbbn) G< huwn 42600 3 127.8
33691162/507 [wpnpwwnp wqnwniptn (nbwgbuwnutin) 9L hwwn 39200 4 156.8
33691162/508 [wpnpWhp wgnuwiljniplp (nbwgblintbp) <L hwin 684000 10 6840.0
33691162/509 jwpnpwunnp wanwbnystip (nbwgblnutip) G hwin 190400 4 761.6
33691162/510 (wpnpwinnp wonwynptn (nbwgbiinubip) QL hwn 699000 3 2097.0
33691162/511 pupnpuwnp wgnwniphp (nbwgbunubn) G hwwn 699000 3 2097.0
33691162/512 jwpnpwinnp wanulynystin (nbwgtlnttin) AL hwin 300000 3 900.0
33691162/513 jwpnpwwnnp wanuwynuetip {nbwgblwnubip) 9L hwwn 199800 10 1998.0
33691162/514 wpnpwnnp wgnwunyatin (ntwgbnbn) < hutn 197100 2 394.2
33691162/515 {wpnpwwnnp waruwnietip {nbwghblwnubn) Q< hwin 174800 1 174.8
33691162/516 Jwpnpwinnp wanwigniplp (nbwghbunltin) QL huwin 143100 6 858.6
33691162/517 (Wpnpwnnp wgnuijnyetn {nbwgblnubp) QL hwwn 206600 3 619.8
33691162/518 jwpnpwinnp wqnwlynipbp (nbwghnltin) L huiwn 108350 8 866.8
33691162/519 {wpnpwinnp wanwynuyatip (nbwqblunutin) QL hwwn 180900 4 723.6
33691162/520 jwpnpwnnp wqnwlynipbn (nbwgblinubin) 9L hwin 52000 2 104.0
33691162/521 (wpnpuwinnp wgnwyniptn (nbwghbuwnubip) GL hwin 330000 2 660.0
33691162/522 jwpnpwnnp wqnwlyniebp (nbwgblnlbn) 9L huin 190400 6 1142.4
33691162/523 (wpnpwinnp wgnuynpbin {nbwgbwnubn) QL hwun 126000 6 756.0
33691162/524 (wpnpwnnp wgrutynyabip (nbwgbintbin) 9L huwwn 193800 8 1550.4
33691162/525 (wpnpwnnp wgnuiujnyztn {nbwgbunubip) GL hwwn 206600 6 1239.6
33691162/526 (wpnpwwnnp wgnwiyniatin {nbwgbunubp) G< hwwn 130900 6 785.4
33691162/527 jwpnpwinnp warulynipbn (nbwgktinttin) AL hwin 197100 5 985.5
33691162/528 {wpnpwwnp wgnuwiynuetip (nbwgblnubip) G< hwwn 189000 3 567.0
33691162/529 (wpnpuwitnnp wqrutyniptp (nbwgbunubin) 9L hutn 143100 10 1431.0
33691162/530 [Wpnpwtnnp wgnuilynytp (nbwgbuwnubp) QL huwn 128900 2 257.8
33691162/531 jipnpwnn wgnuynptin (nbwgbuwnubp) < hwwn 345000 10 3450.0
33691162/532 Jwpnpwnnp wanwlynyplin (nbwghtwnubp) 9 hwtn 136400 10 1364.0
33691162/533 jupnpuwWNp wanwunietp (nbwgbuwnubin) G< hwwn 124200 10 1242.0
33691162/534 |wpnpwLnnp wgnwlynyphin (nbwgbtintiin) QL hwn 155900 10 1559.0
33691162/535 (wpnpwwnnp worutynietin {nbwgbuwnutip) Q< hww 138000 16 2208.0
33691162/536 upnpwinnn wgnwjnetin (nbwgbuwnubin) aL huwin 39200 10 392.0
33691162/537 (wpnpuwinnp wgnubjnuatin {nbwgbuwnubip) QL hwwn 540000 2 1080.0
33691162/538 jpnpuitinp wgnuniptn (nbwgblnubin) QL huin 141800 2 283.6
33691162/539 (wpnpuwnnp wgnwjniptn (ntiwgbwnubp) L hwwn 145000 8 1160.0
33691162/540 jwpnpwwnnp wanwynuetp (nbwgbuwnbn) L huitn 111400 8 891.2
33691162/541 jupnpwnnp wgiwljnpbn (nbwqgbinubin) 9L hwwn 187700 8 1501.6
33691162/542 {wpnpwwnnp wqrnuwnietp {nbwgbnutip) L hwwn 147200 8 1177.6
33691162/543 pupnpwinnp wgrulynetin (nbwghunubp) < hwwn 144000 8 1152.0
33691162/544 {wpnpwwnnp wqrnwnyatn (nbwghbuwnubin) QL hwwn 168000 5 840.0
33691162/545 jupnpwnnp wonwlynpln (nbwgblnubip) Q< hwwn 157900 5 789.5
33691162/546 |wpnpwnnp wgnuiyniptn (nbwgbtnutp) L hwwn 126000 3 378.0
33691162/547 jwpnpwinnp wanwlynielp (nbwgblnltin) 9L huwwn 111000 12 1332.0
33691162/573 (wpnpwwnnp wanwiynyetin {nbwgblnubn) G hwwn 178200 5 891.0
33691162/574 jpnpuwinnp wgnwyniptn (nbwghunubip) q< hwwn 150000 8 1200.0
33691162/575 (wpnpwwnnp wanwlynplin {nbwgblinubin) QL huwun 159900 2 319.8
33691162/590 (wpnpwinnp wgnuwyniebip (nbwgbunubn) L hwin 58000 3 174.0
33691162/654 pnpwnnp wqruiynyatip (nbwgttinttin) L huwn 64000 3 192.0
33691162/666 {wpnpwnnp wgnwniebp {nbwgbtinubin) Q<L hwin 155900 3 467.7
33691162/713 jwpnpuitnnp wqnunipln (nbwgbnubn) L huiun 148500 3 445.5
33691400/501 phupuwljwl wanwljnipbp (nbugbtnutn) puguwlyniynulun qc Inwluqy 174000 4 696.0
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33691400/502 phihwywt wanwyniepbp (ntugbuntubin) pugiulniyntbtn QL (pwluqy 85000 3 255.0
33691400/503 phupwwts wanwnyetin (nbwgkuwnubn) puqduinduntbn QL nwiljuead 195000 2 390.0
33691420/501 wpnpwnp wanwujnyptp (ntiwgbtntibin) puquiwynuynubun L |nwiljegu 525000 8 4200.0
33691420/502 (wpnpwnnn wenuujnitp (nbwgblnttn) pluguwyndynubln gL (g 525000 4 2100.0
33691420/503 {wpnpwunnn waubnietin (nbwgblinutn) pwquwlnuunutiin q< (nwljwgd 148700 460 68402.0
33691420/504 {WpnpWND wanwjniatn (ntwgbuntbn) puquwynuyntbun Gl (nwilywqd 46080 400 18432.0
33691420/505 (wpnputhnp wgnuinuatin (nbwghtntibin) puquwndynubun &< (g 240000 5 1200.0
33691420/506 Lwpnpwnnp wanubniptn (nbwgblwnutp) puqiwynduntitin < (nwluqy 100000 1 100.0
33691420/507 JWpRpWWAN Wwanuiniptn (nbwgbutnutin) pugdwnuiyntibun q< (nwljwad 114000 1 114.0
33691420/508 [wpnpwunnp wanubnystip (nbwgblnbbn puwqiwlniuynubitin G nwiljlugu 210000 8 1680.0
33691420/509 {wpnpwwnnp wanwnabip (nbwgblnbbn) puiquwyndynubtn G< (nwilyugqy 240000 7 1680.0
33691420/510 (wpnpwinnp wqnuynyetin (nbugbtnttin) puquwyndynubuwn G< (nwilywgd 66000 1 66.0
33691420/511 (RPN wenwtyniptn (nbwgbuubn pugiwlndwntbun 9L [nwywad 416667 3 1250.0
33691420/512 (wpnpwinnp wanwyniphn (nbwgbuwnubin) pugdulndyntbn qg (nwiljugd 416667 3 1250.0
33691420/513 jupnpwannn wanubnyztin (nbwgbtnttng pwqdwlndwnubun a< (Puljugd 288000 1 288.0
33691420/514 (Wpnpwnp wgnwnipln (nbiwgbnubip) puguwlnuynubin q< (nwljuqy 61200 5 306.0
33691420/515 {wpnpwnnp wanwniptn (nbwgbkunubin) puguwlniyntbun QL (nwlwuqy 61200 5 306.0
33691420/516 {wpnpwitnnp wanwynietn (nbwgblnutin) pwquwlndunutblin QL g 61200 5 306.0
33691420/517 {wpnpuwnnn wqnwbnystip (nwgbtnbibn) pwquwlyndynubtn G nwilyugd 36800 5 184.0
33691420/518 [wpRpwnnp wnwlnpln (nbwqtlntbp) puquwnuynubun QL (nwilpuqd 540000 2 1080.0
33691420/520 (wpnpuwnnp wgnwgnyetp (ntwgktintbp) puqiwyndynlbiun 9L [uwlwqd 26000 5 130.0
33691420/521 {wpnpwinnp wanubnyatip (nbwgblntting pwqiuyndunubtin q< nwiljwqd 397500 4 1590.0
33691420/522 |wpnpuwnnp wgnujnuetin (nbwgbwnubn) pugdwlndunubn Q< nwiljugy 360000 1 360.0
33691420/706 |wpnpwnnp wgnuynptin (nbiwgblintbin) puquwyndynubun G nwiljugd 330400 1 330.4
33141211/501 pdplyuwiljwl wy) gnpdhplbp — wwpwgwubp < huwwn 582 12 7.0
33141223/506 pdolywljw w)| gnpdhputp — wuwnwgwtbn pugdulndugnubln 9L Inwlwqu 51000 15 765.0
33141223/507 petplwiljwit wy| gnpdhplbin wuwpwguwbp puqdwlniynubun QL Inwljuqy 25999.5 4 103.998
33191310/503 thnpawunpubp 9L huwin 116.667 12000 1400.0
33211140/501 Fhipnighu Bilrubin /Cunhuliny: — nuhn ghifnighth apr2duls | g ¢ huwin 20.28 6000 121.7
rhup-hwywpwdnt
33211150/501 Uhquiyjnie Urea-Col/Uhquitynizh npnadwl phup-hwwywpuwdnt QL hwwn 2.3 5000 106.5
33211160/501 :'J“:;‘J'::T;:“l CREA-Col /Mpbunnhtbth nprgdult R6UR- ac huitn 9.57 5000 479
33211230/501 MRN-uipprts RPR CARBON /Uphiuh npnzdul ple- 9< huitn 109.375 12480 1365.0
hwyuwpwdny
33211320/502 Zhwwwhw B Jhpmuh wunhgbuh npulwljwt hwjntwpbipdwl ac huwn 105 9600 1008.0
rhufp-hwywpwdnt
33211321/501 Couunnfun C dppnicy wlinFgfU Pl huurbuptndit 9 hun 97.88 9600 939.6
Mlmuﬁn[
33211321/502 Chujunbun C dppniaf whhghuh npwlyuliuts hugntupbpduli | g i 105.36 8000 842.9
bup-hwywpwidnt
33691160/666 phihwljwl wgnwynptn {nbwgblnubn) QL huitn 12.6 2000 25.2
33691160/667 phuhuwlwl wynwlyniphp {nbwgbunubn) QL hwwn 18.0 30000 540.0
33691160/668 phupwlwt wgnwlniyplip (nbwgbiunubin) L huin 178.2 1000 178.2
33691160/669 phupwlw wgnwlynyetip (nBwgblnubnp) < hwn 18.0 5000 90.0
33691160/670 phuhwlwl wanunpbp (nbwqbitunlibn) <L hwwn 26.4 1400 37.0
33691160/672 phihwlwl wgnwityniebp {ntwgbuwnubin) QL hwin 7.536 3000 22.6
13601160/673 phupwlwl wgnwniplp (nbwgtnlbn) q< hwitn 8.76 2000 17.5
33691160/675 phipwlwl wgpuiniplp (ntiwghunubp) q< hwn 33 800 26.4
33691160/676 phihwlw wgnwyniebp {nbwgbuwnubp) L hwun 26.4 1400 37.0
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33691160/677 phupwlwl wgnwlnyptp (ntwgbnlbn) < hwn 26.4 1000 26.4
33691160/678 phupwlwl wanwtjnipbp {nbwgblnubin) QL hwin 19.68 20000 393.6
33691160/679 phupwuw wanwniyatin {nbwgblwnubp) 9L huwwn 83.28 15000 1249.2
33691160/680 hipwlwl wgnwnipbp (nbwgbinubin QL hwwn 345 192 66.2
33691160/681 phihwlwl wgnwynyatip (nbwgblnubn) < hwin 345 192 66.2
33691160/682 hupuwyw wgrutynystin {nbwgbnukn) < hwun 393.75 960 378.0
33691160/683 phuhwluwt wanuiyniptp (nbiwqttunuibin) < hwin 393.75 960 378.0
33691162/714 jwpnpwnnp wgnuyniplp (nwghnutn) 9L hwwn 155.13 9600 1489.2
33691162/715 jwphpwinnp wgnwlynigbip (nbwgbuntbn) gL hwun 1120 1152 1290.2
33691162/716 jwpnpwwnnp wqnuynyatin (nbiwgbuwnutn) <L hwn 640 480 307.2
33691162/717 (wpnpuwinnp wanwniatip (nbwgbuwnubn) QL huwwn 640 480 307.2
33691162/718 {wpnpwnnp wqnubnpbip (nbwgblnbbn) 9< hwin 640 480 307.2
33691162/719 (wpnpwnp wgnuwlniptp (nbwghunubin) G< hwin 153.75 5760 885.6
33691162/720 Jwpnpuwinnp wanutniptip (niugblntitin GL hwwn 69.36 8000 554.9
33691162/721 {wpRpwwnnp wgnwynietbp {nbwgblnutin) QL hwun 405.6 600 243.4
33691162/722 pnpuinnp wanugnphp (nbwgblnibn) G& huwtn 118 600 70.8
33691162/723 {wpnpwwnp wanwbnabip (nbwgblnbbpn) L hwin 33.84 1800 60.9
33691162/724 (wpnpwinnp wanwinielip {nbwgblnutin) 9L hwwn 1000 60 60.0
33691420/707 |wpnpWND wanwniatp (ntwgbuntbin) puquwynuiyntbln QL Inwlwgd 74000 25 1850.0
33691420/708 (wpnpwinnp warugnypkp (nbwgblnttn) puguiwyndynubiun &< (nwilpqd 62000 15 930.0
33691420/709 (wpnpwinnp wgnubgniptin (nbwgtiinttin) pugiwyndynubiin q< (nwlwqd 48000 150 7200.0
24311360/502 uwwphnwh pinphun G hjngpwd 2 0.0
24321650/501 athgbippu < Uhingpud 0.1 0.0
33141211/524 pdolywlul wy| gnpdhpubp — wwpwgulbn QL hwun 10 0.0
33141223/508 pdslwluts w)| gnpdhputin — wwpwqubp pwguwlndwntbun qg [Pwiywqd 2 0.0
33611430/501 Luwghnuih jnnhr r05¢a02, s01xa04, y03ab21 9L Yhngpuwid 3 0.0
33691134/502 Lwihnh pinppr al2ba01, b05xa01 QL Lhngpwd 0.3 0.0
33691160/686 phupwliwl wgnwynyetp {nbwgbuwnutp) QL hwtn 1 0.0
33691160/687 dhwljwl wanuuynyehp (nbwgbntitp) AL huwin 1 0.0
33691160/688 phihwlwl wgnwlyniplp (nbwgblnubn) QL hwun 1 0.0
33691160/689 phuhuwlwl wqnwljnyebp (ntwqgbnubin qL hwn 1 0.0
33691160/690 phupwljwl wgnuitynyetp (nbiwgbuwnubp) QL hwn 1 0.0
33691162/725 jwpnpwnnp wgrwyniptp (nbwgblnutn) < hwun 1 0.0
33691162/726 wpnpwnnp wgnwbniphp (ntwgblinutin) 9L huwwn 1 0.0
33691162/727 {wpnpunnp wanuwntip (nwgbnbbn) < hwiwn 2 0.0
33691162/728 jwpnpwwnp wgnwniptp (nbwgbbnubn) < hwun 1 0.0
33691162/729 jwpnpuinnp wanwlyniplp (nbwgtbuntbn) QL hwwn 2 0.0
33691162/730 [wpnpwwnnp wanwbynipbp {nbwgblnubp) QL hwwn 1 0.0
33691162/731 jwpnpwnnp wanwlniptp (nhwghtntbp) 9L huiwn 1 0.0
33691162/732 (wpnpwunnp wgnubnyptip (nbwgblnubp) q< hwun 1 0.0
33691162/733 jwpnpwwnnp wanwniptn (nbwgblnubn L hwn 2 0.0
33691162/734 (wpnpuinnp wgnuynyatip (ntiwqbnubn) QL huitn 1 0.0
33691162/735 jwpnpuinnp wanuwiynetip (nbwgbnutin) QL hwin 4 0.0
33691162/736 |WRNpWWnp wqnuiynipbp (nbwgblntbn) < hwwn 1 0.0
33691162/737 upnpuinnp wanuwlyniptp (nbwgblnttin) G hwn 1 0.0
33691162/738 (wpnpwwnp wgnuitynietip (nbwgbunubp) L hwn 1 0.0
33691162/739 |WpnpwWnnp wqnuyniphbp (nbwgbntbn) G huwitn 1 0.0
33691162/740 (wpnpwinnp wanwunyetip (ntiwgbnubip) QL hwn 2 0.0
33691162/741 {wpnpwwnnp wanwbnyatip (nbwgblinbitn) 9L hwwn 2 0.0
33691162/742 wpnpiunnp wonuwlynipbip (nbwgblwnubip) qL hwun 1 0.0
33691162/743 (wpnpuinnp wgnunetp {nbwgblnubp) < hwuwn 1 0.0
33691162/744 jwpnpwwnnp wanwnipbip (nbwghnttip) ag huwitn 1 0.0
33691162/745 (wpnpuwnnp wgnuinptip {ntiwqbunubp) 9< hwiwn 1 0.0
33691162/746 {wpnpwinnp wgnwniplp (nbwgbuwnutip) 9L huwin 1 0.0
33691162/747 jupnpuwinnn wanwiynpbn (pbwgblntibn QL huwin 3 0.0
33691162/748 (wpnpwwnnp wanwtynipbp (nbwgbuwnutp) QL hwwn 1 0.0
33691162/749 wpnpwwnp wgruwbjnipbp (nbwgbnubn) L huitn 1 0.0
33691162/750 pupnpuinnp wqruwtynyatip (nbwgblnttin) QL hwn 1 0.0
33691162/751 jwpnpwunnp wanwbnuatip {nbwgblintitn) q< hwwn 1 0.0
33691162/752 |wpnpuwnnp wgnwunyetin (nbwgbtnutin) i hwn 1 0.0
33691162/753 (wpnpwnnp wqruwtyniptp {nbwgblwnutn) GL hwtn 2 0.0
33691162/754 jwpnpwnnp wanwiyngtp (nbwgbtuntbn qc huwin 2 0.0
33691162/755 jwpnpwnnp wanwtynyebp (nbwgbtintbn) q< hwun 2 0.0
33691162/756 (wpnpwitnnp wgnwyniplp {nbwgbuwnubp) Q< hwun 1 0.0
33691162/759 (wpnpuwitnnp wgnwnetip (nbwqbiuinubip) 9L huwin 1 0.0
33691162/760 {wpnpwnnp wqnwbnuebin (nbwgblinbibn) QL hwn 1 0.0
33691162/761 jupnpuwinnn wonwiniptn (nbwgblntbn) < huin 1 0.0
33691162/762 jwpnpwnnp wgnuibyniplin (nbwgblnubp) < hwtn 1 0.0
33691162/763 jwpnpwnnp wgnwiyniptn (nbwgblnubin) Q<L hwwn 1 0.0
33691162/764 pupnpuinnp wanwniptip (nbwgbuwnutn) L huwin 2 0.0
33691162/766 (wpnpwinnp wgnwunyatip (nbiwqbunubp) < hwwn 1 0.0
33691162/767 jwpnpuwnnp wgnwnietp (nbwghnutin 9L huwn 1 0.0
33691162/768 jwpnpuwitnnp wgnwnietp (nbwgblnbin) < huwtn 1 0.0
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33691162/769 {wpnpwnnp wgruynuatip (nbwgblnubin) < hwn 1 0.0
33691162/770 (wpnpuwitinp wgnwjniptip (nbwgbtiinubip) GL huwiwn 1 0.0
33691162/771 (wpnpwwnnp wgrnwnuatip {nbwgblwnubip) <L hwn 2 0.0
33691162/772 jwpnpuiunng wqnwinyebip (nbwgklnltn) aL huwwn 3 0.0
33691162/773 {wpnpwnnn wanwnipbip (nhwgbnbbn) gL huwwn 2 0.0
33691162/774 jpnpwwnp wgnuyniptp (nbwghuinubp) L hwn 1 0.0
33691162/775 {wpnpwwnnp wgnwjniplin (nbuwgbnubp) G hwtn 1 0.0
33691400/504 phuhlywl wanwujnystin (nbiwgbnttin) puquwlniynubln q< (nwljwqd 1 0.0
33691410/509 dhwlwl wgnwinipbp (nbwgbnttin) hbnniy QL {hwp 0.5 0.0
33691410/510 phupwlwl wgnwilynipbp (ntiwgblnubip) hinniy 9L hup 0.1 0.0
33691410/511 phupwlwl wqnwyniyplp {nbwgbuwnubp) hbnniy a<L {hwp 20 0.0
33691410/512 phuihwlut wgnwlynipbp (nbwgbituibin) hhnniy 9L thwp 20 0.0
33691410/513 phihwlwl wanuwlynyetip (ntwgbtntibip) hbnniy L {pup 1 0.0
33691411/503 phiihwlwl wanuuniptn (nbwqblntbn) thnzh Ywd gpwnylbp G Yhingpwd 0.5 0.0
33691411/504 phuhwwl wanwjniptn (nbwgbiunttin) thngh Yuwd qpuitinyubip Q<L Yhingpwd 0.5 0.0
33691411/505 phupwlw wqnuwunyetp (nbwgblnubin) thngh Yud gpuwnyutip QL Yhingpuwd 0.5 0.0
33691411/506 phuhwluwt wanwlyniphp (ntiugbunubin) thngh Ywd gpuitinyltip < Uhingpwid 2 0.0
33691411/507 phipwlwl wanwyniptip (ntiwgblntibp) thngh Yud gpuiuniutn q< Uhingpuwd 2 0.0
33691411/508 phihwlwl wgnutymptin (ntigbtinbin) thngh Ywd gpuiinyltip QL Uhingpuid 3 0.0
33691411/509 phuhwljwl wgnwiynipbp (nbiwgbutntibn) thngh Yud gpwuniubp q< Yhpngpuwd 30 0.0
33691411/510 phuhwlwl wanwjnuatn (nbwgtuwnubip) tingh Yud gnwlnyubp 9 Yhinanuwd 40 0.0
33691420/710 (wpnpwnnp wanuwniebp (nbwgblnutbin) pugduwlnuyntbtn q<L [nwlugy 1 0.0
33691420/711 (wpnpwwnnp wanwynietn (ntwgbtnttin) puguwynuynubtin Q< [nwlwqu 1 0.0
33691420/712 {wpnpwwnp wanwynyetn (nbwgbnubin) pwquulyniynutiin Qg [nwlwqd 1 0.0
33691420/713 |wpRpwnnp wgnuibniatn (ntiwgbuntbn) puguwndyntiln 9L Inwljugy 1 0.0
33691420/714 [wpRpwLnnp waulnpbn (ntwgttntibin) puquwlndynubun QL nwlwgd 30 0.0
33691420/715 (wpnpwtinn wgnwugniplp (nbwgbtuntitin) pwquwyndynubun q< [Nl 4 0.0
33691846/501 hinpnuwpeny |puintwpEnt QL Yhngpuwd 0.5 0.0
33141211/534 ndolwlywl wy) gnpdppubin - wwpwgwubp QL hwwun 800 0.0
33141211/535 pdolwiljwiu wy)) gnpdhplbip — wwpugquilibp QL hww 800 0.0
33141211/541 ndolywlywits wy) gnpdhplbip - wwpwgwubp QL hwn 550 0.0
33691160/692 phuhwlwl wqnwyniptp (nbwgblnbbin) <L hwwn 120 0.0
33691160/693 phihwluwl wgnubynpbp (nhwgblinbbn) aL huwin 5 0.0
33691160/694 phuhwywt wgnwlynipbp (nbwgbuwnutbn) 9L hwwn 2 0.0
33691160/695 phuhwlwl waqnwibjnplin {nbwgblwntbip) QL huwtn 2 0.0
33691160/696 phihwlwi wgruwniephp {nbwgbuwnubp) Q<L hwun 2 0.0
33691162/776 (upnpwnnp wgnuwnyetp (nbwgbuwnutin) L hwuwn 1000 0.0
33691162/777 (wpnpuwnnp wgnwlnyptp (nbwqgbuwnbip) QL huwin 1000 0.0
33691162/778 |wpnpwunnp wqnwbnyebip (nbwgblinbbn) QL hww 1000 0.0
33691162/779 jupnpwinnp wonuynipln {nbwgbuwnbin) GL huin 1000 0.0
33691162/780 [wpnpwnnp wgnwyniptp {nbwgbunukp) Q<L hwun 1000 0.0
33691162/781 jupnpwnn wguynptip (nbwgbnubin qL huwitn 1000 0.0
33691162/782 jwipnpwnnp wanwynytin {nbwgblnubip) QL hwwn 1000 0.0
33691162/783 jpnpunnp wgnuunipbp (nbwgbuwnbbip 9L hwin 1000 0.0
33691162/784 jwpnpunnp waruwlynyatip (nkiwgtlntibip) QL huwwn 1000 0.0
33691162/785 jwpnpwwnp wgnwniptp (nbwgbnlubp) QL hwn 1000 0.0
33691162/786 (wpnpuwnnp wgnwunptp (ntwqgbnubin) QL hwin 1000 0.0
33691162/787 (wpnpwinnp wgnuwpniyetip {nbwgblnubp) 9L hwwn 1000 0.0
33691162/788 jwpnpwwninp wgnwuynyebn (nbwgbnubn) L hin 1000 0.0
33691162/789 jwpnpwwnnp wgnwiynyetip (nbwgbwnubp) L hwn 1Q00 0.0
33691162/790 (wpnpwwnnp wgnwunipbp (nbwgblnutin) % hwtn 1000 0.0
33691162/791 jwpnpwnnp wgnwljnipkin (ntiwgklwnubpn) L hwun 1000 0.0
33691162/792 jupnpwiwnnp wgnwniphp (nbiwgbnubin 9L huiwn 1000 0.0
33691162/793 (wpnpwwnnp wgnwlynuyatin (nbwgbtnubp) 9L huwiwn 1000 0.0
33691162/794 jwpnpwwnnp wgnuniptp (nbwghbuwnubip) a< huitn 1000 0.0
33691162/795 wpnpwnnp wgnwlynyatip (nbwgbunubp) QL hwn 1000 0.0
33691162/796 (wpnpwnnp wgnwniphp {nbwgbunubn) QL hwiwn 1000 0.0
33691162/798 (wpnpuwinnp wgnwuniphp {(nbwgblwnbip) QL hwn 1000 0.0
33691162/799 (wpnpwinnp wgnwyniplp {nbwgbuwnutip) Q< hwun 1000 0.0
33691162/800 (wpnpuwinnp wgnuwujniplp (nbwgbuwnutn) aL huitn 1000 0.0
33691162/801 |Wpnpwnnp wgnwlynyetbp (nbwgbunubn) L hwn 1000 0.0
33691162/802 jpnpuitinp wiqnuyniptn (nbwghuwnubin) 9L hun 1000 0.0
33691162/803 |wpnpwiwnnp wgnuynptp (nbwgblnubp) QL hwn 1000 0.0
33691162/804 (wpnpwwnnp wgnuwyniyebp (nbwgbunutin) GL hwwn 1000 0.0
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33691162/805 (wpnpwwnnp wqnuiyniplp (nbwgbUwnltp) L hwwn 1000 0.0
33691162/806 (wpnpwinnp wigwnyebip (nbwgbuwnutn) < hwwn 1000 0.0
33691162/807 |{wpnpwinhp wgnuniptin (nbiwgbtinubp) QL hwitn 1000 0.0
33691162/808 (wpnpwnnp wgnuiynipbp {nbwgbuwnubp) Q<L hwn 1000 0.0
33691162/809 jwpnpwinp wonulnetip (nbwgbluntibtn 9L huwtn 1000 0.0
33691162/810 [wpnpwnnp wanwiyniatp (nbwgbuwnubp) Q< hwn 1000 0.0
33691162/811 jwpnpwwnp wgnwtnuetip {nbwgblnubn) QL hwiwn 1000 0.0
33691162/812 jwpnpwinnp wanuniptip (nbugbluntitn) 4L hwin 300 0.0
33691162/813 {wpnpwnnp wqnwbnyabip (nbwgblinbibn) 9L hwwn 1000 0.0
33691162/814 Jwpnpwnnp wanubnipbip (nbwgblinltin) Q< hwin 1000 0.0
33691162/815 wpnpwnnp wgnwlynyetip {nbwgbuwnbp) q< hwin 1000 0.0
33691162/816 jwpnpwunnp wanwbnyabip (nbwgblnbibn) < hwwn 1000 0.0
33691162/817 jwpnpuwinnn wonwjniat (nbwgtluibn) aL hwwn 500 0.0
33691162/818 jwipnpwnnp wqnubngebip (nbwgbnbibn) < hwn 1000 0.0
33691162/819 (wpnpwinnp wgnuwnyep {nbwgblnubp) Q<L hwwn 1000 0.0
33691162/820 jupnpwinnp wanuwlyniebp (nbwgbuntbn) 9L hwwn 1000 0.0
33691162/821 jwpnpwunp wanwtynyebip (nbwgblnbbn) aL hwin 200 0.0
33691162/901 jwpnpunnp wanwniptp (niwgbuubp QL hwun 400 0.0
33691162/902 {wpnpwnnp wgnwbnysbip (nbwgbnbibn) G hun 200 0.0
33691162/903 jwpnpwnnp wanwbnusbip (nbwgblnttn) q< hwwn 1000 0.0
33691162/904 jwpnpwinnp wanuilyniphp (nbwgbklntbn) QL huiun 500 0.0
33691162/905 {wpnpwwnnp wanwbinysbip (nbwgblinlbn) 9 hwwn 300 0.0
33691162/906 (wpnpuwinnp wqnulnyetip (nbwgtinlbn) 9L hwin 300 0.0
33691162/907 {wpnpwinnp wgnwiyniptn {(nbwghuwnubp) L hwn 500 0.0
33691162/908 {wpnpwitnnp wgnuwiynietip {nbwgblnubn) q< hwun 1000 0.0
33691162/909 jwpnpuwwnnp wgnwuynystn (nbwgbuwnubn) S hun 300 0.0
33691400/505 phuhwlwl warwljnyebin (nbwgbnutn) puquwlyndynubun 9L Inwlwqd 2 0.0
33691400/506 phuhwlwt wanutjnipbp (nbwgbunutn) pwgdwyndwnubiun qc [nwluqy 4 0.0
33691400/507 phihwlwl wanwlynipbp (nbwgbuntbn) puiqiwlyniwnubiin Q<L (nwljugy 2 0.0
33691400/508 phuhwlwt wanwynipbp (nhwgblwnubn) pwgdwlndwnubn < [nwlugd 2 0.0
33691400/509 phihwlwl warwynyetip (nbiwgbnubp) pwqiwyndynublin 9< (nuwijugd 3 0.0
33691400/510 phuhwlwy wanwlnypbp (nbwgttnttin) puqiwyndynubin 9< Inwlwgd 3 0.0
33691400/511 phuhwlwl wqnwiynipbp (nbwgblnbbin) puquwlyndyntibun Gl Inwilyugqd 3 0.0
33691400/512 phupwlwl waonwynipbp (nbwgbuwnubn) pwquwnidwnutiun q< nwywgy 8 0.0
33691410/514 phuhwljwl wanwljnyebp (nbughiinutp) htinniy QL lhwp 3 0.0
33691410/516 phihuwljwy wqnwlynipbp (nbwgblnlbn) hbnniy Q< {hunp 30 0.0
33691411/511 phihwljwl wgnwiynyebn (ntwgbtntin) thngh Yud gpwunyubp 9L Yhingpud 2.5 0.0
33691411/512 phupwlwl wqnulyniebp (ntwqblntbin) thnzh Ywd gpuwtnyutip Q< phingpwd 1 0.0
33691411/513 phuhwlwt wanwynyebp (nbwgbunutin) thngh Yud gpuitinybip L Yhinagnuwd 3 0.0
33691411/514 phihwlwt wanwtynipbp (nbiwgbtwnutn) thngh Gud gpuitinyutip Q< hingpuwd 3 0.0
33691411/515 phihwlwl wanwlnyabip (nEwgblntbn) thngh Yud gpwnyutin QL Uhingpwd 2 0.0
33691411/516 phuhwlwl wgnwujniplin (ntwgttntibip) thnzh Juad gpwunyutin qL Uhingpwd 2 0.0
33691411/517 phuhwlwl wanwljnuypbin (nbwgkuwnubp) thngh Yuid gpwunyubp QL Yhingpuwd 0.5 0.0
33691411/518 phupwlwt wqnuwlynyetip (nhwgbuntbn) thnah Yuwd gpuiuniubin G< Uhingpwd 4 0.0
33691411/519 phuhwlwt wanuwiyniyptp (ntwghtntbip) thngh Yuid gpuwinybin Q< Uhngpwd 3 0.0
33691411/520 phuhwlwl wqnwiynyatp (ntwgbtintbip) thngh Gud gpuunyutip 9L Uhingpwd 0.25 0.0
33691411/521 phiihwljwl wanwyynyplip (nbwqblnlbp) gngh Yl gpwlnyubip q< Yhingpuwd 0.25 0.0
33691411/522 phuihulwt wanulynysbp (nbwgblntbn thngh Yuwd gpwtingibn q< Yhingnwd 0.5 0.0
33691411/523 phuhwywi wanwyniebp (nbwgbuinutin) thngh Yud gpuwtnyubip G< Yhingpwd 2 0.0
33691411/524 phihwlwt wanwiyniyetn {ntiwgbtwubp) thngh Yud qpuunuubp q< Uhingpwd 25 0.0
33691411/525 phipwlwl wanwnyatip (ntwgbtintbp) thngh Guad gpuwunyttip q< Uhingpwd 2 0.0
33691411/531 phuhwlwl wqnuynplin (nbiwgElwnubp) thingh Yud gpwtinyubip q< Yhingpwd 1 0.0
33691411/532 phuhwywt wanwniebn (nbwgbuwnubn) thngh Yud qpuatiniutn L hinapuwd 0.5 0.0
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33691411/533 phihwlwl wgnuwbyniptn (nbwgbwnubn) thngh Yud gpwnyubip G< Yhngpwd 0.5 0.0
33691411/534 phuhwlwy wanwtynietp (nbwgbtunttin) thnzh Ywd gpuinylbip L Ypingpud 0.25 0.0
33691411/535 phuhuwljwl wqnwiyniakp (nbwgklnttn) thngh Ywid gpuwtinyutp 9 Yhingpwd 1:5 0.0
33691411/536 phuhwlwt wanwljniptn (nbwgbintbin) thngh Guid gpwtinyltin 9< Uhingpuwd 1 0.0
33691411/537 phuhwlwt wanuwiyniptn (nbwgkunttn) thngh Yud gpuitinyutin aL Uhingnwd 2 0.0
33691411/538 phihwlwl wanwityniatn (nbusgtinttin) thnh Yuid gpulinyubp Q< Yhingpuwid 5 0.0
33691411/539 phuhwywi wanwlyniebp (ntwgblnltin) thngh Yuwd gputinglbp QL Yhingpwd § 0.0
33691420/716 {wphpunnn wanwbnpbip (nbwgbnbibn) puqiwlynduynubiin QL gy 5 0.0
33691420/717 (wpnpwnnp wanuwlynpln (nbwgbunttin) puguiwlndynubiun 9L (ulwqu 3 0.0
33691420/718 qwpnpwnnp wanulnipbin (nbwgtitinttin) pwquwlndynubin 9L [uwluugu 2 0.0
33691420/719 (wpnpuwinnp wgnwgniehbn (nbwqbtinbbn) puquwyndwyntbiin < (nwlwiagd 1 0.0
33691420/720 (wpnpwunnp wanwbnyetip (nEwglntbin) puwquwlnidunttiin Q< [pwluqy 1 0.0
33691420/721 (wpnpwnp wgnwyniptn (ntwgblinubin) pugquwlndynubin Q< Inwlgy 1 0.0
33691420/722 {wpnpwwnn wanwbnyebip (nbwgbntbn) puquwyndynubun gL [rwluqd 1 0.0
33691420/723 (wpnpuwinnp wanwlynyetin (nbwgbtinttin) puquwyndynubun Q< (Nl 5 0.0
33691420/724 (wpnpwnap wanwignuyebn (nbwgbtintbp) pwquwyndyntbun Qg (nwiywad 2 0.0
33691420/725 upnpwnn wanwniptn (nbwqblnibn) pwqdwyndwnutiin q< (nwjuqu 2 0.0
33691420/726 jwpApwWwnn wanwniptn (nbwgbuwnubin) puguwlnuynubin g (nwlwqy 2 0.0
33691420/727 (wpnpwitnnp wanwiyniplp (nbwgbtinubin) pugduilnuyntibin Q< (nwljugd 2 0.0
33691420/728 (wpApwnnp wanwbyniptn (ntugblinubip) puigdwlnuynubun Q< nwljwgd 2 0.0
33691420/729 (wpnpuwnnp wgnuljnyatin (ntwgbuntbn) puquwynuiynubn Q<L nwlwaqd 2 0.0
33691420/730 (wpnpwinnp wanuujnitn (nbwgttntibtin) puquwlnuynubln QL gy 2 0.0
33691420/731 jwpnpwnnp wanuinipln (nbughnttn) puigiwyndynubun qg (Pwiljugd 2 0.0
33691420/732 [wpnpuwwnnn wanuyniptn (nbwgbunubn) pugduinduntbn Q< [nw gy 3 0.0
33691420/733 (wpnpwnnp wgnwgniphn (nbwgbunubp) pugquwlniyntibun QL nwiljugqd 2 0.0
33691420/734 Jwpnpwnnp wanuwynyetn (nbwagtnutin) puquwlnidynutiun Q< [nwywgd 1 0.0
33691420/735 pnpwnnp wanuyniatp (nbwgbtunttin) puiguwlniynuuun G (wljuqd 1 0.0
qc 0.0
pdaljwljwts uwppuinpnudubip
33181110/506 hinnhwihgh uwpptip < hwin 5692500 1 5692.5
33181110/507 htnnhwihgh uwppbip q< hwin 6355900 1 6355.9
33181110/508 htdnnhwihgh uwppbp QL huwin 717600 1 717.6
33161200/503 Funnuynwubip q< hwiwn 13600000 1 13600.0
33111340/501 E‘J::;’;E”Z'j‘”“ qBnBujuul (Eun), nynpwdujuipl — Anun 9¢ huitn 13700000 1 13700.0
33171700/501 wqgwiwgdw uwpptip QL hwn 1 0.0
33191520/501 wpyw thnhuubipwpldwl uunpbip L hwwn 1 0.0
ThwGGwghu (dnunGnign) —/Gud BplwltagRu (phunljnuywn)
38511220/501 s i < hwn 1 0.0
38591200/501 phuhuwlwl jwpnpuwnnphwgnud Yppwnunn uwppbip qL hwin 1 0.0
33121200/501 upunh wohuwnwtiph huljnnnuejwl uwpphbip QL hwn 13 0.0
33121200/503 upinh wopuwnwlph huynnnipjwl uwppbip a< hwn 1 0.0
funtiwdwgywd prywduh dwinwlwpwpdwl uwppbp, npaup
3151270/50 : < 3 0.0
SRIERETORA Uhpwnynid B pRUwsuwht phpwwhwind & huin Y
42121310/501 pd7luwljwl wwinwlutipny Yhpwndnn wndwbp Q< hwwn 9 0.0
42121310/502 pdolwljwl bywinwlubipny Yhpwnynn wndwp G< hwin 18 0.0
42931100/501 ipnpuwnnphwlwl ghttnphbniqutn — wwnwgwubp QL hwn 1 0.0
42931100/502 jwpnpwinnphwlul ghtnph$mqutp - wjwpiquilbp 9L huin 1 0.0
0.0
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Upuwnwhwhg upnipbp

40 0.0
24451140/502 wunwhwuhy Wnuyabip Q< lg 5100 3 35
24451141/516 whunwhwitihg hbnnuy Ynyptin 9L {hwp 2100 500 1050.0
24451141/518 whutnwhwups htnnty Wnuetip Q< {punp 1615 200 323.0
24451141/520 wunwhwtpg htnnwy Wnuplip 9L {hwp 2500 20 50.0
24451141/521 whunwhwitihy hnnuy Ujnatn 9L (hwp 1493 525 783.8
24451141/522 whunwhwlps hnny Wnyabp G< |pwp 6000 400 2400.0
50 0.0
24451141/523 whitnwhwtihg htnnuy Unyetin G Lhwp 7990 5 749
24451141524 whunwhwUps htnnuy unuetin 9L {hinp 3400 200 680.0
24451141/525 whuinuwhwtpg htinnuy Unyatip QL {hwnp 7400 100 740.0
24451141/526 whunwhwhs htinndy byniebp QL {hwnp 1700 100 170.0
33111500/507 Spwip unbphihqughwih QL huwin 47 300 14.1
33111500/508 Spwip uwnbiphihqughwih QL hwn 58 10000 580.0
33111500/509 dpwp unbiphihqughwih 9L hwn 32 3000 96.0
33111500/511 dpwip unbiphhqughw)p < hwn 156 500 78.0
33111500/512 dpwip unbiphlhqughwih Q<L hwn 26 3000 78.0
33111500/513 3pwp unbiphihqughwih G hun 88 100 8.8
33111500/514 punhluwnnp wlpbwgbipdywbnipjwl < hwun 7.8 1000 7.8
33111500/516 hunhlwwunp dwunbwgbipdywdnypiwl QL huwwn 5.8 2000 1.6
7177.5
Eiiyunpuljwl wwypwtpubp
31711620/501 Lnwwnhnrwjpt (LED) (nwuwwnnt < hwn 1300 5 6.5
31711620/502 Lnwwnhnnuwihu (LED) (niuwwnn QL hwn 1200 20 24.0
31711620/503 Lnwwnhnnwht (LED) nwwinnt < hwuwn 1500 30 45.0
31711620/504 Lnwwnpnnuwht (LED) nuwwnnt < huun 3900 140 546.0
31711620/505 Lnwwnpnrpupl (LED) judy < hwwn 460 50 23.0
3711620/506 Lnwwnhnnwyht (LED) (nuwnnt AL hwwn 1200 20 24.0
31711620/507 Lnwuwrhnnught (LED) jnuwinnt < hwwn 7000 30 210.0
31512360/501 Lnwwpdwly wpinwpht 9L hwin 9000 5 45.0
31512360/502 dnnngh (nwinnt Q<L hwn 8544 10 85.4
31711620/508 Lnwwunt 60760, 96W 6500K GL hwwn 7100 20 142.0
31711620/509 Lnwwinnt 60*60, 96\ 6500K S hwiin 7820 20 156.4
31512360/503 Lnwwnhnnwjhu (LED) [nwunnt L hwn 2700 20 54.0
31211180/501 Utguwnhy ubily unbinuny Q< hwiwn 1200 15 18.0
31211180/502 Ubgwinhs dbl untinund wptnwphl GL hwtn 1400 15 21.0
31211180/503 Ulgwtnhs biplynt uinkinuny L hwwn 1500 5 7.5
31211180/504 Utguinhs bipynt unbinting wptnwiphl L hwin 1600 5 8.0
31684100/508 Jdwipnuwl haqwugnuwght dhwgnuing L hwwn 1400 25 35.0
31684100/509 Jwprwl hnnutignuiwht dhwgnuiny wpunwphl < huwwn 1586 15 23.8
31684100/501 Tpowliwly Ukl wbin q< hwwn 300 25 7.5
31684100/502 Thgwliwl bpynt wnbin qc huwin 600 15 9.0
31684100/503 Gpowliwly bipbip wkin G huwwn 900 5 4.5
31684100/504 rupngwly hnnwiugnuiny G hwin 280 30 8.4
31684100/505 Juwpnuly hnnubignuing bplupugudul jwinh hwdwp < huin 460 20 9.2
31231200/501 Ml wneRn FELnnuwgdtnh hudin plptulugnd q< hun 350 60 21.0
dwwwaliny
31231200/502 Utiyinnbpught bynpudntinwdwht innuh K806 G805 dnnbh < huwn 125 20 2.5
31231200/503 ::ugnnb[wjh'u ElGinpwdnuinwduht tnnwg K820-2 G-805 ac B 250 15 38
31931200/504 :::;E';mw}hh Funpwintinwdwhu wnw K820-3 G-805 ac i 400 10 40
31681700/503 Uyinntwn wlgwinhgubiph tinih wninupht bwnuwnbudws 2(+1) ac Sl 345 5 7
dnnnyubinh huidwp
31211180/509 Udunnuwwn wugwunhy < hwwn 4444 4 17.8
31211180/510 Uynndwn wugwnhs L hun 4244 4 17.0
31211180/511 Udinntwwn whgwinhy L hwwn 3644 4 14.6
31211180/512 Uginndwin wugwuhy G< huww 1244 12 14.9
31211180/513 Uywnndwin wugwinhy < hwin 1144 12 13.7
31211180/514 Ugunnuwin wugwunhy L hwwn 1044 12 12.5
44322200/501 Cnuwbiph dwinuu G dbwnp 178 100 17.8
44322200/502 <nuwtph dwiniu < dbwnp 238 100 23.8
44322200/503 Znuwiph dwinyu Q<L dbunp 348 100 34.8
44322200/504 Znuwph dwinifu <L dbinp 396 100 39.6
44322200/505 Cnuwuph dwintu A< Utnp 525 100 52.5
44322200/506 Znuwliph Uw(nifu qc b 648 100 64.8
44322200/507 nuwliph dwinifu qL dbnp 614 100 61.4
44322200/508 Znuwlph dunifu Gl bwp 936 100 93.6
44322200/509 Znuwliph dwiniu a<l utnp 1198 100 119.8
44322200/510 Cnuwliph dwinifu a< W 1980 100 198.0
44521230/501 wwundwut PA 66 wipwly dwiniub hwdwp G hwwn 440 3 1.3
44521230/504 wjwuwntwub PA 66 wdpwl dwyniuh huiduwp Q< hwwn 560 3 1.7
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44322550/501 Uwinijup wunyp gL hwwn 3 300 0.9
44322550/502 Uwynifuh wunp G hwin 5 500 25
44322550/503 Uwintup wunip L huwn 5 500 25
31651400/502 ty. dalyniuhs dwywyau 9L hwn 135 50 6.8
32442400/501 huplwutinuynn wapdhuwwht poly(knemmrmg)2+2 2,544 CH-2 G hwwn 60 300 18.0
31711770/501 ﬁl:gml]uuhu-hn]mq wibphlywl fupngulni{nepexoaHnK TpoiHHK) a¢ hutn 590 8 10.6
31681700/504 Uywnuwin Uugwinhsubiph Snuth < hwwn 1200 5 6.0
Tnndwl Guijwl (160—4#%"3} rewiht Eypwt Br
32351120/501 220V/40 MaansHas craHyun (160-480°C) uuchposoid avcnnedt G hwwn 21144 2 423
220V/40 naanbHMK,
32442400/502 Din nbubp din  peilka G hwin 425 5 21
32324900/501 <hnnwinwignyg L hwwn 150000 1 150.0
39711290/501 Uhypnwihpwjht Junwpuwtiubp q< hwwn 50000 3 150.0
32551170/503 Ul htnwlunu 9 huitn 28571 7 200.0
Spwubitywlwyht wypwbpubp L ymphkp
3000 0.0
30197620/502
o1 0/ pnune, A4 dnpdwinh G wntth 730 1500 5145.0
30197620/504 pnup, A4 pnpuwnh huptwlusnit rhppbp 9L unnuh 2470 9 22.2
30192800/501 hlstulusnit whinwl / guwwhnwly 30%40ud/ L hwwn 1.2 10000 12,0
30192800/502 hustwlwsnit whnwly / quwwhnwy 20*30ud/ QL hwwn 2.1 5000 10.5
600 0.0
0199420/501 ub duip, &)
30199420/ prunp tinigubinh huniwp, unuudywspny G huwin = 300 56
30197322/501 Lwiphs, 20-50 phpph huidwp < hwin 490 100 49.0
30197100/501 Yuphsh dbnwnwiwnpb yuwbp, d&& G< winith 0 10 0.0
30197112/501 wihsh Sbunwinuwinb b, dhoht a< wnth - e —
30197111/501 Yuphgh dtnwnuwnl Yuwwbp, hopp 9 wintth L, 0.0
' 44 100 4.4
1800 0.0
30 10 U i s11]
192710/501 unulgwdiwwnhin, gnwubywlughu q< hwin 50 1500 50.0
30192231/501 ulyny wnihdbipwh QL hwwn 0 200 0.0
30 0.0
3 340
0197340/501 wiwywlunhy Q< huwin 105 5 6
39263600/501 qpswnnith, gpwubljwluih 9L hwwn 145 200 20.0
30193200/501 thwunwpnpbph hwdwp bwiwnbujws, ubnwuh Ypw npynn, q¢ hun 200 0.0
nuipwlwawntp 1600 100 160.0
30192100/501 b huuwpuy < huin 400 ot
69 200 13.8
150 0.0
0 '
30192133/501 uphs G hwn 50 75 38
39263400/501 wipuwly /ulipbi /, Sheht 9 ifiih 20 .0
i 89 100 8.9
200 0.0
39263410/50 wdpuwly /ulypbuy /, thnpp L wnuh 78 100 78
360 0.0
39263530/501 ubindwly Ghwub/, Jad q< hwn 3 100 33
200 0.0
39263520/501 ubindwly /ylhujut/, dhght S< huwn T 700 1
39263510/501 ubinduwl) /yhwut/, thpn < hun 200 22

0.9

30192231/502 ulyns ac o — 00 o0
30192160/501 anphg 124 qc Rtk = igg fti..oo
30192160/504 aunphy 71| q<c hwn = ggg 0.0
30192125/502 duwiplap ac huitn = ggg 0.0
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39241210/501 dypwin, gpwubtjuluht GC hwn L 0.0
140 100
30141200/501 hwywuwpp, gpuubljuluhu 9L huwsn st .0
2700 15
30192130/501 it a< huin Ll o2
21 300
3500 0.0
30192121/501 aphs gunhlwynp 9L hwtn 5 3000
30197231/501 prpwwwliwl, wnihdbpwiht punutp, $wj G4 huwwn er ?2833 48
5000 0.0
30199260/501 hwwnny U4 spwn qg huwn B =000
20 0.0
30192114/501 Yupuhp putwp, Yuhph pwpdhlp hwdwp 9L hwwn 750 m
50 0.0
30192114/502 Yuiynywn pwlwp, Yupph pupdhlh hwdwp 9 huwn 150 m
30192111/502 pwliwph pwpdhy 9L hwwn 0 20 0.0
39263200/501 “t‘g;':]‘:fl“’“’”u”h" ghnp, Uuinjul, 70-200kg, nnnulh, sy 9 huwin 1350 50 67.5
22851200/501 prRWWWuwWY Q< hwwn 140 300 42.0
22851200/502 prEwwwwl < huin 430 300 129.0
22851200/503 prRewWwwlwy Gl huwn 470 200 94.0
200 0.0
22851100/501 wpagulwpubp Q< hun 50 700
22851200/510 prewwwwlutin 20 Suym| < hwn 200 L
330 150
22851200/512 pripwwwtiwiubn 60 Suyiny QL huwwn 580 200 116.0
30195700/502 qpuinwfunwlubph Gwppuwt uyniug QL hwwn 0 100 0.0
30192350/501 hwizuhs-nnwdwpynuih dbpbiuwubph dwwwybtutp QL huwn 58 1920 111.4
Stumnbuwljw b ghtiwpwpwlwl tpwlwlnipjwl wypwiptbp
32551170/503 wjwp hbnwfunuutip QL hwwn 8 0.0
31685000/501 fbynpwlwt Bpluipugdw jup G< hwwn 10 0.0
30239150/501 inuyhg uwpp, puquwhnilghntivg G< hwn 1 0.0
35121330/501 cuphu Ynnbiph ulwbiwynpiwl uwpbp < hwwn 11 0.0
30232110/506 Lwghpwht tnuhy Qc huin 6 0.0
18141100/503 wohuwinwpwjh denungubin QL qnug 124.25 240 29.8
18421130/502 dbinungubip G qnyg 145 1500 217.5
18421140/502 dblwuqudjw ogingnpduwl dbnungutip aL qnyq 2.996 30000 89.9
18931160/501 wgph wwnuwltp Q<L hwn 5499 5 75
18931180/504 wupwbiplibph hwpbpwynpdwl wnwpwlubp L huwn 12000 0.0
18931180/505 wypwptbiph hwpbpwUnpiwly unnwpulubin < huwwn 12000 0.0
500 0.0
19641000/505 wnihtehiiuwht wwnl, wnph hwdwn q< hwin 3002 500 3001
19641000/506 winihtphbuwht wwpl, wnph hwdwn L hwin 243 2800 680.4
19641000/507 wnihkphibuwghl wwnl, wnph hwdwn G< hwin 165 1600 264.0
19641000/508 wnihtphibwhl wwpl, wnph hwdwp L huwin 140 2000 280.0
24451141/514 whunwhwhs hbinnly byniplp 9L hup 264 500 132.0
31441000/503 dwpinyng, AAA inbuwlh QL hwun 50 300 15.0
31442000/502 dwpwnlng, AA nbuwlh G hwn 50 300 15.0
31442100/501 Ununwibihs dwpinyngubip < hwwn 184.92 100 18.5
31442100/503 Ynunwlyhs Uwpinlnglip 9L huwin 199.5 200 39.9
31685000/501 bl pulywt bplwpwgdwl jwp L hwin 1495 25 37.4
31685000/502 Eblunpulwl Bplwpwgdwl jwp Q< hwwn 1970.4 25 49.3
31685000/503 Eiblwnpwlwl bplwpuwgdwl jwp < hwn 3990 10 39.9
33141118/501 wiudbnnghyutp a< huwiwn 370 50 18.5
33141201/502 Puwfupjubp < huwin 2.8 300000 840.0
33711210/502 Shlwliguijw oguiwignpddul whidtinnghlutin q< huwin 390 5000 1950.0
33711480/503 ofiwn QL huin 120 500 60.0
33751100/503 dtlwiguiju oguwgnpdiiwl wnwynppubip QL hwun 120 200 24.0
33751100/504 dhljwliquijw eginwgnpdiwl wwlynppubip QL huin 150 200 30.0
33761000/503 qniqupwiup pnue, Rnynuny G< hwin 80 4000 320.0
33761000/504 gniquipuitih pnip, nnynting L hwwn 80 2000 160.0
33761300/503 &tinph erypl upphstbp ac hwwn 148 1200 177.6
34331400/502 wijinnubipbluibiph gnpatin q< hwiwn 1392 50 69.6
39221190/501 fudbnt gph wwpwiubin L huwn 18438 10 184.4
39221220/501 hwanwanh snpwlinglbip QL huwin 10434 10 104.3
39221350/503 dhjwlqudjw ogunwgnpduul pwdwlubp L hwn 3.5 15000 52.5
39221410/502 wytubp q< huin 100 0.0
39221420/502 funquiiwlubip G hwin 1269.6 50 63.5
39221430/502 funquitiwil-uwnitig wwwlh dwpplnt hwidwp, ntwnhub < hwwn 2328 10 23.3
39221480/502 qnigupwih funquitiulyubp 9L huwn 449 200 89.8
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39221490/502 uyniugubin 4L hwn 77.77 800 62.2
39224331/502 nny| wwuunfwub F< hwin 399 80 31.9
39224331/503 nny| wjwundwub QL hww 171 50 8.6
50 0.0
39224342/503 wrpuinln, deinwnw qc hwn 5390 0 =550
39224344/502 wnpwnbn’ ehetnw 9 hutn St i
1188 50 59.4
200 0.0
39511130/501 uwwubp G< husn 549 7000 15490
39511130/502 uwduiubp < hwwn 150 200 30.0
39511130/503 uwwutbip 3L hwwn 100 200 20.0
39513200/502 @erypb wistinnghl, bpbgbpun < hwwn 220 1000 220.0
1000 0.0
39522330/502 dwppnn Yunpubp qg hwtn 735 3000 370.0
39713410/502 hwwnwlh Swppdwl uwppbn 9< huwtn 1308 100 130.8
39713410/503 hwunwlh dwppiw uwppbp QL huin 450 250 112.5
39713410/504 hwwnwyh Gwppuiwl uwppbin G hwtn 4000 100 400.0
500 0.0
39831100/503 1Ywgnn bynupknp < {hip 58 1000 =0
39831100/504 (ugnn Wnipbp q< {hwp 72 7000 504.0
39831210/502 uwjuuph (Jwgdwl nbwnbpgbuntbp 9L huwn 94.96 1000 95.0
39831243/504 (wagph thngh wywnndwin G< Yhngpwd 325.03 700 227.5
39831245/502 ofiwn, htinniy 9L (hwnp 168 1500 252.0
39831247/502 wiunwhwtnng hnny uwuhwugnygh hwdwp (funwniR) < thunp 336 1500 504.0
1000 0.0
39831278/502 uwywuph (Ywgdwl thngh 4L huwn 596 =00 758
39831278/503 uwwuph (wgdwl thngh a< hww 290 50 145
39831280/502 wuywlh dwpnbint Upgng qc {hup 276 500 138.0
30831283/503 hwwnwih Jugdwl jwp < hwin B76.78 1000 876.8
39831283/504 hwinwyh Yugdw jwp Q<L hwun 349 300 104.7
200 0.0
39831283/505 hwwlh (Hwgdwu (we al huwin 1500 2500 5000
39835000/502 hwunwly dwppknt dnn, wwundwub, thujunjus < hwtn 1000 50 50.0
100 0.0
39836000/502 wiy, unynpwljw QL hun 350 200 500
39837000/502 guifuwyb| Q< hwn 350 50 17.5
42961300/502 hhghbhl wwpwawubph RhuwBlubpubn G< hwtin 3996 20 79.9
44211280/502 anntip 9L hwn 292.8 100 29.3
44521120/504 nnwl thwywuubp G< huwin 10 0.0
44521120/508 nnuwi thwlwtiubp GL hwwn 4428 10 44.3
44521120/509 nnwl thwlwliubp QL hwwn 10 0.0
42414700/501 bipbjwlutn Q< huwin 3300000 1 3300.0
44163280/1 funnnuwlwht wwpwtiptbp uu hwwn 46200 15 693.0
44221200/501 uwhnn pnubp S pd 139920 30 4197.6
16311400/501 funinhuahs Ubpblwlbp Q<L hwin 1 0.0
18441210/501 uwnwywnunubp 9L hwin 1 0.0
30194220/501 gdwanwlul dwwywybuubn 9L hwn 1 0.0
31171200/501 (undwt thnfuwlEpwhsubn AL hwn 1 0.0
31442100/505 Ynunwlyhy Gwpwnlngubp QL hwwn 60 0.0
31681900/501 Eiblyinpuwilpwt wynuhy (nnbl) L hwin 1 0.0
33191350/502 wlywuwywyubp L huwn 1 0.0
33191350/503 witwuwwlubp <L hwin 1 0.0
39241141/501 quwl’ gpuiutljwlwhl QL hiuwn 10 0.0
39241141/502 nuwwl’ gpwubywlwihu QL hwwn 10 0.0
39241210/503 dlpwn, gpuubitywywiht Q< huwin 2 0.0
39241250/501 Suwnbiph dypwin (ublyuinnn) gL hwwn 2 0.0
39712300/501 Jwpuwhwprwphsubn 9L hwin 2 0.0
42121430/501 ququiht Gugwlutip {ynduypbunplbn) G huin 1 0.0
42121710/501 quiquijh Yndwpbunpttiph dwubip <L hwwn 1 0.0
42661300/501 bnwlguwl uwppbp Q< hwin 1 0.0
42671100/501 gnpdhpubiph pnupsubin < hun 2 0.0
42671170/501 orpwwynp unng 9< hwwn 1 0.0
42921240/503 hnniywghn winpGwuwlubp QL hwn 3 0.0
42921240/504 htinniyughp winpGuwlyubp L hwin 3 0.0
43121170/501 wadnituh Ywd pwiph hnputnhsbip 4L huwn 1 0.0
43121170/502 wdnttuh Ywd pwph hnpwinhstbip QL hwin 1 0.0
43411300/501 phnnth Yud hwiwgh tuwnthbgubip QL huwin 1 0.0
43411500/501 hnynn_uwppbip qE hwn 1 0.0
43411500/503 hnlynn uwppGp L hwin 1 0.0
43411500/504 hnynn uwpptip QL hwitn 1 0.0
43611290/501 pwiph hnpwinhsubph dwubin q< hwn 2 0.0
43611290/502 puwiph hnpuwinhgubiph dwubip qL huwin 2 0.0
43611290/503 pwiph hnpuwinphstbph dwubp QL hwwn 2 0.0
44112730/504 unpnn ulwwinwl SL huwin 2 0.0
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44411100/501 dnpuwljubip GL hwwn 5 0.0
44511100/501 atinph qnpéppubn q< huwin 2 0.0
44511100/502 skinph qnpdhpubip 9L hwn 1 0.0
44511100/503 atinph gnp&ppubip q< huwin 1 0.0
44511100/504 ahinph gnpdhpubip gL huwwn 1 0.0
44511100/505 atinph gnpdhplitip Q< hwwn 3 0.0
44511100/506 &tinph gnpéhplbn < hwn 1 0.0
44511100/507 abinph gnpéhputip G hwin 2 0.0
44511200/501 akinph unngubin Q<L hwiwn 2 0.0
44511200/502 skinph unngubip G huwn 2 0.0
44511200/503 shinph unngubip < hwwn 3 0.0
44511200/504 abinph unngubip < hwwn 2 0.0
44511240/501 wpguitiubn qc hwwn 2 0.0
44511240/502 wpgwtlibp < huwiwn 3 0.0
44511240/503 wpgwuubip QL hwwn 3 0.0
44511270/502 dnipibp GL hwwn 1 0.0
44511270/503 dnipébp 9L hwtn 3 0.0
44511270/504 dnipélin QL huwin 2 0.0
44511330/501 wjinnunwYwhwuubp < hwtn 3 0.0
44511330/502 witnnunwljuhwtiibp 9< hwin 3 0.0
44511330/503 winnunwlwhwuubp a< huwn 2 0.0
44511340/501 Ynuh uwypbip G hwin 3 0.0
44511343/501 wyihynt L hww 2 0.0
44511343/502 quij|hlynt L hwtn 3 0.0
44511343/503 qujihlynt QL hwwn 2 0.0
44511343/504 wjihynu G< huwin 1 0.0
44511343/505 quiihlnt a< hwin 1 0.0
44511343/506 quihynu 4L hwtn 1 0.0
44511343/507 quylhynt qL hwwn 2 0.0
44511343/508 quuhynu QL hwn 3 0.0
44511343/509 quiihlynt a< hwtn 3 0.0
44511343/510 quijihynt QL huwiwn 3 0.0
44511350/501 wnnunwlwhuwtubiph uwpbin < hwiwn 1 0.0
44511360/501 gnpéhpubiph wbnwiinpudiwl dhengutin aL hwin 3 0.0
44511360/502 gnpdhplibiph wbnuihnfudwl dhgngubip QL hwin 3 0.0
44511370/501 qnpdhpubiph hwwpwéniutip aL huwin 5 0.0
44511370/502 gnpdhpubiph hwywpwaniubip < huwitn 2 0.0
44511370/503 qnpdhputiph hwywpwsniubip &< hwin 2 0.0
44511370/504 qnpdhpubiph hwywpwéniubin QL hwuwn 3 0.0
03411120/501 thwjunwyniphg wwnpwundws wpunwnpuwp 9L huin 100 0.0
14211000/504 wiwg, ghwpuipulul q< pudd 30 0.0
14211111/502 dwipuwiupé QL fud 24 0.0
14811300/501 hnynn uljwywnwhubp gL huwn 20 0.0
14811300/502 hnynn uluiwnwyubp q< hwin 20 0.0
14811300/503 hnlynn uljwywnwlutn Q< huwin 20 0.0
18421130/503 &hinungubip Q< qnug 50 0.0
18931130/502 dwupngubiph wwplbp < hwwn 300 0.0
24911500/502 unupld (wkpngny) G huwin 20 0.0
24911900/503 uwihyp unupud 9L Yhingpuwd 1500 0.0
30192230/501 uljng' bpyynnuwiup unutdyuwéd 4L huwitn 10 0.0
30197323/501 Luwiphs, 50-hg wytyh elinph hudwn GL hwwn 2 0.0
31211180/515 wyinndwin wigwwnhsubp AL huwin 2 0.0
31211180/516 wiynnuwin wgwwnpsubin QL hwin 2 0.0
31211180/518 wifinndwin wigwinhsubp 9< hwwn 20 0.0
31211180/519 wiinnuwin whgunhsuibn QL hwwn 5 0.0
31211221/501 wlguinhslitip a<c huiwn 15 0.0
31221200/501 hupngliiph bnuipliutip — Juipnuibiubip o< hwin 50 0.0
31221220/506 dhwguwl tnnuhbip < hwwn 30 0.0
31221242/501 nynipki < huwiwn 2000 0.0
31221242/502 yniph <L hwn 50 0.0
31221242/503 yniphi < huwin 100 0.0
31331192/501 FUm b dwnify’ U4dS q< ubnp 200 0.0
31331192/502 Eblnpuluts dunuu’ UddS q< b 400 0.0
31331192/503 byttt Uwnifu’ U44S G< dbwnp 100 0.0
31331192/504 Eiblunpulut dwynipu’ UMUS 9L dbwinp 10 0.0
31531100/501 F Ui puilu wiubp qc huwtn 40 0.0
31641216/501 hwuwnntl wnnunwly < hwwn 1000 0.0
31641216/502 hwwnnily winnunwy qL hwun 1000 0.0
31641216/503 husninty wunnunwly qL hwwn 1000 0.0
31641216/504 hwnntly ujnninwly L hwn 1000 0.0
31641216/505 hwiwnniy wunnunwl GL huwn 500 0.0
31641216/506 huwnntly wuninul QL hwwn 1000 0.0
31641216/507 hwinnly wnnunwy QL hwin 6000 0.0
31651400/503 utnuhy dwwwbtiutp q< huwin 50 0.0
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31651400/504 dtiynwhy dwwwyslubp GL hwwn 30 0.0
31651400/505 dblniups dwuwwybuubp QL hun 20 0.0
31651400/506 dhlyniuhs dwwwdsubn qc huwwn 20 0.0
31681700/507 pudwliwpwp wnuh 9< hwn 15 0.0
31681700/508 pwdwlwpwp wnuh G< hwn 1 0.0
35111300/501 wwpunguilhy — wlynwgnipjwl hwgnun q< huwtn 20 0.0
39132220/502 Lwiuhsttip 94 hwin 60 0.0
39132220/503 wihuhgubp 9L hwn 200 0.0
39221460/501 dnéiht’ ubplwpwpwlwl G< hwwn 20 0.0
39221460/502 Upapt' ubpywpwpwlwy a< huin 10 0.0
39221460/507 dpaipt’ ubiplwpwpwlut GL hwtn 20 0.0
39221460/508 Ypaipl' ubplywpwpwlwy < hwin 20 0.0
39224331/504 nny| wiwundwub QL huwtn 15 0.0
39812600/501 dwppnn dwdnuyubip — thnghubip < hwin 5 0.0
42921240/505 hnniwghp wwnpGwlwlubip GL hwwn 3 0.0
42921240/506 hbnniywghp wupGwlwbbp GL hwwn 10 0.0
42921240/507 hbnniyughp winpGwlwyutp QL hwin 3 0.0
42951300/501 huwpphgunn dkpbuwutinh dwubip 9L hwin 3 0.0
44111200/504 gkl q< Upingpwd 2500 0.0
44111400/503 Yuwfunyh wnwunwn QL pu 54 0.0
44111400/504 Lwfunuh wnwuwnwrn < pd 100 0.0
44111412/502 ubply, ohUwpwpuyw 3L Yhinapwd 800 0.0
44111413/505 jnunuwiibiply < Uhingpud 10 0.0
44111413/506 Jnunwitibiply QL Yhingpwd 15 0.0
44111417/501 Vwuwbiply a< Uhingpud 100 0.0
44111419/501 gniwy QL hwun 15 0.0
44111446/502 dblyniuhsbip QL hwiwn 30 0.0
44111448/501 obipuwyh dblynwhs Ujniptn Q< huwtn 60 0.0
44111448/505 ohipduyhu dayniuhs bynplin Q<L hwwn 30 0.0
44111710/502 uwihly, Yapwihywlwl, hwnwyh hwdwnp q< pd 200 0.0
44112210/501 nwlpp 9L pd 50 0.0
44112730/505 Yunpnn uludwinul 9L huwuwy 3 0.0
44112730/506 lnpnn uluywnuy L hwin 100 0.0
44112730/507 Lunpnn uludwinwy QL hwwn 5 0.0
44141200/501 spgwitilubp 9L hwin 50 0.0
44163400/506 Ubpwinpnguwt wuniplbp — wwipgniuwlubip L hwwn 400 0.0
44163400/507 Epwunpnguwy wniplip — wjwpgniuwlbip 9L hwin 150 0.0
44171100/508 uwhlubip (Zhuwpuipnipjuit) 9L pud 288 0.0
44171100/509 uwihljubip (ohtwpwpnipju) qc pd 288 0.0
44171110/503 uwhlubiph fuwsniy Q<L hwn 30 0.0
44191700/502 wj| quitiwquit ohtiwpwipwluwl bnebip G Upngpwd 13 0.0
44191700/507 wj| quibwqut Zhtiwpwpwlu Ynyebp q< Yhingpwd 15 0.0
44211610/501 wlyniuutp QL hwwn 300 0.0
44211610/505 wilyniuubp L hwn 300 0.0
44211610/506 wilyniuutip QL hwn 100 0.0
44211610/507 wulyniutbp Q<L hwin 100 0.0
44211610/508 wlyniuutp AL hwn 100 0.0
44311120/501 thowwphip G Uhnapwd 5 0.0
44311170/503 bnwlguwl wwpwgulibn < hwin 500 0.0
44322550/504 dwinituh wiunpubip G huwwn 5 0.0
44322550/505 duipntjup wunipubip QL hwin 5 0.0
44322550/506 dwinthuh wuniptip a< hwin 3 0.0
44331410/506 Lwiunyh wnwunwnh ghtiwwjun wpnght 9L gdwdbinp 60 0.0
44331410/507 Yuumdh wnwunwnh ghtiluwwin wypndhi Q<L gdwibunp 6 0.0
44331410/508 Yuhundh wnwunwnh ghtluuwuin wpndhy GL gdwdbinp 15 0.0
44331410/509 ufunyh wnwuwinwnh ghtulwujutn wnndhi < gowdbiinp 100 0.0
44331410/510 Ywhundh wnwuwnwnh ghtijwujwwn wpnhy QL géwdbnp 80 0.0
44423480/501 dwlbpbup wnuhtp ac hwin 10 0.0
44423480/502 dwybpbup nnupbip a< huwitn 10 0.0
44423480/503 dwlytpbiup wnuhbp QL hwwn 5 0.0
44423600/504 Yuyshi duwwwybiubp SG< hwwn 20 0.0
44511260/501 hnywrnuR 9L pu 1 0.0
44511260/503 hnywpninp QL pd 1 0.0
44511260/504 hnlupnine ac pu 1 0.0
44521120/510 Wl (hwljutubp q< huin 150 0.0
44521120/511 nnwu twlwiubp < hwin 60 0.0
44521230/505 wdpulubp a< huwin 3 0.0
44531191/502 tplywpt funqnduwlutp ac bnp 400 0.0
44531191/503 bpluwipt funnndwlutin q< utunp 100 0.0
44531200/501 ny wwipnipwlwynp wiipwgudu nbiunwiutin G hwwn 10 0.0
44531200/502 ng wwpnipuljwynp wdpwguiul nhwnwubp Q<L hwin 220 0.0
44531260/501 wwpnipwlwynp wipwgdwl rpunwubp G< (pualjugd 50 0.0
44831500/502 [nidhsubip q< hingpuwd 3 0.0
44921500/501 Shthwdwdhl ghujuwh qc Lhingpud 150 0.0
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44921500/502 Stthwdwshy' ghwuuyp G Uhingpwd 5100 0.0
44921500/509 Stithwiwshly' ghwuwyhu 9L Yhingpwid 1050 0.0
44921500/510 dthwdwadhly’ ghujuwhu < pingpuwd 150 0.0
09211631/501 hwlwlnnngpnu jninbip G Yhingpud 3 0.0
38621300/501 huwibith' nhunnnwlut 9L hwiwn 30 0.0
39351100/501 Ynninhttiph dwppuwl uwnptip < hwn 1 0.0
39722400/505 wj ibbgwnuwyht whlutihywih duubip 4< hwin 50 0.0
39722400/517 wjj Yhugwnuwyht nbfutipluwgh dwubip 9L huwiwn 100 0.0
39722400/518 wy Ubugwnuwihu nbuthluwih dwutip &L hwin 100 0.0
39812500/501 opuidblnwipy Yyniplin G hwin 10 0.0
42131490/501 uh$nu G< hwun 200 0.0
44131100/501 Ynyninnt fughbip e hwin 5 0.0
44131100/502 Lnyntnnt fughip G hwiwn 5 0.0
44161230/512 funnnuwlubiph Wwpwquittp G< hwwn 40 0.0
44161230/513 funnnywlubiph wwpwgquibip < hwin 40 0.0
44161230/514 funnnyulubiph wwpwgwlbp q< hiuwn 50 0.0
44161230/515 funnnuuwljubiph wwpwguiutp G huin 15 0.0
44161230/516 punnnywiubph wwpwgqubp < hwiwn 40 0.0
44161230/517 funnnyuwljubph wwpwqwutp L hwwn 50 0.0
44161230/518 funnnyuwljubph wwipwgubn QL huwin 40 0.0
44161230/519 funnnywlutiph wwpwgwlbin G hwn 15 0.0
44161230/520 funqnyuwliiph wwipwquutp 9< hwiwn 15 0.0
44161230/521 funnnuwlubiph wwpwgwutip < huwn 15 0.0
44161230/522 funnnuwlubph wwpwgwubip 9L hwin 5 0.0
44161230/523 ° funnniyubnh Wwpwguibp QL hwn 20 0.0
44161230/524 funnnywyubiph wwpwgutbp G hwiwn 20 0.0
44161230/525 funnnyuwlubiph Wwpwqwbp < hwwn 50 0.0
44161230/526 funnniulubinh Wwpwquwbp QL huwwn 20 0.0
44161230/527 funnnwlubiph wwpwgqubin <L hwtn 20 0.0
44161230/528 funnnyuwlubph wwpwqutnp L huwn 15 0.0
44161230/529 funnniwiubph wwpwguubn q< hwun 15 00
44161230/530 funnnywijubiph Wwpwqwtn G< hwwn 50 0.0
44161230/531 funnnyulubiph wwpwgqutbip QL hwwn 50 0.0
44161230/532 funnnyuwljubiph Wwpwqwubp 9L hwwn 50 0.0
44161230/533 funnnywlubph wwpwgubp < hwn 50 0.0
44163140/502 oph — gninpznt funnndwljutip 9L dtwnp 80 0.0
44163140/503 oph — gnjnpznt junnnywlubip < dbwnp 80 0.0
44163140/504 oph — gninpznt unnnyulutip G dbinp 8 0.0
44163140/505 oph — gnpnpgnt funnnywlutip G dbunp 8 0.0
44163140/506 oph — gninpgnt funnndwltitin QL ubinp 16 0.0
44163200/503 funnnywlitiph dpwguwl dwubip ac hwin 20 0.0
44163200/511 funnnywlutiph dhwguw dwubip q< hwwn 20 0.0
44163200/512 funnnywljubiph dhuwguwl dwubp QL hiuwn 30 0.0
44163200/513 funnnyuwljitiph dhwgdwt duubip G hwin 30 0.0
44163200/514 funnnywlubinh Uhwguwl dwubp L huwin 20 0.0
44163200/515 funnnywlubinh dhuwiguiwl dwubp GL hwwn 15 0.0
44163200/516 funnndwlutph dhwgdwt dwubip G< hwwn 15 0:0
44163200/517 funnniwlyubph dhwguiwl duwutip < huin 15 0.0
44163200/518 funnndwubph thwgdwl dwubn q< hww 15 0.0
44163200/519 funnnuwyutiph dhwgiwt dwubip q< hwwn 20 0.0
44163200/520 funnnywljutiph dhuwiguwl dwubip < huwwn 20 0.0
44163200/521 tunnnywlutiph dhwgdwl dwubp < hwwn 20 0.0
44163200/522 funnnywltibph hwguwl dwubp a< huwin 20 0.0
44163200/523 funnnuwljutiph Uhwguwl dwubip q<c hwwn 20 0.0
44163200/524 funnnuwyutiph dhwgiwl dwubip 9L hwiwn 20 0.0
44163200/525 funnnulubinh dhwgdwl duubip L hwin 10 0.0
44163200/526 funnnywlubiph dhwgdwl dwubip Q< hwun 10 0.0
44163200/527 funnnywlubnh dhwiguwl dwubp 9< hwwn 10 0.0
44163200/528 funnnywljubiph dhwguwu dwubp Q<L hwwn 10 0.0
44163200/529 funnnywlubinh dhwguwl dwubip GL hwwn 10 0.0
44163200/530 hannndwlubph dhwgdwy dwatip q< huwin 10 0.0
44163200/531 funnnuuwlubph Upwguwl dwutin q< hwiwn 10 0.0
44163200/532 funnnywliubiph dhwiguwl dwubip L hwwn 10 0.0
44163200/533 funnnywutiph Uhwgdwu dwubip G huuwn 10 0.0
44163200/534 funnnywlibph dhwgdwl dwubp G< hwin 20 0.0
44163200/535 funnnywlubph dhuwguwl dwubp < hwitn 20 0.0
44211610/509 wulyniutbp 4L hwwn 10 0.0
44211610/510 witilyniuubip G< hwin 10 0.0
44211610/511 wlyniutip QL huwin 10 0.0
44211610/512 wulyniutbp G hwn 10 0.0
44211610/513 wilyniutbp L huwin 10 0.0
44411100/502 dnpuwlubp < huun 30 0.0
44411100/503 npuljubp q< huwitn 30 0.0
44411100/512 dnpulubp q< huin 100 0.0

Crpanvua 29




44411300/501 (LuguipwtiuGp 9L hwwn 25 0.0
44411300/505 (wgwpwlubip G hwin 20 0.0
44411500/507 uwlywl’ gunwa— GL hwwn 20 0.0
44411500/508 s’ gunws— QL huwin 20 0.0
44411500/509 thwljwu' gunwié- G huwn 20 0.0
44411500/510 thwlwt' gunws— 9L hwwn 20 0.0
44411500/511 diuywl' gunwd— L hww 20 0.0
44411500/512 thwlwl' gunuws- < hwn 20 0.0
44411500/513 thwlwt’ gunuis— G hwtn 20 0.0
44411500/542 thwljwt' gunwa-— < hwin 80 0.0
44411740/501 qniquipwwlynup QL huwwn 25 0.0
44411742/501 qniquipwlwlntph dhuwlhqy q< huwin 50 0.0
0.0
Ghugwnuyht nbjubihljw b ywpwgulbp
30211200/503 rynipwlyhp hwdwlwpghsubn < hwin 10 0.0
30211300/501 hwiwlwpgswiht uwppwdnprudutp G hwn 3 0.0
31221230/501 Uhwgdwu dwinthutiGp QL hwin 3 0.0
31681700/509 pwdwlwpwp wnwh G hwin 5 0.0
31681700/510 pwdwtwnwp wnuh < hwun 10 0.0
31681700/511 pwdwlwpwp nnih < huwin 20 0.0
31684400/501 Juipnwy qc huwin 30 0.0
31684400/502 uipnuly q< huitn 15 0.0
38311100/502 Falwpnuwghl Ypbnplbp — wwpwquubn L hwiwn 1 0.0
38311100/503 kil pnliwghu Ugbnplbip — wwipwgutbip < hwwn 5 0.0
39711140/502 Yhugwnwiht uwnUwpwutbp G hwn 20 0.0
39714210/501 onnpuilihs, 9000 BTU a< hwwn 8 0.0
39714220/501 onnpuilghs, 12000 BTU 9 huitn 8 0.0
39714220/502 onnpuilihs, 12000 BTU qc hwwn 10 0.0
39717100/501 hnhwphsubp < hwin 10 0.0
0.0
Cwiwlwpgswht uwppwynpnud
30211280/502 Zwdwlwpghs wipnnep dalynu QL hwin 325000 35 11375.0
30239110/501 Suyhy pwquw$nilghntiug e hwun 185000 3 555.0
30239110/502 S 3-p dblynw L huwin 125000 20 2500.0
30239110/503 Sughs inpp o< huin 67000 10 670.0
30237411/501 Ulypupy qC huwin 1600 20 32.0
30211170/501 Uhlpnuhy ac huin 32000 2 64.0
32561600/501 Urnpuywnbp QL huin 13000 50 650.0
32421300/501 Uyhy/8 port QL hwn 5000 10 50.0
32421300/506 Uhy/5 port < huwin 4000 10 40.0
32421300/507 Utlhs/24 port G, hun 40000 3 120.0
30231100/501 WIFI uwpp a< hwun 7560 10 75.6
30232231/501 Cwdwlupgguwihl Ynpwn uuduinwy QL hun 27000 2 54.0
32421100/502 Swliguijhl tuwnifu ac huin 25000.2 2 50.0
16235.6
Uulnnuwjht ywpwgwubp
39518100/502 Uwhunwlytinbup hwwpwant < hww 389 0.0
39141200/501 ubppuwlyh bpbu QL huwin 128 0.0
39511100/501 Dwdlng (wnbiwy, hwuw) < hwin 65 0.0
39511100/502 owdling (wnbw|, pupwl) L hwwn 54 0.0
39516122/501 Pwpd < hwwn 100 0.0
39511100/506 dbpdwly (pupwl) qc huitn 70 0.0
39511100/507 il (Shoht) o< hwn 20 0.0
395111601502 Lwdwinpuwuihly q< hww 173 0.0
39511130/511 Uwijwl nh inbnuihnfutbint hwdwp QL huwiwn 70 0.0
39511130/514 Uwijwiu G hwn 25 0.0
39514100/501 Upphy gudpnguih q< huwin 36 0.0
39514200/501 Upphs phih qc huwin 6 0.0
39514500/501 Gpbuupphs QL hwwn 36 0.0
39514100/502 Upphs pudpwlyjus &< hiuwn 10 0.0
Utniun
3200 0.0
15321200/504 ruinwgywd hynip Q< (hnp 575 =500 0800
5280 0.0
15321200/505 hunwglwd hynyp G< (hwp 725 3640 1966.8
1600 0.0
15821500/504 udwdpwplhp q< lg 7430 300 T744.0
1600 0.0
15842110/505 Ynudbitn, pnyniuniuujwin G Vs T 800 =580
8000 0.0
41111100/501 puwbth gmip G< |hwp 753 500 376
npwbuwynpunwiht wwypwtiptbp L uymiplip
09132200/3 [abught, nbignyjwp [ s | ihwp 490 3000 1470.0
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[09132200/1 phughl, nlignywin Uu {hwp 480 300 144.0
09135200/3 hbnniy quiq tun {hwp 150 1000 150.0
ounu3nh@3nhLLEP

70311200/503 inwnwaplibiph Jwpswljwinigjul dwnwinyzjni 9L npwid 17952000 1 17952.0
50311120/501 RUWUUINGSWING UwLnpEnD Wuwhuyudwl — JBnwbningdul a¢ i 1644300 i 1644.3

dwnwinuyzniutibn
7921115011 wntphinnpwlwl dwnwynipjniuttin 9L npwid 1884000 1 1884.0
71631110/1 uwppbiph unnigiwl dwnwnipiniulibn Uu npwd 426000 1 426.0
98111121/501 whnuwbignipiul wywhnydwl swnwjnipiniulibip G npwd 2816666 i 2816.7
50421100/503 it uunpbinh JEnutinnng i — wuhuuwldu ac AW 1572000 | 1572.0

Swnwinyajniiibin

i hi

48221400/1 h“LL ";g‘:Egl“"‘“ Foh Tudpugnuu huniulunggubl Spwapuitt | - gy nwd 990000 i 990.0
98111121/2 wlinwugnipjwt wwwhnydwl Swnwinyziniulin uu npwd 480000 1 480.0
5011118001 winndbipbwtbiph (uguut — Udwlwwnhy Swnwjnipniulibn uu npuwd 558000 1 558.0
50531230/501 qhiuuinnnunh spuinnnguu = Wuhuuidu 9< Al 408000 1 408.0

Swnwynipnuubin
7135154011 wbhutihlwlwl huynnnipiul Swnw)niajnitiubn uu npuwd 300000 1 300.0
981111401 htinhtwluht hulnnnipiwl dwnwnipjniitbin uu npwd 100000 1 100.0
70311200/502 nwnwdpttph updwlwinpwl swnwjnipiniutbin 9L npwd 1 0.0

Uwhnyph Ykpwunpngiwl Swnwjnipjniutibp
50851100/501 Yuwhnyph Ybpwunpngiul — wwhujwbdwl Swnuwijnipniubn q< hun 3 0.0
50851100/502 Yushnyph Ytpwnpnguwl — wwhuyjuldwl Swinuwnipjniutibip qc hun 3 0.0
50851100/503 Lwhnyph Yepwtnpnguiwl — wwhujuwldul Swnwynipjniutbip QL hwwn 1 0.0
50851100/504 Yushnyph Ytipwinpnguiut — wwhujwtidwl Swnwnipjniuutn ag hun 5 0.0
50851100/505 Ywhnyph Japwunpngdut — wuwhwwudwl dwnwnupjniitbn 9< hwwn 39 0.0
50851100/506 Lywhnyph Ybpwinpnauiwl — wwhuywtidwl Swinwjnipjniuttn q< hwn 5 0.0
50851100/507 Yuwhnyph Ybpwbnpguiwl — wwhujwidwl Swinwjniejniuubin q< hwun 15 0.0
50851100/508 Yuwhnyph dpwunpnguiwl — wwhujwdwl Swnwyniagniuubin Q<L hwtn 1 0.0
Sywgpwlwl Twnwjnipntu 1
79821180/950 nuugnuyw — pwglutiwl dwnuwniejniutibn G< npwd 39600 1 39.6
79821180/951 nuywgpulwl — pusjudul dwnwjnuajniubp 3L npwd 12600 1 12.6
79821180/952 nuywigpuywl — puofudul Swnwjnyajniuubp QL nnwd 164000 1 164.0
79821180/954 nuywgpwlwt — pusjudull Swnwjniajniuubp < npwd 164000 1 164.0
79821180/955 nuwapuljul — puwopudiul dwnwjnyejniilin 9L nnwd 10200 1 10.2
79821180/956 nuugpuiljwll — pwpfudwt Swnwnuejniibin qL npwid 24750 1 24.8
79821180/957 nwugplywi — pushudiwl Swnuwnipjniutibip QL npwd 19800 1 19.8
79821180/958 nuwwgpuljwl — pwghudwl dwnwjnipjniitin <L o 33000 1 33.0
79821180/959 unyjuigpuiljuit — pwotudw Swinwjnipjniulbp GL rpuwid 19560 1 19.6
79821180/960 Wnuwgnulutl — pughudwl dwnwjnyegniitbn < rpwid 29340 1 29.2
79821180/961 tnuyugpuilwl — pwfudwl Swnwjnipejniiiin < il 39600 1 39.6
79821180/962 gl — pugfudiul dwnwjniajniulbp 9L npwd 39600 1 39.6
79821180/963 inujuwapwlull — puighudwy duinwynianiittip < nnwd 19800 1 19.8
79821180/964 unyugpuljwt — pwahudwl dwnwynyjniutibin 9L npwd 41000 1 41.0
79821180/965 gl — pughuiwl dwnwjniajniiutin 9L nnwd 19800 1 19.8
79821180/966 wnywgpwlwl — pwghudwl Swnwnipyniibn G< npwd 39600 1 39.6
79821180/967 Wnuwgpuljuwl — pughudiwl dwnwjnipjniutin LS npwd 19800 1 19.8
79821180/968 Inuwgpwlwt — pusiudul Swnwyniajnitiubip 9L npwd 42000 1 42.0
79821180/969 gt — pushudiul Swnwjnipiniulbp <L nnwd 39600 1 39.6
79821180/970 wnuwgnuljwt — pwghudiwl dwnwjnyajniiutin Q<L npwd 79200 1 79.2
79821180/971 nugugpuilul — pwgfudiwt Suwnwjniyjniulibp < npwd 13120 1 13.1
79821180/972 gl — pugluliwl dwnwjnizjniulbp G npwd 8200 1 8.2
79821180/973 inuwapwlut — pusfudwt Swnw)nyajniuibin 9L npwid 63360 1 63.4
79821180/974 nuywgpulut — pusjudull Swnwjnizjniubp aL npwd 1140 1 1.1
79821180/975 Wnwwgpulwl — pushudiwl dwnwjniajniittin Q< npwd 2550 1 2.6
79821180/976 tnyugpuwlw — pwphudut Slunwnupyniiubn 9L npwd 1700 1 1.7
79821180/977 inyugpuilwl — pwotudul Sdwnwjnipjniiubip Q<L npwd 1500 1 1.5
79821180/978 wnwgpuljwl — pughudwl dwnwjnipjniiutin QL npud 57400 1 57.4
79821180/979 tnyjugpuljuw — pwoudul Swnwnugniubp < npwyd 3400 1 3.4
79821180/980 wnujwgnulul — pugfudwl Swnwjnipniutbip L npwd 5040 1 5.0
79821180/981 wywgpuiljul — pugfudwl Swnwynipniuubip 9L rpwd 2550 1 2.6
79821180/982 gl — puslutul Swnwjnyajniulbp G nnwyd 99000 1 99.0
79821180/983 gl — pughudwl dwnwjnyajniittn qL npwd 19560 1 19.6
79821180/984 nwwgpwlut — pusfudul Swnwjniepjniulbp < g 9840 1 9.8
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79821180/985 inywgpuljw — pwzudwl dwinwjnyzjniutbin q<& npud 39600 1 39.6
79821180/987 inujugpuljwl — pwgbudul Swnwnipjniibp qL npwd 358800 1 358.8
79821180/988 nwwgpwlul — pugiudwl Swnwynipjniuubn G npuwud 3800 1 3.8
79821180/989 wnujwgpuiyut — pwgfudwt dwnwinipjniulibp 9< i 198000 1 198.0
79821180/990 inuwgpwluit — puiludw Swnwjnipjniuubp G< npwd 198000 1 198.0
79821180/991 nwwapwlut — pusfudul Swnwjniainiuibin 9L npwd 99000 1 99.0
79821180/994 wnujwgpuwluwt — pugtudul Swnwjnipinitubip G< npud 1296 1 1.3
79821180/998 inuwigpulul — pustudul Swnwjnipiniuibin G npwd 39600 1 39.6
79821180/999 nwwapwlwt — pusjudwl Swnwjniajniitbp 9< npwd 39600 1 39.6
Swwgpwlwi Twnwjnieintl 2
79821180/1000 inuwgpulwt — pusjudwl Swnwjnyajniubp L npuwd 43020 1 43.0
79821180/1001 inujwigpuiljui — pugfudiwt dwnwjnipjnibp G npwd 28,800 1 28.8
7982118011002 nuywgpuluwl — pufudwl dwnwynyziniulitp Q<L npuwd 6,300 1 6.3
79821180/1003 gl — pugjudul Swnwjnpiniuubp 4L npwd 1200000 i 1200.0
79821180/1004 inuywgnuljul — puzfudwl dwnujnipjniuubn Q< nnwd 35940 1 35.9
79821180/1005 inujugpuwluwts — pwphudul duwinwjnipjniubp aL npwd 35940 1 35.9
79821180/1006 inwywgpwljw — pwghudwl Swnwjnpniulbp QL npwd 4,200 1 4.2
79821180/1007 inyjugpuljuwl — puotudwl Swnwjnipjniubp QL npwd 4,400 1 4.4
79821180/1008 Inuywgpwlut — pushudwl dwnwjniainiuubip 9L npwd 8,700 1 8.7
79821180/1009 nuwgpwlut — pusfudul Swnwjniajniuibin Q< npwd 4,350 1 4.4
79821180/1010 nywgpwljut — puofudl Swnuynipjniuubn L npwd 116,000 1 116.0
7O821180/1011 inuwwgpuiljut — pwfudwl Swnwynipjniiubp q< npud 15,000 1 15.0
79821180/1012 inyjugpluljwl — pugfudiwl Suwinwjnyaniubp GL npwud 13,200 1 13.2
798211801013 nuyuwgpwlut — pusjudul Swrwjnyajniutibin < nnwd 80280 1 80.3
79821180/1014 unywgpulwl — pugiudl Swnuynipjniuubn L npwd 15,400 1 15.4
79821180/1015 nujuigpuywl — pwigfudwt Swnwinipjniibin q< npuad 29,000 1 29.0
79821180/1016 Wnuwgpuljwl — pushudul Swnwjnuajniuttn 9L npwd 14,900 1 14.9
7982118001017 tnujugpuluw — pwphudwl Swnwjnipgniiubn qL rnwid 88,000 1 88.0
79821180/1018 wwwgpiljul — pufudul Swinwnyajniulibin QL npwud 282960 1 283.0
79821180/1019 nywgpwlwl — pusfudwl Swnwjnyepjniiubp a< npwid 300000 1 300.0
79821180/1020 wnywgpuljwl — pwoudiul Sdwnwjnniip G npwd 300000 1 300.0
79821180/1021 inuwgpuiljuw — pwfudwl dwnwynipjniuubp G< npwd 1,900 1 1.9
79821180/1022 inujwgpuwiluit — puipfudwl Swnwjnipniulbip G npwud 9,600 1 9.6
798211801023 inuyjwgpuljw — pwphudul Slinwnygjniuttn 9L npwd 300000 1 300.0
79821180/1024 nwwignuiljwl — puigfudiwl Swnwjnygjnilbin GL npwd 4,800 1 4.8
79821180/1025 nuwgpulut — pusfudwl Swnwjniayniibn GL npwd 44160 1 44.2
79821180/1026 inyugpulywl — pugfudul Swnuynigjniuubin QL npwd 22,800 1 22.8
798211801027 tnuywgpuljuw — pwghudut duwinwnipjniulbin q< npud 300000 1 300.0
79821180/1028 wnywgpuiljul — puigfudwt Swnwjnypniutibp L npwd 1 0.0
70821180/1029 inuwgpuiywl — pwfudwl duwnuynipgniiutbin G npwd 323400 1 323.4
79821180/1030 wnwwigpluit — puigfudwt Swinwjnipjniulbip G npwd 1 0.0
79821180/1031 nuywapulul — pufudul Swnuwinyajniuutp < nwd 1 0.0
79821180/1032 inuwigpwluit — pugfudwt Swinw)nipjniutbip < npwd 1 0.0
79821180/1033 wnywgpuljwl — pwghudwl duwinuwjniiniuutin QL npwd 1 0.0
79821180/1034 inyjugpuiljwl — pwaudul Swnwjnipjniulbp Q< npwd 1 0.0
79821180/1035 nywanwlul — pugfudwl Swnuynyzjniuubn Q<L npwd 1 0.0
79821180/1036 inuwigpuljuwt — pwgfudwt Swnwynipniuubp QL npwd 1 0.0
798211801037 wnuwigpuljuil — puofudul Swnwinypjniuubn QL npwd 1 0.0
79821180/1038 inwwgpulywil — pwiotudul dwnwjnipiniittn G< npwy 1 0.0
79821180/1039 nwwgpuilui — puipfutw Swnwjnypjniutibp QL npwd 1 0.0
7981180/1040 nwywapulut — pusfudwl Swnw)nyajnibn QL npwd 1 0.0
79821180/1041 inujugpuilw — pwonuduil Swnwjnipjniubp Q< npwd 1 0.0
798211801042 inujwgpulul — pughudwl Swnuyniajniutibip QL npwd 1200000 1 1200.0
79821180/1043 inujwigpuljuwt — puigfudw Swnwjnupniibp qL npwyd 1200000 1 1200.0
79821180/1044 inuywgpuywl — puafudul Swnwjnipjniuubp 9L rpwd 22200 1 22.2
79821180/1045 nwgpwlwt — pusfudul Swnwjnipniubip a< npwd 67080 1 67.1
79821180/1046 nwugpulwl — puofudwl Swinwnipiniutibip QL nnwd 22200 1 22.2
798211801047 tnuyjugpuljuw — pwahudwl Swnwinipniulbp aL nnwd 114,000 1 114.0
79821180/1048 gl — pughudiwl dwnwjnipjnititbn QL npwd 132,000 1 132.0
79821180/1049 inugwgpuwljuw — pwahuduwl Swnwinipjnilip 9L npwd 33,000 1 33.0
Sywgpwlwl wwypwuptbip 3

22451240/501 piully G< hwiwn 2.33 50000 116.4
22451240/502 pjuitily ac hwiwn 2.45 10000 245
22451240/504 pluly aC huwin 6.78 15000 101.7
22451240/505 pluuly QL hwin 2.44 12000 29.2
22451240/506 prutly L hwwn 2.50 2000 5.0
22451240/507 pruiuly ac hwin 2.50 2000 5.0
22451240/508 plually q< huiun 2.33 20000 6.6
22451240/509 wl gL huwn 2.20 5000 11.0
22451240/512 pluuy L hwn 2.40 2000 4.8
22451240/513 pluty 4L huwiwn 2.47 8000 19.8
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22451240/514 pluuly L huwin 2.30 5000 11.5
22451240/515 pLuily < huin 2.30 4000 9.2
22451240/516 plutily G< hwin 2.30 5000 1.5
22451240/517 wu 9L hww 2.30 2000 4.6
22451240/520 pluitily < hwwn 2.48 8000 19.8
22451240/521 piub 9L hwn 2.48 10000 24.8
22451240/524 pluuy L hwin 3.47 20000 69.4
22451240/525 pwtly 9L huwn 1.04 40000 41.5
22451240/526 pluly QL huiwn 2.39 13000 31.0
22451240/527 pluty 9L hwn 2.20 5000 11.0
22451240/528 wiily q<L huwn 2.38 20000 47.5
22451240/530 pluuly 9< hwin 2.10 10000 21.0
22451240/531 wi Q<L huwwn 1.90 20000 38.0
22451240/533 nwily a< huiwn 2.04 50000 102.0
22451240/534 pluly YL hwn 1.50 15000 22.5
22451240/535 pluily a< hwn 1.55 50000 77.4
22451240/536 PlLuy SL huwin 1.55 40000 61.9
22451240/537 pluly QL hwwn 1.91 25000 47.7
22451240/536 Pl ac huitn 85.0 1000 85.0
27451240/542 pluuy qL hwin 2.50 1000 D
22451240/543 puutly q< hwtn 2.30 4000 9.2
22451240/544 Pty <L hwn 2.30 2000 4.6
22451240/545 pluly L huwin 2.30 2000 4.6
22451240/546 pluuly < hwn 1.90 38000 72.2
22451240/547 Pl 9< huwin 1.90 20000 38.0
22451240/546 pluuy QL hwn 2.50 1000 2.5
22451240/549 wh G huwin 418 5000 20.9
22451240/554 wily QL huwin 2.20 2000 4.4
22451240/556 wiily 9L hwwn 2.20 2500 8.5
22451240/558 puwily < hwwn 2.46 10000 24.6
22451240/559 plully Q< hwin 220.0 600 132.0
22451240/560 |l QL hwwn 2.10 5000 10.5
22451240/567 9L hwn 2.46 11000 271

22451240/568

Swuwgpwlwl wwypwipbn 4

221112004501 inuywaenywd wy| gppbp 9< hwwn 0.0
22111200/502 inujugplwd wy gppbip 9L hwwn 3 0.0
22111200/503 wnuwjwapywd wy gppbp 9L hwn 10 0.0
22111200/504 nwywgnuuwd wy gppbip QL hwwn 1 0.0
22111200/505 wnwwignywd wy gppbip QL huun 50 0.0
22111200/506 wwywapywd wy| gppbip < hwun 10 0.0
22111200/507 nwywgpyud wy gppbip QL huwn 5 0.0
22111200/508 nwywignywd wy) gppbip QL hwin 20 0.0
22111200/509 wnwywgnuud wy gppbip GL hwwn 10 0.0
22111200/510 nwwgpyuwd wy gppbin QL hwwn 15 0.0
22111200/51 wuywgnyuwd w)| gppbp < hwun 8 0.0
22111200512 wnwwigpuuwd wy gppbip 9L huitn 2 0.0
22111200/513 nwwanywéd wy gpptip G< hwwn 10 0.0
22111200/514 wwyugpuwd wy gppbip QL hwwn 100 0.0
22111200/515 wnwwanywd wy gpplin G hwuwn 100 0.0
22111200/516 wywgpywsd wy gppbip QL hwn 20 0.0
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22111200/517 wwwgpywd wy gpphip &< hwin 10 0.0
22111200/518 wnuywanuwd wy| gppbp 9L hwwn 60 0.0
2211200/519 wnuywanywé wy gppbip L hwwn 120 0.0
22111200/520 wwwgnywd wy| gppbip G< huwin 12 0.0
22111200/521 nuwwgnywd wy| gppbip < hwwn 5 0.0
22111200/522 wnwwgpyud w)) gpptip < huwiwn 10 0.0
22111200/523 unwwgpuwd wy gppbip 4< hwn 7 0.0
22111200/524 wnwwaplwd wy gppbp 9< hwin 2 0.0
221112000525 unwugnyud wy gppbip L hww 2 0.0
22111200/526 nuwgnywd wj| gppbip G huwin 3 0.0
22111200/527 wnwwapywd wy appbip L hwwn 4 0.0
22000528 inujugpt|wd wyl gpplbip QL hwn 4 0.0
22112000529 unwyuigpywd wy| gppbp <L huwwn 4 0.0
22111200/530 wnywagpywd wy| gppbip 9< hwin 2 0.0
22111200/531 wnwywgpuwd w)| gppbp aL hwwn 2 0.0
22111200/532 wnwwgpdwéd wy gppbip Q< huwwn 14 0.0
22111200/533 nwwgpywd w| appbp < hwn 60 0.0
22111200/534 inwwigpywsd wy gppbp 9L huwtn 180 0.0
22111200/535 wnwwgnyws wy gpphip G huwn 120 0.0
22111200/536 unwjwgpuwd wy gppbp < hwin 120 0.0
22111200/537 wnwywignyuwd wy) appbip Q<L hww 40 0.0
22111200/538 inuyuignywd wy) apphip G hwn 35 0.0
22111200/539 inujuigpywd wyl gppbip L hwwn 20 0.0
22111200/540 nwwgpwd wy gppbip QL hwin 150 0.0
22111200/541 unwywagpywsd wy| appbp < hwwn 40 0.0
22111200/542 inujwgptwd wy| gppbip G< hwun 10 0.0
22111200/543 twwgnywd w)| gpplin G hwin 15 0.0
221112007544 nujwgpws uy) gppbip QL hwwn 15 0.0
22111200/545 wnwwgnduwéd wy gppbip QL hwn 10 0.0
22111200/546 nwwgpyws wy gppbip QL hww 5 0.0
22111200/547 wwwgpuuwd wyl gppbip QL huwwn 10 0.0
30197236/501 ppwwwlwy wwndnghp QL hwwn 2000 0.0
22451240/570 plutljutip hwdwdwbwghp GL huwwn 2000 0.0
22451240/571 plwulubp nbnwnndu < hwn 5000 0.0
30192151/501 Yupp, wywnnuww, nipnutilynt QL huwiwn 9 0.0
Uptuwwnwiiptibip
45461100/501 oBuptinh, 2hunysjniutiph plpwghl unpnguwl waluwnwlptbin qc npwd 11830140 1 11830.1
45331111 onwthnfutwl uwppbph tinbnunpuwl wohuwnwupubp uu npwd 990000 1 990.0
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